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Friday, July 14, 2006

‑‑‑ Upon commencing at 9:00 a.m.


MS. NOWINA:  Please be seated.


Good morning, everyone.  Today is the fourth day in the hearing of EB-2006‑0021, a proceeding to address a number of current and common issues relating to demand side management in the natural gas industry.  The Board may make orders to Enbridge Gas Distribution and Union Gas as a result of this proceeding.  

Today we will continue with the cross‑examination of the witness panels on financial mechanisms.  Are there any preliminary matters this morning?


PRELIMINARY MATTERS:

MR. O'LEARY:  Madam Chair.


MS. NOWINA:  Mr. O'Leary.


MR. O'LEARY:  We have responses to three of the undertakings given by the Enbridge panel the other day, and with your permission, I might present those now.


MS. NOWINA:  Yes, please, Mr. O'Leary.


MR. O'LEARY:  Undertaking J2.1 asks how the company would deal with changes to its programs during a multi‑year plan.  I won't read the entire response, but do you have a copy of the undertaking responses?  Mr. Millar, if you wouldn't mind.


MS. NOWINA:  Thank you, Mr. O'Leary.


MR. O'LEARY:  Again, Madam Chair, the issue is the ability of the utilities to make changes to programs within their multi‑year plan, and the intent of the response is set out in the first paragraph.  

Importantly, it is the first sentence which identifies that the framework mechanisms - and then there is a number that are enumerated, such as the SSM and LRAM - are not intended to change over the period of a multi‑year plan.  The process to make changes to programs within a multi‑year plan is then outlined in the next paragraph.


Then in the last paragraph, we have attempted to identify those sections in both the completely settled issues and the partially settled issues which support the proposition that the companies would have the flexibility to make changes to programs within a multi‑year plan.


Undertaking J2.2 is the ‑‑ deals with issue 1.5, and that issue asked what the process and rules should be available to amend the DSM plan.  

So consistent with what I have just said is the response which Enbridge has to this undertaking, and, briefly, the indented paragraph in this response is the language that is taken out of both the preamble to the complete and partial settlement.  

And, in a nutshell, it is a general prohibition against making changes throughout a multi‑year plan - and that I will call the equivalent of in an insurance contract - that is the general prohibition.  


There is then in issue 1.5 an exclusion to that, or, I should say, an exception to that, which is issue 1.5 and the undue harm test that has been proposed.


The point of it is is that a utility would have, as noted in the previous undertaking response, the flexibility to deal with programs, but, as captured in the last sentence here, the intent of the undue harm test is not to provide parties with an opportunity to reopen the framework rules established in this proceeding.


So the undertaking response specifically identifies that the undue harm test would create a high onus on parties to demonstrate that there has been undue harm.  And we would submit, Madam Chair, that this Panel would have the ability to use such language and to indicate support for that high onus in its decision, which would be certainly an indication, an explicit indication, to parties that you accept that high onus.


The third undertaking response, J2.3, asked whether or not the rules in 3.3 of the completely settled agreement are applicable to custom projects, and the answer is "yes."


Those are the responses to this point, Madam Chair.


MS. NOWINA:  Thank you, Mr. O'Leary.  Thank you.  

Any other preliminary matters?  Mr. Shepherd.


MR. SHEPHERD:  Thank you, Madam Chair.  I am here on time this time.


Let me just raise one preliminary item:  I am using two exhibits in this cross‑examination.  One of them has been distributed.  That will be the first one I get to.  The other one appears to have vanished into the courier world somewhere, and I am hoping that it will momentarily appear; but if it does not, it's been e‑mailed to everybody, and I believe my friend Mr. McComb will be able to put it up on the screen and I can get hard copies later.


We just don't know where they are.  They have disappeared somewhere.


MS. NOWINA:  We may have copies from the e‑mails.  Do we, Mr. Millar?  

Can we identify them as exhibits now if you're going to use them, Mr. Shepherd?


MR. SHEPHERD:  Well, as I raise them in the cross‑examination.  Just before I start on the ...

     MS. NOWINA:  Are you hearing that ringing, or is it me?


MR. SHEPHERD:  Yes.  I thought that was just my ears.


MS. NOWINA:  Sorry, Mr. Shepherd, go ahead.


MR. SHEPHERD:  Just before I start on the financial questions, would the Board object if I asked this panel, which is the same witnesses, a question about JT2.2?


MS. NOWINA:  Would Mr. Smith object?


MR. SMITH:  No, I don't.


MS. NOWINA:  There you go.


MR. SHEPHERD:  That wasn't my ears.


MS. NOWINA:  I have no volume control here, so I can't fix it for you.


MR. MILLAR:  Madam Chair, it may help if you turn it off, then turn it back on.  That may assist the feedback.


MS. NOWINA:  It works for my computer, so we will try it.


Well, let's try.


MR. SMITH:  Sorry, Mr. Shepherd.  The witnesses don't actually have the answer to the undertaking, so I can't remember which 2.2 is, so I can just ...

     MR. SHEPHERD:  I keep turning it back on, and it keeps turning off.


Madam Chair, please let me know if I suddenly can't be heard, because it is turning off by itself.


MS. NOWINA:  Is it on now, Mr. Shepherd?


UNION GAS - PANEL 2 (FINANCIAL MATTERS); Resumed


Tracy Lynch; Previously Sworn


Chuck Farmer; Previously Sworn


CROSS-EXAMINATION BY MR. SHEPHERD:

MR. SHEPHERD:  It is on now.  

I just want one clarification, Mr. Farmer.


MS. NOWINA:  It just turned off.


MR. SHEPHERD:  I just have one question of clarification, and that is this:  We heard Mr. O'Leary say that the utility's proposed resolution to 1.5, the undue harm test, is not intended to allow parties to reopen the structural issues.


So ‑‑ but I was under the impression that if somebody is able to meet the high threshold of showing undue harm, then in fact that is precisely what would happen.  You would then ‑‑ the Board would then look at these structural issues and see how to fix them; isn't that right?


MR. O'LEARY:  Madam Chair, perhaps I could respond to this; and if there are follow-up questions to Mr. Farmer, it may be appropriate, but it is an undertaking response that is more legalistic, perhaps, than it is of a factual nature.  The intent was to recognize that it is virtually impossible to come up with an exhaustive list of those situations where it might be appropriate to reopen matters and to seek an amendment to the plan.


We don't think that it will happen, but one could hypothesize that there are some situations that might arise.  While it would be easy to simply say you cannot reopen any framework issue, it is also, we believe, plausible that if a situation of undue harm arises, it may be necessary to actually amend a framework issue.


So rather than trying to be exhaustive in the list, our intent was to come up with language, both in terms of the settlement agreement and the understanding of the language, which would suggest it is a very high onus, and ultimately the arbiter of that is the Board.  

And if it's not established that there are circumstances of which warrant reopening, then the Board will say no, and parties should be aware that they face potential cost consequences for bringing an application forward that is not successful.


MS. NOWINA:  Mr. O'Leary, would I be misinterpreting your JT2.2 if at the end of the last sentence you were to add "except in extraordinary circumstances," or something like that?


MR. O'LEARY:  That language would be, I believe, satisfactory.  That was the intent.


MR. SHEPHERD:  That solves my problem, Madam Chair.


Now, Mr. Farmer and Ms. Lynch, I want to ask you a few questions and take you through some numbers on the budgets, targets and SSM.  Let's start with the budget.
     The partial settlement provides your budget will increase 22 percent, $3.1 million, from 2006 to 2007; right?
     MS. LYNCH:  That is correct.
     MR. SHEPHERD:  We have heard you tell Mr. DeRose yesterday that it's going to be difficult for you to spend that much extra money.  I wonder if you can just describe what sort of strategic or tactical or operational steps should you -- will you have to take to do that, to spend that much extra money.
     MS. LYNCH:  Yes.  Of the 3.1 million that the increase will be in 2007, a million of that will go to market transformation.  So that will be new programs that we're going to have to develop for the course of the multi-year plan but we'll have to have a one-year implementation plan for 2007 to spend that $1 million.
     There is also an additional $600,000 that will go to low-income.  So we would be looking to expand delivery of programs we're going to deliver in 2006 in 2007 and also look at new opportunities for other measures that we could deliver to the low-income market.
     MR. SHEPHERD:  Sorry, go ahead.
     MS. LYNCH:  That would leave us with about a $1.5 million increase that I would characterize would go more to the regular DSM programs that we have, and that would be money that we would have to spend on developing additional staff as necessary, also research into the residential and commercial markets for new opportunities that we're going to need from a long-term sustainability perspective; we're also looking at the need to do further evaluation, both on an ongoing basis of current programs, but also we've committed to reviewing all of the input assumptions over the duration of the three-year plan.  So some of that money will need to go to the input assumptions we need to review in 2007.
     MR. SHEPHERD:  It is not just more of the same, though, is it?  Aren't you intending, in 2007, to in effect sort of step it up a notch?
     MS. LYNCH:  Yes.  Yes.  So there will be more on the programs that we have.  These would be additional things that we would have to do in addition to that.
     MR. SHEPHERD:  Okay.  I guess I had the impression that with this much additional money and this sort of additional focus, that you were going to have to adjust how you do DSM.  The corporation is going to have to put more emphasis on it.  You're going to have to have more access to internal resources, those sorts of things.
     MR. FARMER:  I can certainly assure you, Mr. Shepherd, Madam Chair, that the -- this is not a business-as-usual scenario, with just a little more spending.  This is part of a transformation that has been happening at Union since 2005, as the budgets did start to step up, and it does require increased internal focus and new approaches and creativity, and all of those things will consume the budget.  But similarly, it will be a difficult budget to spend.
     MR. SHEPHERD:  Now, we have heard you say yesterday it is a challenge to spend that $3.1 million, but then you got another 1.7 you're going to have to spend in 2008 on top of that; right?
     MS. LYNCH:  Yes, we will.
     MR. SHEPHERD:  Now, that's going to be easier to digest than the first 3.1 million?  It's still going to be a challenge but easier presumably.
     MS. LYNCH:  It is still going to be a challenge, and we would be looking to expand on what we did in 2007 and also add, I guess, additional programs and expanding the programs that we currently have.  
     MR. SHEPHERD:  Since you made the partial settlement, have you had discussions with the corporation’s senior management about what they need to do to enhance the corporation's commitment to DSM?
     MR. FARMER:  Yes, we have.  And if I can describe how we approached the demand side management.  We have a steering committee of senior management that manages the strategy of DSM, and I chair that committee.  And the committee is made up of three vice-presidents and four directors, including myself.  And the committee's fully aware of the partial settlement and what we're committed to and has committed to this.
     MR. SHEPHERD:  Now, the partial settlement provides for an annual DSMVA of 15 percent per year.  That's another $2.6 million in 2007, ramping up to $3.1 million in 2009.
     I take it there is very little risk you're going to need much of that in 2007.  
     MS. LYNCH:  It would be unlikely that we would use that amount in 2007.  It is comforting to know it is there if we were to need it and to be successful, but we would have to also be very careful in that the onus is on us to prove we have met the target prior to accessing the DSMVA, so we would want to be very careful to ensure we fully utilize our results and what we expect to achieve before we access the overspend of the DSMVA.  

MR. SHEPHERD:  But I take it it is also true by 2009, if your programs are working the way you want them to, you want to be able to access the DSMVA.  Right?  You're hopeful you will be able to.
     MS. LYNCH:  Yes.  We have agreed to having the DSMVA, so we would want to be able to access it, if the programs are very successful and we feel the need to be able to spend the extra money and that we can prove we have met a target.
     MR. SHEPHERD:  Sorry, I am not making myself clear.  My question really is whether it is fair to say that it's more likely for you to be accessing the DSMVA at the end of this plan than at the beginning because of the high ramp up in budgets that you are already dealing with.  Is that fair?
     MS. LYNCH:  Yes, I would say that's fair.
     MR. SHEPHERD:  Fine.  Now I want to turn to the question of target.  You described your target yesterday as a three-year moving average with a budget level adjustment; right?  You're -- it's a three-year moving average plus an adjustment for the fact that your budget is going up?
     MR. FARMER:  That is correct.
     MR. SHEPHERD:  And the adjustment for your budget is not quite as much as your budget is actually increasing, because it reflects the fact it is increasingly difficult to get marginal DSM?
     MR. FARMER:  That is correct.
     MR. SHEPHERD:  That's why you have 1.5, rather than 2, as your multiplier.
     MR. FARMER:  Yes.  It is important just to clarify, because the budget escalator for Union is 10 percent, and so the target escalator is 15, so it can appear the target escalator is actually bigger than the budget.  

In deliberations on this one, what has to be remembered is that because we're using a three-year moving average, the average is going to approximate two prior years, the year prior to the previous one.  So you would have actually, from that number, had two budget escalations which would be 10 and 10.  So you are actually using a budget escalator of 15 which recognizes a law of diminishing returns.
     MR. SHEPHERD:  Wonderful.  Madam Chair, I have an exhibit which has been passed out entitled “Union Gas Targets Under Partial Settlement.”  It is actually two pages, because I have the same for Enbridge, but I am only going to deal with Union today.  I wonder if we can get an exhibit number for that.
     MS. NOWINA:  We can, Mr. Shepherd.
     MR. MILLAR:  K4.1.
     EXHIBIT NO. K4.1:  UNION GAS TARGETS UNDER PARTIAL 

SETTLEMENT DOCUMENT
     MR. SHEPHERD:  I just want you to look, Mr. Farmer, at the Union Gas page in this.  I wonder if you could confirm that the calculations on this page are correct.
     MS. LYNCH:  Yes, they are.
     MR. SHEPHERD:  Thank you.  So this shows, from year 1 to year 6 - that's a period of 5 years difference - the annual actuals, if you achieve 100 percent of your target every year, would increase by $92.5 million a year, 49 percent.  But the budget increases by 61 percent.  So can you tie that into this law of diminishing returns we're talking about?
     MR. FARMER:  I think it does demonstrate the law of diminishing returns.  As you provide more money and as DSM programs become more mature, they become more difficult, so the target has not increased at the same rate is correct.
     MR. SHEPHERD:  So the differential over five years is only 12 percent.  So we're not giving you a lot of credit for the fact that it is harder, but you feel that is within the range that is appropriate?
     MR. FARMER:  I do.  And based on my experience, I do characterize the targets as stretches in each of the years under the scenario you described.
     MR. SHEPHERD:  Now, can you take a look at the furthest right column here.  This is headed up “Efficiency Ratio,” which I understand is a term that is not used in DSM.  Right?  This is new to you?
     MR. FARMER:  I have never called it an efficiency ratio.  It's like a cost effectiveness.
     MR. SHEPHERD:  Cost effectiveness, that's right.  What this is is how many dollars of TRC you get for every dollar of spending.
     MR. FARMER:  That, I believe, is correct.
     MR. SHEPHERD:  So you would expect this to go down over time, wouldn't you?
     MR. FARMER:  I do.
     MR. SHEPHERD:  So this example here, which shows it going down from 11.1 to 10.2, you think that is an appropriate slope, given where you are in DSM?


MR. FARMER:  I think it is probably appropriate, and I don't mean to qualify too much.  Union, prior to being SSM based, was working more on a cubic metres per dollar or dollars-per-cubic-metre basis, and we have seen some erratic swings in that.  So I don't have really a lot of historical data that supports this, but it looks right to me.


MR. SHEPHERD:  Now, your first-year target is 188 million, which is -- we heard you say yesterday is significantly less than your 2006 target but significantly more than what you actually expect to achieve in 2006; right?


MR. FARMER:  Correct.


MR. SHEPHERD:  And I take it I'm about right in saying that it is probably about 10 percent more than you expect to achieve in 2006?


MS. LYNCH:  Based on current expectations, that would be about right.


MR. SHEPHERD:  So you're getting a 22 percent budget increase, but you're getting a 10 percent target increase from actual; is that about right?  I'm not implying anything by it.


MR. FARMER:  No, no.  Sorry, I don't mean to look like you're doing that either.  The 22 percent budget increase does include the million-for-market transformation, which is unlikely to generate significant TRC, particularly in early years.  But the way you characterize it, I think it is about fair.


MR. SHEPHERD:  But it is also true in the second year, after you've started to ramp up your staffing and things like that and put in some new programs, there's a big bump, a 15 percent bump, under this formula; right?


MR. FARMER:  That's correct.


MR. SHEPHERD:  So that is going to be your most challenging year; right?


MR. FARMER:  I think that will be a challenging year, yes.


MR. SHEPHERD:  The reason for that is that when you're ramping up spending in your first year, you can't do as well, but once you get going, it is more achievable to get higher returns?


MR. FARMER:  That is correct, assuming that the investment's made in the first year were prudent.


MR. SHEPHERD:  The other thing I want to look at is there's a second section in the spreadsheet that talks about what happens if you're consistently only meeting 75 percent of target.  Now, I presume you would agree that if you were consistently meeting 75 percent of target, that your company and the Board and lots of other people might be questioning whether this is really working very well; right?


MR. FARMER:  Yes, I certainly agree with that notion.


MR. SHEPHERD:  But it's true, isn't it, that the mechanism that is in the partial settlement for target setting over time reduces the target to reflect the fact that you're not meeting it?


MR. FARMER:  That is correct.  The mechanism lags the actual performance, and so if over time the results of the company are not meeting the target for what could be any number of reasons, including significant market shift, it becomes even more difficult to meet anticipated gain programs.  The target adjusts down.


MR. SHEPHERD:  So, for example, just -- you know, you probably heard in the newspaper yesterday the Ontario government's announcement that they're giving $400 million to the OPA to spend on electricity conservation.  You heard this; right?


MR. FARMER:  I heard an announcement, yes.


MR. SHEPHERD:  If there's an additional $400 million out there chasing conservation over the next couple of years, I take it that that may make it more difficult for you to achieve your goals, because it may increase your free riders.  It may mean that there's other people in the marketplace that are getting people's attention, et cetera; is that fair?


MR. FARMER:  It's very fair, and while we don't know exactly how this $400 million is going to move into the market, on the one hand, it is extremely reassuring that electric CDM is funded through the future years.  There was some doubt, as I understand, about that, but it is going to continue to expand electric CDM, which, in a customer's mind, can compete with natural gas CDM and also make it difficult for us to get resources to implement these programs, as the companies will be competing for human resources and consultant resources.


MR. SHEPHERD:  So, for example, an industrial concern that has an electric utility calling them up saying, Do this CDM, and you guys calling up saying, Do this DSM, is not going to necessarily do both projects in the same year?


MR. FARMER:  It may not have the capital to do both projects in the same year.


MR. SHEPHERD:  Fair enough.  Back to the target setting.  We saw what happened when you're at 75 percent of target.  If you're -- if instead of being 25 percent under every year you are 25 percent over, this formula ratchets up your target every year; right?


MR. FARMER:  That is correct.


MR. SHEPHERD:  And you were aware when you signed this that there is an asymmetry to this.  The relief it gives you on the downside, if you're 25 percent below, is not anywhere near as much as the increasing goals it gives you on the upside, if you're doing well; right?


MR. FARMER:  That's correct.


MR. SHEPHERD:  So for example -- over five years, for example, in the case of Union, if you're 25 percent over target every year, then your target is up 130 percent; whereas, if you're 25 percent under, it is only down 33 percent.  Is that right?


MR. FARMER:  That is correct.


MR. SHEPHERD:  I want to turn, then, to the SSM.  This, then, brings us to the other spreadsheet which is lost in the world of couriers.  I wonder if we can give this an electronic exhibit number.


MR. MILLAR:  K4.2.


EXHIBIT NO. K4.2:  SSM SPREADSHEET

MR. SHEPHERD:  Now, this is a spreadsheet - we're seeing the chart on it right now - that calculates your SSM under your existing rules and under the partial settlement; is that correct?


MS. LYNCH:  Yes, that looks to be correct.


MR. SHEPHERD:  And can you confirm that the calculations in this spreadsheet are correct?


MS. LYNCH:  Yes, they were correct.  There was just a column on the basis point ROE, is that -- for the spreadsheet you had.


MR. SHEPHERD:  Oh, yes.


MS. LYNCH:  That wasn't based on actual numbers for Union.


MR. SHEPHERD:  Can we see the column on basis points?  This is a column called "Proposed Basis Points ROE"; right?


MS. LYNCH:  Right.


MR. SHEPHERD:  That's the impact on your ROE in basis points of this incentive; correct?


MS. LYNCH:  Yes.  I was just ‑‑ we haven't confirmed the numbers here.  For illustrative purposes, it looks like it is approximately what I would expect; just I haven't confirmed it is based on Union's numbers in any way.


MR. SHEPHERD:  It is in range; right?


MS. LYNCH:  Yes.


MR. SHEPHERD:  Thank you.  

Now, yesterday Mr. Vlahos asked some questions about the actual SSM formula.  So I wonder if -- could we see the upper right of this spreadsheet?  There we are.


You see the various tranches there, 25, 50, 75, 100, et cetera.  Can you confirm that if you get the first 25 percent of target, your SSM is 0.479 percent?


MS. LYNCH:  Based on the TRC target of 188 for 2007, that would be the correct percentage.


MR. SHEPHERD:  In fact, that percentage is going to change each year; right?


MS. LYNCH:  Yes, it will.  It will change according to the target at 100 percent.


MR. SHEPHERD:  Exactly.  And so, then, similarly at the 50 percent level - that is, the tranche from 25 to 50 percent - your percentage is 0.957 percent; right?


MS. LYNCH:  That is correct.


MR. SHEPHERD:  The tranche from 50 to 75 percent, it's 3.351 percent?


MS. LYNCH:  Yes.


MR. SHEPHERD:  And for everything above 75 percent, it's a straight percentage of 5.319 percent?


MS. LYNCH:  Yes, up until the cap.


MR. SHEPHERD:  Until you reach the cap, which is about 137.5?


MS. LYNCH:  Percentage of target, yes.


MR. SHEPHERD:  And the cap arises based on -- it's going to change based on your target; right?  That is, where you hit the cap is going to change?


MS. LYNCH:  The absolute amount of TRC will change based on the target.


MR. SHEPHERD:  Yes, exactly.  So that percentage of 5.319 will also change as all of them will; right?


MS. LYNCH:  Yes, it will.


MR. SHEPHERD:  Can you confirm that if you reach the cap of $8.5 million, at that point your average SSM is 3.29 percent?  That is, if you want to look at column H and go down to ‑‑ I don't know what line that is, but ‑‑ 67.


MS. LYNCH:  Yes.  If you took 8.5 million at the cap and divided it by your TRC achievement at 137.5, you would get that percentage.


MR. SHEPHERD:  The reason why the percentages change each year is because they're calculated out of the dollar amounts in the curve; right?  That is, you take the fixed dollar amounts and you calculate those with respect to the new target.
     MS. LYNCH:  Yes.  Yes.  Because the amounts of the increments will change, the percentage will change.
     MR. SHEPHERD:  Now, you said to Mr. DeRose yesterday that at 25 percent or at 50 percent, if you're getting $225,000 of incentive, or $675,000 of incentive, these aren't numbers that get your management's juices going; right?
     MR. FARMER:  That is correct.
     MR. SHEPHERD:  Then can you describe why you would have them at all, if they don't do that.  What is the operational benefit?  How does it change the psychology?
     MR. FARMER:  In the answer to Mr. DeRose, there were a couple of principles that we thought were important, and one is that the mechanism for the SSM recognizes that every unit of TRC has value, and that's an important signal to the utility and to management.
     The second thing we have to deal with is thresholds can act as demotivators, particularly if you're dealing with market conditions that are going to put you close to the threshold and you're running some risk of being one side or the other and having zero.  It is important, with this mechanism, although we wouldn't expect to operate in the low points of the curve, that it does recognize the value that it gives predictable earnings year over year to the utility and that incents the management far more than the possibilities of single year large payouts.
     MR. SHEPHERD:  It is generally true in a regulated utility, is it not, that whatever business activities you carry out will typically drive profit.  For example, if you do system expansion, if you increase your throughput, the normal things you do to build your business, give you profit from the first moment; right?
     MR. FARMER:  That is correct.
     MR. SHEPHERD:  And DSM is unusual, currently is unusual in that respect, in that you have to reach a certain level before you make anything.
     MR. FARMER:  That is correct.
     MR. SHEPHERD:  Under the partial settlement, there's still a significant incentive both before and after the old threshold?
     MR. FARMER:  Yes.
     MR. SHEPHERD: 74.9 or 75.1, you still have an incentive in both cases.
     MR. FARMER:  That's correct.  And if I can characterize the threshold of the existing package, for example, if you use the example you just gave; although 75 percent is a threshold, if you get to 75 percent plus a dollar, you've got 18 cents.  You still haven't motivated 

-- the threshold is actually somewhere higher than the threshold that is inserted into the formula.
     MR. SHEPHERD:  In fact, you're going to make about, what, 77 percent of your target this year, something in that range?
     MR. FARMER:  Thereabouts.
     MR. SHEPHERD:  Have you calculated what your SSM is going to be?
     MR. FARMER:  We haven't done the math on the percentages.  It is slightly higher than 77 percent, and the number that we had proposed, we think, is about $1.3 million for SSM, which is significantly less than what we believe we earned in 2005.
     MR. SHEPHERD:  When you have internal competition for resources, you do have internal competition for resources?
     MR. FARMER:  We do.
     MR. SHEPHERD:  Does the current threshold have an impact on that?
     MR. FARMER:  Yes, it does.
     MR. SHEPHERD:  How?
     MR. FARMER:  Again, we have to consider as we direct our resources, what are the outcomes of the competing priorities.  And so in a year when we have a situation like we have now, where we aren't anticipating a significant SSM and the company is faced with choices around things like adding customers, operational efficiencies, whatever it might be, they have returns that we can predict, and that might be more attractive than the DSM returns that we're looking at this year.
     MR. SHEPHERD:  What the chart shows is that your SSM at target under the partial settlement is lower than your current SSM.  And indeed everywhere at target at above, it is lower under the partial settlement.  Why is that okay?  
     MR. FARMER:  We are motivated more by the predictability of the earnings and by the nature of the earnings occurring at every unit.  So it takes away the debate as to will we hit a threshold or not, which is a debate we actually have to have very early in the year, because you can't magically redirect resources; you must commit to programs early.
     So we value much more the predictability of the earnings than the ability to have one great year.
     MR. SHEPHERD:  Madam Chair, those are our questions.
     MS. NOWINA:  Thank you, Mr. Shepherd.  

Mr. Klippenstein.
     CROSS-EXAMINATION BY Mr. Klippenstein:
     MR. KLIPPENSTEIN:  Thank you, Madam Chair.  Good morning members of the panel.  I wonder – 

MR. QUESNELLE:  Mr. Klippenstein, your microphone.
     MS. NOWINA:  Is your mike on?
     MR. KLIPPENSTEIN:  I think I have discovered that Mr. Shepherd's and my mikes are linked, so when he turns his off, I get turned off.
     MR. SHEPHERD:  And you just turned me back on.
     MR. KLIPPENSTEIN:  I won't comment.

MR. SHEPHERD:  Figuratively speaking.
     MS. NOWINA:  Will you make a note of that, please.
     MR. KLIPPENSTEIN:  Sorry for that.  

Members of the panel, if you could retrieve the Pollution Probe document book, which is Exhibit K3.2, and also a two-page set of revised tables that are in that document book which is Exhibit K3.3, just so you have those handy.
     Then in addition, Madam Chair, I would like to potentially rely on two further pages, which - to get the paperwork over up front - I think had been distributed and, subject to my friends’ comments, would like to have them entered as an exhibit.  

Now, it is a two-page package with the first page being a page from the Ontario Energy Board's annual report of 2003/2004, and attached is a news release from July 13th, 2006 - that is yesterday – stating:  “McGuinty government announces additional $400 million for energy conservation,” which I believe my friend Mr. Shepherd referred to a few moments ago.
     I wonder if I could have those, that package also marked as an exhibit.
     MR. MILLAR:  K4.3.
     EXHIBIT NO. K4.3:  OEB 2003/2004 ANNUAL REPORT AND 

JULY 13, 2006 NEWS RELEASE    

MR. MILLAR:  Do you have that, Madam Chair?
     MS. NOWINA:  I do have it.
     MR. MILLAR:  Thank you.
     MR. KLIPPENSTEIN:  Now, members of the panel, I will mostly be asking about the budget and SSM structure, with particular focus on the situation where targets are exceeded.  So I am asking little, if anything, about the situation where you are below the targets.  There is a lot of numbers flying around, and just so you know, I am focussing almost exclusively on what you might call exceeding the target.
     Specifically, I am interested in the possibility that the proposed SSM structure will restrict or inhibit DSM or conservation measures once you get above the target.  So I am asking about the situation where, from Pollution Probe's point of view, we're talking about exceptional results or highly aggressive conservation approaches.  Is this making sense to you?
     MR. FARMER:  Yes.
     MR. KLIPPENSTEIN:  I would like to begin by asking you to turn to tab 1 in the document reference book, Exhibit K3.2, which is a decision of this Board in EB-2005-0001, December of 2005.
     I would just like to put to you a context about targets for DSM or conservation and their achievement and excedence.
     If you would turn to page 9 of that decision, middle of the page under the heading 4.1 "Background."  The first sentence says:   

"The shared‑savings mechanism is designed to provide an incentive to the utility to aggressively pursue DSM savings."


Do you see that?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  Focussing on the word "aggressively."  That's not new to you.  You've, I assume, over a number of hearings and years, heard the idea that aggressively pursuing DSM savings is, in this context, a good thing; is that fair?


MR. FARMER:  That is fair.


MR. KLIPPENSTEIN:  If you could turn the page two pages to 11, which this time, Mr. Vlahos, is under the heading “Board Findings.”  In the second paragraph on page 11 of that decision, the second sentence says:

"The core purpose of the mechanism is to incentivize the company to achieve and surpass the established TRC target.  It is a reward for exemplary performance, not a payout for any performance, no matter how meagre."


Then dropping down to the next paragraph, the last sentence in that paragraph, the Board's decision reads:

"The Board considers the mechanism approved herein to strike an appropriate balance between fairness to the company in recognizing benefits achieved, while retaining an appropriate incentive for exceptional performance."


Do you see that?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  Would you agree with me, focussing for the moment on the words used here, such as "achieve" and "surpass," "exemplary performance," "exceptional performance," that it should and is a part of the conservation strategy, in the SSM context, to hope for and push for exemplary and exceptional performance?  That is part of the goal, isn't it?


MR. SMITH:  Madam Chair, if I might make one observation - and I perhaps should have made it following Mr. Klippenstein's last question - but the paragraph he just read, the second paragraph on page 11, after the sentence or the sentence that he had underlined in the second paragraph, it goes on to say:   

"This observation was made by virtually every intervenor that commented on it and is compelling."


The decision, of course, that is being referred to here is an Enbridge decision and not a Union decision, and so the witnesses may not be aware of this, because, of course, they weren't parties to this proceeding, but the intervenors who made that observation include not just Mr. Klippenstein's client, but the same intervenors who are parties to the partial settlement.


So this sentence and the paragraph needs to be understood in that context, and of course that is the danger of putting this decision to this panel, as opposed to an Enbridge panel.  They're just not in a position to understand it in the appropriate context.


MR. KLIPPENSTEIN:  Well, I don't -- I don't think my friend's comments change my question, at all, and in fact make it more relevant.


My question is whether these concepts are the understanding of this panel.  Perhaps I should repeat the question.


MS. NOWINA:  Why don't we try that, Mr. Klippenstein?


MR. KLIPPENSTEIN:  Yes.  Members of the panel, is it your understanding that these concepts of achieving and surpassing the target and the search for exemplary and exceptional performance are indeed part of the conservation ethos that we're working in with the SSM?  Is that fair?


MR. FARMER:  I believe those comments are fair, and I believe that the mechanism that has been proposed does exactly what you suggest.


MR. KLIPPENSTEIN:  All right, thank you.  We will look at that in a little more detail.


So just to recap what's been raised a number of times - I won't get into it - but the SSM that's proposed when, in 2007, the target is ‑‑ sorry, let me back up a step.


Perhaps I should just start by referring to the words in the settlement proposal, just to be clear about that.  That's at page 16 of the partial settlement.  This describes ‑‑ this is where we will find the structure of the indexing for the TRC target; is that right?


MR. FARMER:  This describes the structure of the shared savings mechanism.


MR. KLIPPENSTEIN:  Correct.  And if Union exceeds its 2007 target, the TRC target, the conservation target, its target for the next year will rise; right?


MR. FARMER:  That is correct.


MR. KLIPPENSTEIN:  And it will rise by 15 percent; is that right?


MR. FARMER:  It will rise by the average of 188 and the actual achievement, plus 15 percent.


MR. KLIPPENSTEIN:  Correct.  So the result is that if you exceed the target, the next year you've got a higher target?


MR. FARMER:  That is correct.  I think because of the escalator, you could also marginally underachieve the target and still end up with a higher target.


MR. KLIPPENSTEIN:  Fair enough.  But as I said, I'm looking at the situation where you exceed the target, potentially, because I'm particularly interested in the possibility of what I've described as exemplary, exceptional, aggressive performance.


Now, if you could turn to the table that I have put before you at Exhibit K3.3, which is entitled "Partial ADR Proposed SSM Incentive Structure for Enbridge in 2007, Revised," and the next page is an equivalent table for Union.  If you could look at the second page of that exhibit.  Do you have that?


MR. FARMER:  Yes, we do.  


MR. KLIPPENSTEIN:  Now, column 1 describes the categories of TRC achievement, for example, up to 25 percent, up to 50 percent, up to 75 percent, up to 100 percent.  Do you see that?


MR. FARMER:  Yes, we do.


MR. KLIPPENSTEIN:  Column 2 describes the incremental or increase in TRC.  

Column 3, which is entitled "Marginal Incentive Before Clawbacks," and leaving aside the term "clawbacks" for a moment, which I will get to later, that describes -- that describes the shareholder incentive that you would get; is that right?


MS. LYNCH:  For 2007, those are the percentages you would get on those increments.


MR. KLIPPENSTEIN:  So if you achieved 100 percent of your target, you would get 2.5 million; is that right?


MS. LYNCH:  Sorry, you're on column 3?


MR. KLIPPENSTEIN:  Correct.


MS. LYNCH:  That is the amount you would get for your achievement between 75 and 100 percent.
     MR. KLIPPENSTEIN:  Correct.  If you exceeded that, up to 125 percent, you would get, at 125 percent of the target, an additional two and a half million; is that right?
     MS. LYNCH:  That is correct.
     MR. KLIPPENSTEIN:  Similarly, if you exceeded the target in up to 137.5 percent of the target, you would get a further additional 1.25 million; is that right?
     MS. LYNCH:  Yes.
     MR. KLIPPENSTEIN:  All right.  And then, but if you go over 137.5 percent of your target, you would get no additional incentive, because it's capped at that level; is that right?
     MS. LYNCH:  That is right.  As mentioned earlier, the cap of 8.5 million in 2007 is established at 137.5 achievement of TRC.
     MR. KLIPPENSTEIN:  Correct.  However, if you achieve these results for the first year –- rather, if you achieved over the 100 percent of the target, then next year, for 2008, your target is increased; is that right?
     MR. FARMER:  That is correct.
     MR. KLIPPENSTEIN:  And so for the second year, which would be 2008, your incentive -- let me back up here.
     In the second year, if you achieved 125 percent of your target, what would be your target for the second year?
     MR. FARMER:  I think Mr. Shepherd's sheet is actually quite helpful in that he appears to calculate it for us.
     MR. KLIPPENSTEIN:  That's Exhibit K4.1?
     MR. FARMER:  Yes.  He does have a 125 percent scenario.  I'm just making sure that I am correctly interpreting.  I believe it goes to 243 million.

     MR. SMITH:  Sorry, I just wanted to make sure I was clear.  Looking at Mr. Shepherd's K4.1, is Mr. Klippenstein's question:  If in year 1, rather than 188, the company achieved 125 percent of its target; is that right?
     MR. KLIPPENSTEIN:  That's correct.
     MR. SMITH:  Okay.
     MS. NOWINA:  Do we want Mr. Shepherd to confirm that is what the spreadsheet means?  

Sorry, Mr. Shepherd, to put you on the spot, but your documents have been quite helpful here.
     MR. SHEPHERD:  I can't turn off my mike without turning off Mr. Klippenstein's.
     MS. NOWINA:  If you could avoid putting papers on top, that would be helpful.
     MR. SHEPHERD:  That's the missing courier package.  Sorry, what was the question?
     MS. NOWINA:  Mr. Farmer or Mr. Klippenstein, can you explain to Mr. Shepherd what we're looking for here?
     MR. KLIPPENSTEIN:  Yes.  The question is:  What will be the target in the second year, 2008, if the target in the first year is exceeded by 25 percent?
     MR. SHEPHERD:  It will be 243.2.
     MS. NOWINA:  That's what we thought.  Thank you.
     MR. SHEPHERD:  Glad to be of help.
     MR. KLIPPENSTEIN:  A moment's indulgence, please.
     MS. NOWINA:  That’s fine.
     MR. KLIPPENSTEIN:  I would like to, then, follow that through and look at what the effect of that rise in the target would be on your incentive, again, assuming that you've achieved more than the target.
     So if you can look at column 5, which is called "Second year clawback," and you see the figure of 1.4 million?
     MR. FARMER:  I do.
     MR. KLIPPENSTEIN:  And the question is:  According to our calculation, that 1.4 million is how much your SSM incentive is reduced in the second year if you exceed your target by 25 percent the year before.  Do you understand what I am asking?
     MR. FARMER:  I need to ask for clarification, and the accuracy of the numbers aside, they work directionally for us to have the discussion.
     If we exceed our target in year 1 in our actual performance, then our year 2 target will increase and the curve that calculates the shared-savings mechanism will adjust.  And so I am not sure that the year 1 target is, in any way, any more relevant in the calculations of what we would earn.
     So I really don't understand and perhaps need some help on what you mean by “clawback.”  It is not as though we're gaining anything and then giving it back.  We have accepted that a new standard of performance has been established by virtue of the history of performance.
     MR. KLIPPENSTEIN:  Correct.  So the result -- let me take this step by step.  The result of having achieved or overachieved the target in year 1 – namely, 2007 in this case - will be a higher target next year.
     MR. FARMER:  That is correct.
     MR. KLIPPENSTEIN:  And therefore, because the target is higher, under this incentive structure, you won't get the same incentive payout for the second year if you meet the same TRC level; right?
     MR. FARMER:  Yes.  Except that, again, I fully accept that and adopt it.  We have established a new standard of performance, and 25 percent better than a new standard of performance should theoretically earn me about the same amount of money year over year.
     I liken it to, for example, personal objectives that are based on historical performance with some element of stretch.  I don't go back and just use a consistent level over time.  I think it is appropriate that the targets adjust, and I am comforted by the mechanism that causes the targets to adjust.  

I don't see the clawback that you are characterizing.  I don't see it as earning less.  I see it as being eroded appropriately for my result, against what we all agree to be the right level of effort.
     MR. KLIPPENSTEIN:  Okay.  But just -- just to focus on the actual numbers.  If, in year 1, you overachieve and get 125 percent of the target, in year 2, because your target has changed, you achieve the same results, you will be paid less than year 1 for the bonus; right?  You agree?
     MR. FARMER:  I do agree with that, yes.
     MR. KLIPPENSTEIN:  In fact, if you do the calculations according to the incentive structure, the 1.4 million we have identified here is the amount that your bonus would drop, even if you just achieved the same result at 125 percent; is that accurate?
     MR. FARMER:  I would like to -- it is accurate, subject to check, of the 1.4 million, which I think, again, is not that important for the discussion.


I accept that my incentive will be lower, and if you characterize that as my incentive has dropped, then I accept that.


MR. KLIPPENSTEIN:  So the core effect of this incentive structure is, if you get 125 percent of the target, you know that next year, if you perform the same, your incentive will be $1.4 million less?


MR. FARMER:  No.  Actually, I do not agree with that.


MR. KLIPPENSTEIN:  That's what you just agreed to.  So explain to me why ‑‑ 


MR. FARMER:  You used the term "if I perform the same."  The benchmark of performance has changed, based on the company's experience and market conditions and budget available to it; and, therefore, if I perform the same, I'm going to do better in terms of absolute TRC than I did in the previous year.


So, in my opinion, if you use the term "perform the same," if you get the same TRC value year over year, I argue that in an escalating market you're performing worse.


MR. KLIPPENSTEIN:  Oh, all right.  You have got a different definition of “performing the same.”  So let me just clarify again.


Year 1, 2007, you do 125 percent and get X number of TRC benefits.  You know under this incentive structure that if you, next year, again get X number of TRC benefits, you will lose $1.4 million in your incentive.  That's inherent in this structure.  Isn't that fair?


MR. FARMER:  I will earn 1.4 million, subject to check, less.


MR. KLIPPENSTEIN:  Okay, correct.  So the bottom line is you know, under this structure, in the scenario I have given you, if you earn X conservation benefits in year 1, you know in year 2, if you again earn X conservation benefits, you will be paid 1.4 million less?


MS. NOWINA:  Mr. Klippenstein, you just asked exactly the same question as that, and the witness answered exactly that question.


MR. KLIPPENSTEIN:  Sorry, I thought I used slightly different wording, but I will withdraw the question.


MR. SMITH:  I might, because Mr. Klippenstein is referring to the 1.4 and ‑‑ we don't know if that is the right number, but we're happy to have a discussion that we earn less.  And the witness keeps saying “subject to check.”  Maybe we should check it.


MR. KLIPPENSTEIN:  With respect, the witness was provided with this material well before today's panel, and the witness said he accepted it subject to check, so it is not quite fair to have my friend suggest it is all unclear.


What I suggest is we have ‑‑ we take an undertaking from the witness to identify any concerns with the number.


MS. NOWINA:  I'm not certain that I care, Mr. Klippenstein, unless one of you thinks that I should.  I think the witness made a good point that whether it is 1.4 or 1.3 or 1.5, it is the principle you're trying to get across; is that not true?


MR. KLIPPENSTEIN:  That's certainly true.  On the other hand, I wouldn't want to say that the number doesn't matter.  I mean, certainly if it's in the area of 1.4 million, I think the general concern is sufficient.


MS. NOWINA:  It's up to you.  If you want the undertaking, we can ‑‑


MR. KLIPPENSTEIN:  Yes.  Perhaps I will request that the witness ‑‑


MS. NOWINA:  Is the witness able to give the undertaking?


MR. SMITH:  Yes.  We will do the math.


MS. NOWINA:  All right.


MR. MILLAR:  J4.1.


UNDERTAKING NO. J4.1:  TO CONFIRM THE $1.4 MILLION 

NUMBER

MR. KLIPPENSTEIN:  Further, perhaps, Mr. Farmer, would you undertake to advise us whether you have any disagreement with the calculations in this table?  We have extensively footnoted them to show how they are arrived at.  If you have any points of disagreement with the calculations, I wonder if you would undertake to advise us?


MR. FARMER:  Yes, I believe we can do that.


MR. KLIPPENSTEIN:  So make this another undertaking.


MR. MILLAR:  J4.2.


UNDERTAKING NO. J4.2:  UNION TO ADVISE WHETHER IT 

DISAGREES WITH ANY NUMBERS IN THE TABLE

MR. KLIPPENSTEIN:  Thank you.


Mr. Farmer, again, looking at column 5 and now looking at the next row, which deals with the situation where your company has, again, performed better than the target, but this time it is better than 125 and it is up to 137.5 percent of the target.  According to our calculations, in the second year, the succeeding year, under the formula we know that if you achieve the same number of TRC benefits in the second year, your SSM payout in the second year will be less by 1.4 million and an additional $716,000.  Is that fair?


MR. FARMER:  Subject to check of the numbers, definitely, yes.


MR. KLIPPENSTEIN:  Then taking one step or one row further, if the company in the second year achieves 150 percent of the target in terms of the TRC number, then the second year payout under this SSM structure will be 1.4 million, plus $716,000, plus another $716,000 less than year 1; is that right?


MR. FARMER:  That is correct.


MR. KLIPPENSTEIN:  And we have referred in our table to that as a clawback.  In other words, by performing very well in year 1, 2007, you know that under this incentive structure, this formula, you will inevitably for the ‑‑ for achieving the same TRC number the next year, have your SSM reduced by those numbers.  I'm calling that a clawback.  Isn't that in a sense a fair way to characterize it?


MR. FARMER:  No, I don't believe it's fair at all.  I think “clawback” has a tremendously negative connotation, and I have repeatedly said to yourself and other counsel that I don't view this as a penalty at all.  As the experience in the market changes, the target that establishes the benchmark of exemplary performance, if can refer back to the Enbridge decision, is changing appropriately also.  


I haven't existed in a DSM set of rules since my first entry to it in 1999, where the target was static for an extended period of time.  The target does move with the market, and, in fact, we initiated target adjustments ourselves in the middle of a five-year plan.


So I don't ‑‑ while I understand what you're saying, in that we would earn less for a similar level of TRC achievement, I absolutely agree with you that that is true.  I just don't characterize it as anything negative.  I think it is a good evolution of the target‑setting methodology.


MR. KLIPPENSTEIN:  And wouldn't it be better if, instead of having your SSM incentive automatically reduced in the second year by operation of the formula, to have a positive incentive for overachieving the target level?


MR. FARMER:  You characterize it as a positive incentive.  It is a positive incentive for achieving more than the target level.  The SSM mechanism proposed in the partial settlement does encourage, when combined with the budget, us to overachieve.


So, again, I am having difficulty with the way you're characterizing the result, because it is not matching with the way I interpret and understand the environment.


MR. KLIPPENSTEIN:  All right.  Let's go back to the table we were looking at in K3.3 and move to column 6, which is entitled "Third Year."  Leave out the word "clawback" for now.


You will see the row that refers to up to 125 percent; in other words, an achievement of 125 percent of the target.  Do you see that?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  So this column looks at the implications in the third year of the performance in the first year.  I am suggesting to you that just based on the calculations, again in the first year, 2007, if you perform at 125 percent of the target, the inevitable working out of the calculation means that in third year you will receive $955,000 less in SSM bonus than you otherwise would have, just analogous to what we went through with the second year.  Is that fair?


MR. FARMER:  I'm still having some trouble, and I apologize to you.  125 percent of which target, sir?


MR. KLIPPENSTEIN:  Of the 2007 target.  In other words, in year 1, 2007, if you have success and exceed the target by 25 percent, so you have performed at 125 of the target, then we know that in second year you will receive 1.4 million less in bonus than you did the previous year.  Then in third year, you also will receive $955,000 less than you otherwise would have received in third year, because your target has been reset two years ago.  Is that fair?
     MR. FARMER:  Thank you for the clarification.  I do agree that if I achieve 125 percent of a target that was established a couple years prior and that is no longer relevant in my planning, that I would earn less because the target that we're actually working to is higher.
     Again, you said “success,” success is measured against the target in the year that you're actually trying to implement rather than against targets that are old and no longer valid.
     MR. KLIPPENSTEIN:  That may well be, but I am looking at what the assessment and knowledge -- this is not any secret.  Anybody can figure it out; even I can figure it out on a good day.
     What that means, I'm going to suggest to you, in column 7, which is the total incentive number, and looking at the 125 column again, when I add up all of those numbers and we have documented that in here, is that going to or succeeding or exceeding in year 1 to the point of 125 percent of the target means that because of the inevitable increase in targets in subsequent years, your net payback over the three years, in bonus, will only be 3/10th of 1 percent?  Do you accept that calculation?
     MR. FARMER:  Subject to check, in that we're going to check the calculations in the table.
     MR. KLIPPENSTEIN:  So the result of that is you know that if you exceed the target by 25 percent in year 1, your net SSM bonus is only going to be 3/10th of 1 percent.

     My question to you is:  Is that realistically any kind of incentive to actually do exemplary performance?
     MR. FARMER:  Yes, it's absolutely an incentive.  Again, the difficulty is in the comparisons between the target that we're actually acting against and the target that was established in the first year of the plan and targets change over time and as company experience and market conditions dictate. 
     So in the situation, without doing the math, you describe where I am at 125 percent of my original performance, I'm actually below probably the target that is established - and I think that is the point you're trying to make - and earning less.
     So I wouldn't be overly happy with a performance of the company where we came in substantially below the target that we had agreed was the right target, which is the target in force in year 3.
     Your question is difficult for me to answer succinctly because it confuses targets, in my opinion, between introductory targets, which are no longer valid as we move further into the mechanism.
     MR. KLIPPENSTEIN:  Well, I think I understand the sense of your answer about you have to meet succeeding increasing targets.  But my question is:  When you think about it, why would you even attempt to exceed the target and ratchet it up when it appears, inevitably from the formula, that the net bonus to your shareholders is going to be 3/10th of 1 percent?  Why would you even want to go to 125 at all?
     MR. FARMER:  The SSM mechanism that is proposed, combined with the budget and the target-setting mechanism, do serve, in my opinion - and I think the opinion of all of those parties to the partial settlement - to encourage the utility to perform.  And it encourages us to exceed the target.  

And if I refer back to something you asked me earlier about, which was the Board decision, it stated a target as being a benchmark of exemplary performance, and I agree that the target should be a benchmark of exemplary performance.
     And it is unreasonable to believe that the benchmark of exemplary performance is static for a number of years because the market is dynamic, and the utility's experience is dynamic and the experience of those we work with is dynamic and the budget is increasing under our approved mechanism. 
     So I think that because the mechanism in each year encourages the utility to overachieve this benchmark of exemplary performance, I don't understand the characterization that we would try to achieve low levels which would be -- which would not be appropriate.  We have the resources to do so through the budget mechanism, the target we accept to be fair, and the mechanism rewards us to do better.
     MR. KLIPPENSTEIN:  Well, you mentioned that this encourages the company to overachieve, and my question is really, whether that is even true.  Because we have just looked at, when you think about it -- and it is not immediately obvious, but when you think about it, by overachieving under this mechanism as proposed, if you overachieved 125 percent, you get next to nothing.  And what's the point?
     I mean isn't that true?  That's what the math shows, when you think about it.
     MR. FARMER:  The definition of “overachieve” must also shift with the target which is establishing the benchmark of performance.  So overachieve in one year, if you do the same, can be underachieve in another.  I think that applies outside of the DSM world to many things.  We continue to strive to get better.
     And as the senior representative of Union Gas and the person accountable for strategy and policy on DSM, I can tell you that this mechanism clearly encourages us to perform and the pressure will be to perform better.
     MR. KLIPPENSTEIN:  Well, look at the next column, the last column which looks at the scenario where the company achieves better than the target and gets 50 percent more than the target.  And at that point, we're beyond the cap level, so there is no additional SSM incentive at that level; is that right?
     [Witness panel confers]
     MR. FARMER:  Subject to check of the numbers once we get beyond the cap in the given year, there is no additional incentive.
     MR. KLIPPENSTEIN:  Right.  But what's happened at that level of exemplary achievement, if I may call it that, your target has been increased and you still have reductions in the bonus that flow from the target increase, and the net marginal incentive rate, as we demonstrate there, has dropped to below zero.
     In other words, because of the cap, overachieving to 150 percent means you actually earn less in the succeeding years.
     MR. FARMER:  Again - and it's important - I did receive the table by e-mail, and there are some errors that we advised in the calculations of targets, so the numbers must be subject to check.
     My question for you, so I can answer the question for the panel --
     MR. KLIPPENSTEIN:  To deal with that point, these are the revised numbers, which is --
     MR. FARMER:  We would like to check those numbers.  There has been communication, is all I'm trying to say.
     MR. KLIPPENSTEIN:  Go ahead, sir.
     MR. FARMER:  150 percent of which target?  Because we're using “target” many ways here.
     MR. KLIPPENSTEIN:  The first-year target.
     MR. FARMER:  Okay.
     MR. KLIPPENSTEIN:  The net result is that if you overachieve your first-year target by 150 percent, the effect of the formula ratchet-up in the succeeding year means you're actually going to have a net marginal incentive financially of less than zero, minus 5 percent.
     MR. FARMER:  In this scenario, 150 percent of the original target in 2001, which is no longer relevant in 2003 if that is in excess, if that performance was in excess of 130 - well in excess of 8.5 million in essence - then it is capped.
     MR. KLIPPENSTEIN:  Yes.  But the net result is, if you think about it and you work through these numbers -- you thought that if you perform at 150 percent, you're actually reducing -- actually reducing your payout over the succeeding -- over the three-year period.
     MR. FARMER:  It is the words.  When you say “perform at,” the target is the relevant target in the year that we are planning for and has been adjusted for the factors.  So the level of performance versus the year 1 target, I don't believe is still a factor in this.  It is the performance against the year 3 target, and I accept fully the way the mechanism works.
     MR. SMITH:  Madam Chair, I wonder, this is now -- I don't know how many times the same point has been made.  Mr. Farmer has answered the question precisely the same way.  He does not agree it is a clawback, for all of the reasons he has indicated.
     I wonder, it might be time for a break.
     MS. NOWINA:  Well …
     MR. SMITH:  I just hope we move on after the break.  I am sure we will.
     MS. NOWINA:  Well, whether or not it is time for a break, I agree, Mr. Klippenstein, it is time to move on, Mr. Klippenstein.  We get it and we get the witness's response, and I don't think one more example is going to add anything.
     MR. KLIPPENSTEIN:  Thank you, Madam Chair.  This is certainly -- I'm going to move on.  I guess I'm -- I have to move on.  So this might be a good time for a break, but I am happy to address my next topic.
     MS. NOWINA:  Why don't we have a break, and we will return at fifteen minutes before 11:00.
     --- Recess taken at 10:25 a.m.

‑‑‑ On resuming at 11:02 a.m.  


MS. NOWINA:  Please be seated.  Before we begin, someone may have already told you this, but the desks are double desks and so the two speakers, Mr. Klippenstein and Mr. Shepherd, you're at the same desk and your speakers are connected -- your mikes are connected.  If one is on, the other is on; if one is off, the other is off.  And that works for every pair.  So be careful who you sit beside.


[Laughter]  


MS. NOWINA:  Mr. Klippenstein.


PRELIMINARY MATTERS:

MR. SHEPHERD:  Madam Chair, before Mr. Klippenstein speaks, I had one preliminary matter.


The elusive Exhibit K4.2 has shown up.  I have distributed it, and copies are available for the Board.  I have given them to Mr. Millar.


MS. NOWINA:  Thank you.  Yes.  Can we have ours now?


CROSS-EXAMINATION BY MR. KLIPPENSTEIN (CONT’D):

MR. KLIPPENSTEIN:  Thank you, Madam Chair.


Members of the panel, before the break I was suggesting to you that the present SSM formula had a sort of built-in subsequent year incentive reduction, which I referred to as a clawback.


I am going to suggest to you a possible alternative SSM incentive structure, and that is summarized at tab 4 of Pollution Probe's document book, Exhibit K3.2.


I just want to ask ‑‑ point out the features of that.  At tab 4, there's two pages; one for Enbridge and one for Union.  And the Union one is on the second page of tab 4.  It's entitled "Alternative SSM Incentive Structure For Union."  Do you see that?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  Thank you.  And the table has the details of a possible alternative SSM incentive structure, but the points up top summarize this.


Beginning with the second point, which describes how it is proposed that the TRC target be determined, it says that it would be the DSM budget - and this setting the relationship between the target and the budget - the target is set to the approved DSM budget times 11.1, which is 188 million, divided by 17 million.


Now, at present, the proposed target is 188 million for 2007; is that right?


MR. FARMER:  That is correct.


MR. KLIPPENSTEIN:  And the $17 million is the budget; is that right?


MR. FARMER:  That is correct.


MR. KLIPPENSTEIN:  So when you work those out, you get that ratio of 11.1; is that right?


[Witness panel confers]


MR. KLIPPENSTEIN:  I think that actually appears on Mr. Shepherd's calculation sheet as well.  It is just a simple calculation I'm referring to, the ratio of the ‑‑


MR. FARMER:  My apologies.  I was looking for something else.  I'm sure it is correct.


MR. KLIPPENSTEIN:  So that ratio, then, the monetary TRC or conservation benefit, divided by the spending ratio, that gives, in a sense, loosely speaking, a performance indication.  It is how much conservation benefit you got from how much utility spending; is that right?


MR. FARMER:  Yes.  It's a target based on some level of cost effectiveness, as we discussed with Mr. Shepherd.


MR. KLIPPENSTEIN:  Sure, okay.  So it is sort of, generally speaking, a cost-effectiveness measure.  So the proposal that I've put before you sets the target by multiplying the approved budget times the cost benefit ratio, and, therefore, a possible reasonably expected target based on past performance or cost effectiveness.  Is this making sense, or is that too complicated?


MR. FARMER:  No.  When you say "reasonably expected target," I agree that at 188 million that your calculation is correct.  I do not agree that at any other level that it is.


MR. KLIPPENSTEIN:  All right.  But you see what I'm doing in this particular line of the proposal?  It's taking the budget times the cost-effectiveness ratio to come up with a target number.


MR. FARMER:  Yes.  My understanding is that we will be discussing different levels of budgets and whether the targets are applicable at those levels of budgets.


MR. KLIPPENSTEIN:  Then in the next line, the SSM at 100 percent of target, in the table and proposal Pollution Probe puts forward here, is 2.53 percent of the TRC, which is 4.75 million as a proportion of 188 million.


And that 2.53 is the same as the present proposal at 100 percent; is that right?


MR. FARMER:  The number is being backed into by taking the 4.75 million and dividing it by the target of 188, yes.


MR. KLIPPENSTEIN:  Right.  Then, again, the next line in this proposal, the SSM or bonus at 125 percent of target is 153 percent of the SSM at 100 percent of the target; in other words, 7.25 million over 4.75 million.  That, again, is the same proportion as in the other proposed ‑‑ sorry.  I'm sorry.  This is different from the number proposed in the partial settlement at 125 percent.  Do you agree with that?


MS. LYNCH:  Under the proposed mechanism at 125 percent, we would receive an incentive of 7.25 million.


MR. KLIPPENSTEIN:  Okay.  So it is the same.  At that level, it is the same.  My apologies.


Moving to the next bullet point there, the SSM at 150 percent of the target is proposed to be, in this scenario, 186 percent of the SSM at 100 percent of the target; in other words, 8.825 million.


That is different than the proposed partial settlement; is that right?


MR. FARMER:  That is correct, because of the cap at 8.5 million.


MR. KLIPPENSTEIN:  Correct.  Now, looking at the table.  In column 1, I've set out the percentage of the TRC target at different levels.  And in column 2, following through on my point up, second bullet point, that the -- of the TRC level is the amounts of the incremental TRC.


Column 3 sets out the marginal incentive, and you will see in this proposal, because it is calculated differently, there is amounts of bonus going up to the 150 percent level and the 175 percent level.  Do you see that?


MR. FARMER:  Yes.


MR. KLIPPENSTEIN:  And the incentive rate is calculated in column 4, but then in column 5 and 6, which set out what is called here the clawback or what I've also termed as subsequent year incentive reduction, they're all zero.  Do you see that?


MR. FARMER:  I see that, and I have one question of clarification:  Does the example assume that the target that's set in the first year is the target that exists for the years of the multi-year plan?


MR. KLIPPENSTEIN:  No.  It's possible, because of the calculation formula in point 2, that the target can increase, but because of that calculation methodology, 
there is no reduction in bonuses in later years for overachievement, even though the target increases.
     In other words, if you overachieve the target in year 1, you will get that bonus, even if your target is increased for subsequent years, because of the calculation method.  Does that make sense to you, under this scenario?
     MR. FARMER:  I think I need to work through it with an actual number, as we did before, if that would help, if you have an example.
     MR. KLIPPENSTEIN:  Sure.  If you look at, let's say, column 1, an achievement of 150 percent of the bonus -- of the target, excuse me.  And this would result in an incentive of 1.57 million -- 1.575 million.  Do you see that?
     MR. FARMER:  Yes.
     MR. KLIPPENSTEIN:  Excuse me.  I'm sorry.
     MS. NOWINA:  Mr. Klippenstein, can I ask you a question as I try to follow along.  What is column 2, “Incremental TRC,” that remains the same throughout all of the scenarios?
     MR. KLIPPENSTEIN:  That is the difference, different levels.  Each of those steps is a $47 million step-up in TRC benefits.
     MS. NOWINA:  Oh, all right.
     MR. KLIPPENSTEIN:  So at the 100 percent level, the target is 188.  So each of those increments of 25 percent represents one-quarter of the 188; namely, 47 million.
     MS. NOWINA:  I see.  Thank you.
     MR. KLIPPENSTEIN:  And that step pattern is projected up similarly above 100 percent.
     MS. NOWINA:  Okay.
     MR. KLIPPENSTEIN:  So going through the sample that we just started, Mr. Farmer, I slightly misspoke myself.
     At 125 percent - in other words, in excedence of the target of 25 percent - the incentive would be the 2.5 million but also including all of the previous numbers.  So the total at that point is, I believe, 7.25 million.
     MR. SMITH:  I'm sorry, maybe the witness has the question.  I don't.
     MR. KLIPPENSTEIN:  I was just getting to the next -- to the final part of the question.  So at that level of 125 percent, the cumulative bonus here would be 7.25 percent.
     Now, getting to the point of your question.  In this scenario, in this incentive structure, the target, as in bullet 2 is calculated as a function of the budget.
     So the target would not automatically change because you over-performed.  So your incentive does not, for year 1, that you earn in year 1, does not automatically, as a matter of formula, change what you earn potentially in a bonus and subsequent years.
     MR. FARMER:  If I can clarify and ensure that I understand what you're proposing.  You're proposing that there would be a target established in year 1, a different target established in year 2 and some function of the budget, and a different target established again in year 3 and some function of the budget approved in year 3.  And you've suggested a function of 11.1 ratio.
     MR. KLIPPENSTEIN:  That's correct.
     MR. FARMER:  And that the target, if we achieved 125 percent of the target in the year that we are implementing, would be, I think, 7.25 million in each case.
     MR. KLIPPENSTEIN:  That's correct.
     MR. FARMER:  I fail to see how that is different to the SSM mechanism that we have proposed in that the target is adjusting on some function of budget and that's a refinement of actual experience and that at 125 percent of the target in each year, the payout is exactly the same.
     MR. KLIPPENSTEIN:  The difference I want to ask you about in this scenario is that the potential bonus is based only on that year's performance; whereas, in the existing proposal, it is automatic that your target necessarily is increased for the following years and that automatically decreases the bonus by a certain amount.
     MR. FARMER:  Well, I still -- the difficulty, if I can express it so that we can deal with it, is that to me the mechanisms look relatively the same, in terms of how the SSM is structured, with the exception if they move beyond the cap with some kind of declining percentage, which I think discourages exemplary performance beyond the cap because the value of it declines.  

But if we take that issue and place it aside, the difference between what you're proposing and what is proposed in the partial settlement appears to be a different target-setting mechanism, and I think that is really the crux of the discussion, is that you propose a target-setting mechanism that I think you will propose that whatever the budget is, that the target be 11.1 times that, based on the TRC target.  And what the partial settlement proposes is that the target be based on the historical experience of the utilities and adjust for the budget, which is a different approach.
     And I think to characterize that one promotes a clawback over the other, I don't believe is in any way correct.  Both say that 125 percent of the target in any given year, whatever that target may be -- that the payout is the same.  And I think there is a lot of symmetry between the mechanism you propose, except once you get past about 125 percent.
     MR. KLIPPENSTEIN:  I think that your -- I would like to take your characterization of the proposal here as the essence being a different target-setting mechanism.
     Do you agree that in the proposal before us from the partial settlement group, as we discussed before, by over-exceeding, you automatically necessarily reduce the bonus that you would get in the following year, all things being equal; whereas, in this scenario, that isn't true?
     MR. FARMER:  I'm trying to relate the scenarios.  And if I can use some sample numbers, which may or may not be 125 percent, but if you escalate the budget from 188 million to, say, 250 million and 300 million in year 3 -- if I go back to what I believe I clearly heard you ask me this morning, is you described a scenario where the budget was adjusting but that I was essentially getting the same result in each of the three years.  So I start at 188.  I overachieve and get 200ish.  My target goes up and I get 200 again, and somehow I earn less.  And I accepted that to be true.
     In your example, if you used the budget escalator and you, say, get 200 in year 1, then you will get a payout on that.  If I get 200 in year 2, even though you have or arbitrarily adjusted - I'm not going to say “arbitrarily” - you used a formula to just the target, I'm going to earn less because it is less against the target.  Again, to me, there is tremendous symmetry in what you propose and we propose, and the only difference is in the target-setting mechanism itself.
     MR. KLIPPENSTEIN:  Okay, thank you, Mr. Farmer.  I will move on, then, to my next topic, and we will be able to address --
     MR. FARMER:  Thank you.
     MR. KLIPPENSTEIN:  -- the comments in argument.  

On the question of the level of budgets for DSM, which of course is quite separate from the question of targets and the question of SSM structure.


If you could, please, turn up the documents I put forward this morning, which are Exhibit K4.3, the two‑page document with the ‑‑ beginning with the page from the Energy Board Annual Report.  Do you have that?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  If you look at the pie chart at the bottom of that page, it appears that, according to this OEB annual report, in 2002 electricity was responsible for 18.3 percent of Ontario's end use energy demand.  Does that, first of all, seem like a fair reading of this part of the report; and, secondly, is that ‑‑ do you have any reason to disagree with that?


MR. FARMER:  It seems appropriate, and I have no reason to disagree.


MR. KLIPPENSTEIN:  Then looking at the comparable number for natural gas, according to this OEB report, in 2002 natural gas was responsible for 29.9 percent of Ontario's end use energy demand; is that right?


MR. FARMER:  Yes.


MR. KLIPPENSTEIN:  So obviously natural gas had a significant larger component than electricity use?


MR. FARMER:  At end use, yes.


MR. KLIPPENSTEIN:  Yes.  Then if you could turn the page of that exhibit to the news release of yesterday headed "The McGuinty government announces additional $400 million for energy conservation."  Have you had a chance to either read this or otherwise familiarize yourself with the gist of this announcement?


MR. FARMER:  I did scan the news release.  I haven't fully contemplated what it means yet, but I am willing to discuss.


MR. KLIPPENSTEIN:  It appears from this that the McGuinty government just announced that it is increasing the CDM budgets of the electrical utilities in Ontario by $400 million over the next three years; is that right?


MR. FARMER:  Well, yes, I believe it has increased the budgets by $400 million.  Electric CDM is not my specialty, in that we don't participate.  I do monitor.  What I would suggest, in my understanding - and if somebody can correct me if I'm wrong - is that there was no funding guarantee past the middle of about 2007.  So I'm not sure we characterize this as increasing, as much as continuing, and I think that is where my understanding starts to get a little fuzzy.


MR. KLIPPENSTEIN:  All right.  I would just like to compare, just for a moment, very contextually the two sectors.


If we compare to what we have before us today in the partial settlement agreement, Union's DSM budget for the next three years would be $56.3 million in total; is that right?  Does that sound about right for the total?


MR. FARMER:  Over the three years, that sounds about right.


MR. KLIPPENSTEIN:  Now, Enbridge and Union have had DSM programs for over ten years; is that fair?


MR. FARMER:  Union since about '97, yes.


MR. KLIPPENSTEIN:  The electrical LDCs, on the other hand, their CDM program started in 2004, 2005; is that right?


MR. FARMER:  As I understand it, yes.


MR. KLIPPENSTEIN:  So it would appear that the government at this point seems to believe that the electrical utilities can spend this amount of money productively and cost effectively on energy conservation.  That's what it would appear; is that fair?


MR. FARMER:  I disagree.  I believe that the Ontario government has made a strong commitment to electric CDM, and in my review, I saw no provision about the cost effectiveness of the spending of it.  So I can't draw the second conclusion that you draw.


MR. KLIPPENSTEIN:  Are you saying that because you believe that there is no cost effectiveness assumption, or are you just ‑‑ you just ‑‑ or what?


MR. FARMER:  I'm saying it is not referenced in the materials that I am aware of.  I'm sure there is a cost-effectiveness test, and I don't know whether that's to maximize TRC or to produce a portfolio of positive TRC, which are different things.


MR. KLIPPENSTEIN:  Okay.  My question to you is:  What is different about Ontario's two gas utilities that would suggest it wouldn't be a good ‑- especially given the years of experience in the gas DSM -- that it wouldn't be a good idea to move more towards parity between the gas utilities and the electrical utilities, in terms of financial effort in conservation?


MR. FARMER:  If you have an example of what parity is and how it's measured, that would allow us to compare our rate of expenditures with the 80-some electric utilities or the OPA that will get this money, and then we can certainly discuss.


I think there is -- a much more simple answer is that the assumption that the amount of natural gas used at the end use as a ratio to the amount of electricity used at the end use, that to each of those units there is the same potential for DSM, and conservation is flawed, and I don't think that we should take the $400 million as anything more than the government's commitment to electric CDM in this province.


MR. KLIPPENSTEIN:  What we have here is, it would appear, a situation where the -- these comparative numbers, in terms of conservation spending, are now expected to be something like $400 million on the electricity side and, using the numbers in the materials before us, on the gas side approximately $125 million for three years, and the gas sector having a much larger proportion of the end use total in Ontario.


Isn't it fair at a fairly high level of abstraction or generality that we should be looking seriously at whether something closer to parity in spending might be a good idea for the gas sector?


MR. FARMER:  I disagree.  I don't think it is fair at any level of abstraction.  I go back to my argument that the assumption is too simplified that says for every unit, there is an equal potential.  And I think that the opportunities in front of the electricity industry, given the wide variety of usages and given their current level of development in CDM, mean they would need to spend more to achieve results, and they're going up learning curves, which is an entirely different place to the gas industry.


The parties to the partial settlement, in my opinion, as ratepayer parties, have not said that there should not be an increase in spending.  They definitely have all approved an increase in spending beyond what we would expect inflation to be, which says that we agree that there should be more DSM.  It is a measured rate of increase to protect against ratepayer impact, and, in my opinion, would not give us budgets that we cannot effectively spend, which would be wasteful.


MR. KLIPPENSTEIN:  But would you agree with me that certainly the government's announcement, at a minimum, would suggest that it would be consistent with the government's philosophy at this point that the terms we referred to before of “aggressive” and “exemplary” and “exceptional performance” in conservation should be the standard we aim for in gas now?


MR. FARMER:  I see nothing in the materials that I have reviewed, relative to this announcement or to any other announcement made regarding electric CDM, that state what the situation in the gas industry should be, and so I don't believe that that is fair to say.  


What this does is, I think, give assurance to the electric utilities that they can continue, then, to expand their CDM activities, and I applaud that.  I think that is necessary in the province.
     I would like to point out that conservation, as defined in CDM, is larger than DSM, because DSM is adherent to tests and in the gas world means that we focus on gas business.  
     So for the -- for example, if the notion is that we should somehow be participating in this announcement, the only way we can do so is to participate in the activities that meet the definition of electric CDM; that can include fuel switching where it meets the TRC test.  The utilities currently don't have budgets that allow it to participate in this announcement, and we have brought an application before the Board or a request as part of this proceeding from Union for something that would allow us to do that.
     MR. KLIPPENSTEIN:  I would like to ask you to turn to a proposal from Pollution Probe about different and higher budget levels for CDM -- for DSM.  That's at tab 5 of the Pollution Probe document book, Exhibit K3.2.
     The second page at that tab is the page for Union.  Do you see that?
     MR. FARMER:  I do.
     MR. KLIPPENSTEIN:  Entitled “Union DSM Budgets, Benefits, and Rate Impacts.”
     The first row attempts to summarize the present budget levels for 2000, 2008, and 2009 as per Union's proposal.  Have we got those numbers right?
     MS. LYNCH:  Those are the correct numbers.
     MR. KLIPPENSTEIN:  I'm sorry?
     MR. FARMER:  Yes, they're correct.
     MR. KLIPPENSTEIN:  That was a tough one.
     We have put, in row 2, a proposal that would increase the budget instead by approximately $10 million, reference to 2006, and are proposing or tabling that the budgets be for the three years for DSM 23.9 million, 33.9 million, and 43.9 million.  Do you see that?
     MR. FARMER:  I see that as the alternate in the proposal.
     MR. KLIPPENSTEIN:  The difference is simply what's put in the next row and then one row down, called “Incremental TRC Benefits & Alternative Budget Proposal.”
     We have done an estimate on what the TRC benefits would be from that additional budget using, as the calculator, the existing ratio of cost effectiveness, if you will, or performance that was discussed with Mr. Shepherd and elsewhere; namely, the number of 11.1.  That is the present expected or forecast amount of TRC benefit per dollar of spending, and we get the estimate of TRC benefits of 76.6 million, 168.7 million, and 258.6 million.  Do you see those numbers?
     MR. FARMER:  I see those numbers.
     MR. KLIPPENSTEIN:  Yes.  Do you accept that that is a reasonable or, at least, preliminarily a reasonable estimate of possible additional TRC benefits from a budget increase?
     MR. FARMER:  No, not at all.
     MR. KLIPPENSTEIN:  Why do you say that?
     MR. FARMER:  There is a number of reasons.  I start first with the estimate of 188 million, and the estimate of the budget are estimates, right.  The 188 million is -- we don't have an experience at 188 million that can lead us to assume that that is the right budget.  We have estimated it as our best guess.
     We have discussed at great lengths with -- through the proceeding with a number of parties about the concept of diminishing returns.  So as budget levels increase, the returns that you can earn per additional dollar decrease.
     What we all agree, or, at least, what I believe most of us agree, is that there is a concept of diminishing returns, but there is no formula that we currently have based on our experience that would allow us to come up with an appropriate formula to estimate TRC at various budget levels.
     I absolutely reject it is a straight line, as you suggest in this example.
     MR. KLIPPENSTEIN:  When you refer to diminishing returns, have you given much thought to the relationship between that and the discussion I had with you about market transformation programs as being a next step in DSM?  And is it possible that market transformation programs will play a larger and productive role in higher levels of DSM?
     MR. FARMER:  Yes, I believe we did discuss that, and certainly we agreed that market transformation is an important evolution, and I believe we also agreed it wouldn't replace current DSM.  It is an incremental activity.
     MR. KLIPPENSTEIN:  All right.  Well, I have taken your comments about the proposed numbers here about estimated incremental TRC benefits.
     Going to the next row down in the Pollution Probe budget proposal, we've done a calculation of how big these budget increases would be as a proportion of Union's total revenues.  Would you agree with me that it gives us some indication of potential rate impacts?  Is that fair?  That doesn't follow with precision, but, for example, we've calculated that our proposed incremental or increased budget -- one moment, please.
     MR. FARMER:  I'm struggling because rate impact and rate design, particularly rate design, are not something which I am particularly an expert at.  I'm not sure that the total amount is as much a part of a rate impact, because it exists in the rates already, as compared to the incremental amount which is a rate impact that the ratepayer must absorb.  So I don't -- I'm not necessarily able to give a good answer to that.
     MR. KLIPPENSTEIN:  Would you agree that the, to the best of your knowledge, the figure we have -- the figures we have there, in terms of the percentage of total revenue of 1.4 percent; is that correct, to the best of your knowledge?
     MR. FARMER: We filed in our evidence at Exhibit A, tab 2, page 12 of 52, that the revenue requirement in table 2 is about 1.7, 1690, and on and on and on.  So I take the calculations as being correct, subject to check.
     MR. KLIPPENSTEIN:  Okay.  Thank you.  So the result is then, if I'm trying to get a sense of the relative proportion of the proposed higher budget numbers here as a percentage of overall revenue, at 1.4 percent, I get a sense of how big this Pollution Probe proposed budget is in the overall revenue picture.
     MR. FARMER:  Yes.  I appreciate that you're trying to do that, and, as mentioned, I think the numbers are directionally correct.  We have to keep in mind that revenue requirement is largely commodity and commodity costs can be volatile.  The commodity can rise and fall, and therefore the revenue requirement can rise and fall.  So it is very difficult to cast a number against the revenue requirement for the purposes of DSM budgets.
     MR. KLIPPENSTEIN:  Fair enough.  If you just take the budget percentage that we've got in that table, 1.4 percent, 2 percent, and 2.6 percent.  And for broad-brush comparison purposes, turn to tab 6 of Pollution Probe's document book, which is an overview of C&DM practices in North America and potential alternatives for Ontario, prepared for the Ontario Energy Board in December of 2004.
     If you turn to page 10 of that report, which is the third page of the excerpt –- actually, I will deal with the previous page first, page 9.  Just for brevity, there is a table of what's entitled “Examples of integrated utilities C&DM spending in 2002 and 2003.”


I will just quickly identify what I am pointing to and then ask you the question:  Do you see in the table there we've marked a number of integrated utilities, as they're identified there, which have DSM spending as 2 or 3 percent of gross revenues?  Do you see that?


MR. FARMER:  I do.  If I can clarify, an integrated utility is a utility that has both gas and electric customers?


MR. KLIPPENSTEIN:  I believe that is correct.


MR. FARMER:  Thank you.


MR. KLIPPENSTEIN:  I think I may have misspoken myself.  I think probably what's intended here is not a gas and electric, but something that -- a utility that sells a commodity as well.


MR. FARMER:  If I can clarify, because I'm not necessarily familiar.  You've marked BC Hydro, Florida Power Corp. and, I think, Wisconsin Power and Light.


MR. KLIPPENSTEIN:  Yes.


MR. FARMER:  Those all sound like electric utilities.


MR. KLIPPENSTEIN:  Correct.  Turning to the next page, in what's labelled figure 2, “Examples of distribution companies C&DM spending in 2002, 2003.”  Do you see that table?


MR. FARMER:  I do.


MR. KLIPPENSTEIN:  And we've highlighted some half-dozen companies that have DSM spending as a percentage of gross revenue being at 2 and 3 percent.  Do you see that?


MR. FARMER:  I do.  And I think it is important to recognize that I think it is Connecticut Light and Power, Pittsburgh Gas and Electric, Public Service Electric and Gas, and Unitil Energy Systems.  Some of those I am not familiar with.  They appear to be a combination of either integrated utilities or hydro utilities.  And I think the other thing we should note is that the data seems to be 2002 and 2003.


MR. KLIPPENSTEIN:  Fair enough.  Subject to those limitations, what we have here is that there is a number of utilities in North America that appear to be spending 2 to 3 percent of their gross revenues on DSM, and that's the range of numbers that are in Pollution Probe's proposal on tab 5 that I referred to.  Is that fair?


MR. FARMER:  Yes.


MR. KLIPPENSTEIN:  Turning the page over to ‑‑ this is now still under tab 6 of the Pollution Probe document book.  We have what is entitled "Demand Side Management:  Determining appropriate spending levels and cost effectiveness testing," which appears to be prepared, in part, by Summit Blue Consulting for the Canadian Association of Members of Public Utility Tribunals in January of 2006.  Do you see that?


MR. FARMER:  I do.  


MR. KLIPPENSTEIN:  The excerpt I have included, which is page 2 of that report, under the heading "Setting Appropriate Targets For the Amount of DSM"; do you see that?


MR. FARMER:  I do, yes.


MR. KLIPPENSTEIN:  Under the third bullet, the first reference, or the first page reads:  

"For gas utilities, the expenditure levels have been found to be lower in virtually every jurisdiction examined.  No good reason was found for this ..."


And so on.  Do you see that?


MR. FARMER:  I see that.


MR. KLIPPENSTEIN:  Then the last sentence under that bullet point says:  

"Given the history observed through the interviews, recommending a range of 1 percent to 2 percent for gas DSM is consistent with industry practice."


Do you see that?


MR. FARMER:  I do see that.  I would like to draw the panel's attention also to the report that Union filed conducted by Navigant, filed with our evidence.  I can get the reference.  EB-2006-0021, Exhibit A, tab 2, appendix A, “Planning and budgeting for energy efficiency demand side management programs prepared for Union Gas.”  

If we turn to page 11, Navigant conducted a review that showed that the spending was between 0.5 and 1 percent, as shown by the table there, of gross revenues for gas DSM.


And I point that out just to say that there are many, many different studies that look at spending, and they don't necessarily compare utilities that are similar, that have the same experience.


I think that you omitted a sentence in this that says, in your statement:

"For gas utilities, expenditure levels have been found to be lower in virtually every jurisdiction examined.  No good reason was found for this, other than that gas has not received as much attention as electricity in analytic studies."


That is, in an analytic studies.  In Ontario, natural gas has -- DSM has existed since the '90s and has received much attention.  Our budget recommendations are based on a lot of experience.  And I am not entirely sure that these studies point us to a number at all.  They seem to show utilities that vary wildly from very low levels of expenditures to high levels of expenditures.  I suggest that the reason for that is other factors that are not contemplated in the studies.


MR. KLIPPENSTEIN:  All right.  Let's go back to tab 5 of the Pollution Probe document book at page 2, which is the Union version of Pollution Probe's budget proposal.


Do you believe that the proposal by Pollution Probe here for the higher budgets for DSM that are in the second row would be contrary to the best interests of your customers?


MR. FARMER:  Actually, yes, I do believe that, and the reason I believe that is that the amounts that are indicated here, in my opinion, are far in excess of what we can reasonably and effectively spend, which is going to result in either ineffective spending, which is certainly not in the best interests of our customers and the ratepayers, or that we would have to return the money.  And I am not sure that is in anybody's interest to just go through the motions of collecting and then returning.


MR. KLIPPENSTEIN:  So if I may try to summarize the reason that you just gave, is it partly due to ramping-up difficulties, or ...

     MR. FARMER:  No, no.  We believe that 10 percent for Union is a reasonable ramp for us to manage and for ratepayers to absorb until such time as the budgets align, at which time we need to revisit what that number is.  And we had that discussion, I think, in an earlier part of either the financial or the planning panel.


At that rate of increase, it is very difficult for me to say, as far in the future as getting to these numbers would indicate, what the market potential and market experience would be at that time.  So I don't characterize it as a difficulty in ramping up.  I am not saying that if I had time, I could spend this money.  I'm saying I don't conceive of a scenario right now where I could spend the amount of money that Pollution Probe is suggesting.


MR. KLIPPENSTEIN:  Do you have any indication ‑‑ let me put it this way:  Have you considered what other programs and possibilities in market transformation issues or options might be available to you that you might aggressively pursue in an exemplary fashion that might take you beyond the existing budget?  Have you considered that at all, the budget as proposed in the partial settlement?
     MR. FARMER:  We have considered that.  And I think what I would like to say is that we are aggressively expanding demand side management efforts at Union, because we are increasing and have been increasing for a few years, and we're proposing to continue to increase.
     We acknowledge that our rate of increase should be greater than Enbridge's because of where we're at in terms of relationship to Enbridge.
     So we are aggressively growing DSM, and in doing so, one of the weaknesses we've had that we've acknowledged is that we haven't been developing new programs and measures and the like that we could use to increase our results.
     So in our current understanding of what we would do and what we could do, we don't think that we can increase our budgets past the 10 percent; and we're very comfortable with those budgets that they will be aggressive budgets that will be challenges to spend, as we said to Mr. Shepherd in his examination.
     Should there be an opportunity at year 4, for example, that drastically changes things, then I think that can be considered in consultation with the stakeholders and we can revisit budgets, if it is in everybody's best interest to do so.  But we did say we would revisit budgets at some point anyway.
     MR. KLIPPENSTEIN:  All right.  Thank you.  Finally, I have a few questions on the possible impact of Pollution Probe's alternative budget and target proposal on Union's return of equity.  Some of those are summarized at tab 7 of the document book, K3.2, entitled “Impact of Alternative SSM Proposal on Union's Return on Equity.”  Do you see that?
     MR. FARMER:  I do.
     MR. KLIPPENSTEIN:  There's a heading at the top, “Assumptions.”  Do you see that in about six or seven bullet points?
     MR. FARMER:  I do.
     MR. KLIPPENSTEIN:  I won't walk through them in detail, but these combine the various aspects of the budget and target proposal which I have walked through with you and also some assumptions about tax rates, rate base, and debt-to-equity ratio.  Could you just glance at that, or more than glance at it, and tell me whether you would disagree with or not understand some of those assumptions.  Most of them should look familiar from our previous discussion.
     MR. FARMER:  I do have one question in clarity.  I seem to recall, when we were dealing with the alternate proposal, that 100 percent of the target -- the payment was $4.75 million, and then this table, it appears to be 6.7.  If I could understand the difference -- or perhaps I misunderstand.
     MR. KLIPPENSTEIN:  One moment, please.
     I think that may result from the fact that this is using a higher budget, the one we propose, which results in a higher target.  And that flows through to the higher number.  I don't know if that makes sense.
     MR. FARMER:  No.  My understanding was that the 4.75 was at the target and that if the target adjusted on the mechanism that you propose, which was a budget mechanism, that the 4.75 stayed the same.
     For assistance, because it might be useful, I'm willing to, again, accept directionally that there are returns and that they might be lower than the ones here.
     MR. KLIPPENSTEIN:  The 4.7 that you mentioned is not part of our proposal, so there may be a misunderstanding there.
     MR. FARMER:  Yes.
     MR. KLIPPENSTEIN:  So perhaps, for purposes of my question, you can take the 6.71 as being the effect of the proposal under scenario A.
     MR. FARMER:  For the purpose of the discussion, I quite happily accept 6.7 is 100 percent of the target, and there may be some understanding behind that.
     MR. SMITH:  Madam Chair, if I may.  I'm happy to have Mr. Klippenstein go through this, because I think the witness can do it directionally.
     The concern I have is there appears to be a –- well, they appear to have had a misunderstanding as to what the SSM payout would be at target.  Clearly Mr. Farmer thought that it was going to remain at 4.75, which I think would -- I leave it to Mr. Farmer to clarify, but I would have thought from a statement he made earlier, which is:  "I see the two proposals as being similar.”  Of course, if it's another $2 million, they are not the same.
     I actually think that is probably an important point.  It may not be important for tab 7, but it may have a significance to Mr. Klippenstein's earlier questions.
     MS. NOWINA:  I thought the same thing, Mr. Smith and thought we should come back to clarifying that point.  I don't know how you want to do that, Mr. Klippenstein.
     MR. KLIPPENSTEIN:  Perhaps I should finish on this point for purpose of the record and then go back to that one.
     MS. NOWINA:  All right.
     MR. VLAHOS:  Mr. Klippenstein, would that discrepancy carry into the second row of the 125 percent, or is that debatable?
     MR. KLIPPENSTEIN:  No.  Those are consistent, in my submission.  What we have here are the numbers that arise from Pollution Probe's proposal.
     MS. NOWINA:  Maybe we should go back to that, Mr. Klippenstein.  We haven't really started this discussion yet on return on equity, and perhaps we should clear up the other point first.
     MR. KLIPPENSTEIN:  Whatever is most useful.
     MR. FARMER:  I think that I understand, in looking at it - and hopefully this is helpful - what it appears -- now that we've gone to the later tabs, what was happening was the 4.75 million was established at a target of 188, so derived a 2.5 percent of TRC formula for the SSM.  Then the other points were derived also.
     What I had assumed is that that was -- as the target moved with the budget, which was what we were discussing, the 4.75 was staying the same.  But it appears that the 2.53 stays the same and the SSM at target adjusts also, is what it appears to be.
     MR. KLIPPENSTEIN:  Yes, that's our proposal.
     MR. FARMER:  I think, in reference to my earlier remarks, the key difference is that the amount at 100 percent varies, based on the target, and that is certainly an approach.  But it doesn't change, I think, my opinion that there's no difference in terms of the clawback principle or the earn-less-than.  And in my submission, I think that, again, the proposal says that the level of effort is equal over the years, with an adjustment in budget and with the experience of the utility being realized.
     And so while I think we can proceed based on how we understand this, I don't think it changes anything that we had discussed earlier.
     MR. SMITH:  I think all he's saying is he continues to disagree.  We can have the discussion.
     MR. KLIPPENSTEIN:  I just want to check whether perhaps no further clarification is required than what is already forthcoming.  

But going back to the -- to Exhibit K3.3, which is the proposed SSM incentive structure from the partial settlement.  I already asked for an undertaking, which you kindly agreed to give, to outline whether or not you disagree with any of the parts of that table.


Your present comments, if they ‑‑ sorry, let me back up.


You and I may ‑‑ you and Pollution Probe may disagree, but I don't think we can proceed further here.  Depending on your answer to the undertaking, if you don't in the end disagree with the numbers and the logic of the table in K3.3, then we can address the apparent disagreement in argument, it seems to me.


MR. FARMER:  Well, I would like to point out that my disagreement in my read with the information in tab 7 is certainly not around the numbers that are derived.


MR. KLIPPENSTEIN:  Okay.


MS. NOWINA:  You can proceed.


MR. KLIPPENSTEIN:  Madam Chair, should I proceed?


MS. NOWINA:  Plow on, Mr. Klippenstein.


MR. KLIPPENSTEIN:  The only reason I was doing this is because if there are no, let's say, logical or numerical issues in our table, then we will address the disagreement in argument as best we can, and that is probably the more sensible way to ‑‑


MS. NOWINA:  I think you're right.


MR. KLIPPENSTEIN:  Returning, then, to the questions about return on equity which derive from our table at tab 7, second page.  Are we back there, Mr. Farmer?


MR. FARMER:  I am.


MR. KLIPPENSTEIN:  Now, assuming for the moment that the table ‑‑ well, let me take a step back.


Let's look at some of the assumptions that we have there listed at the top of the page, including the one for rate base, marginal tax rate, debt‑to‑equity ratio.  Do you have any reason to disagree with those as approximate working assumptions?


MR. FARMER:  This -- I believe the marginal tax rate  -- I think the debt‑to‑equity ratio may have changed as a result of the 2007 case, but these are not my areas of expertise.  Sorry, I'm looking at Enbridge's.  Okay, they look a little familiar now.


MR. KLIPPENSTEIN:  That is certainly not your area of expertise, with respect.


[Laughter]


MR. KLIPPENSTEIN:  Now, do you have any reason to disagree with the rate base and tax rate and debt‑to‑equity ratio numbers that we have for Union there, on a working assumption basis?


MS. LYNCH:  No, we don't.


MR. KLIPPENSTEIN:  Okay.  Using those assumptions and the calculations which we have in scenario A and scenario B, if the budget in scenario B is assumed to be for DSM at 43.9 million at 100 percent of the TRC target, with the SSM payment being 12.33 million, as indicated, and a benefit to the customers of TRC of 487.29 million, an SSM payment essentially to the shareholders of 2.53 percent and an approximate impact on after-tax return on equity of 64 basis points, would you agree with me that that scenario would be fair to the shareholder of Union as a result of an effort on DSM?


MR. FARMER:  I absolutely disagree with you, sir.


MR. KLIPPENSTEIN:  Why would you disagree?


MR. FARMER:  I disagree because I think what we've gone back to is the problem that has plagued DSM since the SSMs were introduced and the notions of target-setting were introduced to DSM.


What you have is a theoretical means of casting a target that is not based in any way in reality, in my opinion, and I'm assuming these numbers are for some time in the next three years.


So you have a TRC target that, in theory, looks wonderful, but what I can ‑‑ I can promise is with these kinds of targets and budgets, (a), I can say we can't spend them effectively.  That is unfair to the ratepayer.  


Given that we can't spend them effectively, I cannot reasonably expect to achieve the dollars that you are demonstrating here, and, therefore, I can't possibly recommend to senior management that we aggressively pursue DSM in a situation where we can't be successful.  We may as well go do something else where we can feel a little bitter about ourselves.  I just think that I can't eat theory.


MR. KLIPPENSTEIN:  All right.  Two questions about that, and then follow-up questions perhaps, and then I am finished.


Looking at the scenario here from the numbers point of view - and I will come back to the concerns you just expressed a minute ago - if the scenario set out in scenario B with the DSM budget of 43.9 million was, through, let's say, exceptional and unexpected success achieved, would you agree with that kind of -- that that kind of SSM payment and an impact of 64 basis points on the return on equity would be fair at the theoretical level to the shareholder?


MR. FARMER:  I'm unclear on what you're asking me to agree with.  And if I can play back, are you asking me to agree that I think that $12.3 million would be an amount that the shareholder would appreciate?


MR. KLIPPENSTEIN:  Let's start with that.


MR. FARMER:  I think that is fair.


MR. KLIPPENSTEIN:  All right.  Let's go back to your first objection, and you made a number of comments in that.  Are you saying that there's no middle ground, that there's no possibility, and you wouldn't even reasonably discuss a somewhat higher budget?


MR. FARMER:  I'm party to a settlement agreement that establishes a budget that all parties think is the appropriate escalator and that I reassured all parties is a stretch for us to spend.


MR. KLIPPENSTEIN:  I don't think I have any further questions.


MS. NOWINA:  Thank you, Mr. Klippenstein.  


Mr. Poch, do you want to take us up to 12:30, and then we will resume with you after lunch?


MR. POCH:  That's fine, Madam Chair.


CROSS‑EXAMINATION BY MR. POCH:

MR. POCH:  First of all, Madam Chair, we have distributed a -- put together a bundle of three exhibits we prepared from the record of this and prior proceedings.  This was e‑mailed a few days ago, but I think hard copies were handed out today.  I'm wondering if we can get an exhibit number for that.


MS. NOWINA:  Do we have them, Mr. Millar?


MR. MILLAR:  I believe so, Madam Chair.  Mr. Poch ‑‑


MR. POCH:  The first page has a space for an exhibit number, and then the line is:  “Union shareholder incentive target formula, assuming they reach exactly 100 percent of target each year.”


MS. NOWINA:  We have it.


MR. MILLAR:  You have it, Madam Chair?


MS. NOWINA:  We do.


MR. MILLAR:  Thank you.  So we are at K4.4.


EXHIBIT NO. K4.4:  BUNDLE OF DOCUMENTS DISTRIBUTED BY 

MR. POCH

MR. POCH:  Would that be for the three together?


MR. MILLAR:  Unless you think they should be separately marked, Mr. Poch.


MR. POCH:  That's fine.  While we're at it, Madam Chair, we have another exhibit.  We just pulled it together as we were sitting here.  Board Staff was kind enough to copy it for us.  It is just from taking of comments that the Union witnesses have ‑‑ some numbers Union witnesses have provided in the last day and just putting them on a table for ease of reference.  It is being handed out now.


MR. MILLAR:  This is K4.5, Madam Chair.


EXHIBIT NO. K4.5:  One-page document titled, "Union 

TRC and Budgets"

MS. NOWINA:  Thank you.


MR. POCH:  Panel, just before I get to my set of questions, there were just a couple of matters that came up this morning I want to follow up on.
     You indicated that the $400 million that's been earmarked for electric CDM, the LDCs for the next three years might make it harder for you to achieve your targets and you gave reasons.
     I'm wondering if you would agree, though, that this might create some opportunities for joint delivery.
     MR. FARMER:  I'm sorry, you were interrupted.
     MR. POCH:  That the effort of electric LDCs, this -- funded by this $400 million, may provide some opportunities for joint delivery.
     MR. FARMER:  Yes.  Certainly at Union we have started to seek out opportunities to partner with electric LDCs where there are gas and electric benefits, and I think that the continuation of the funding, if I can put it that way, is certainly going to encourage that activity going forward.
     MR. POCH:  This also may ensure that there is some delivering infrastructure there, that even if it is targeted at electric-heated homes, for example, you could perhaps adapt and use your target to gas-heated homes, I'm thinking, if the province resurrect the EnerGuide for Homes.
     MR. FARMER:  I understand.  Yes, I think there may be opportunities coming.
     MR. POCH:  Right.  Just on that one, that is potentially a lot of TRC, if you start going out and treating a lot of gas homes with a -- building improvements and so on, that EnerGuide for Homes target?
     MR. FARMER:  Our current understanding -- and I think the program has to be redesigned for Ontario, so to speak.  The current program I don't think actually does generate large amounts of TRC.  I don't rule out the possibility that with tweaking and development on all parties, that it can.
     MR. POCH:  Right.  Okay.  Well, just on that:  Are you familiar with the -- this was material that was filed in the last Enbridge case, and I'm not sure it was filed in yours, but the experience of that program has been that where participants have work done and obtain a B label, which is the comparison that's -- the audited comparison of how their house is doing before and after, that the -- on the homes that they treated with the federal program which is defunct, we all appreciate, they were getting in excess of 30 percent reduction in energy use, predominantly heating load.
     MR. FARMER:  No, I'm not familiar, because Union has not participated.  And we have looked at the numbers and on occasion tried to rerun them and received different results.  We would like to participate, but we think there is many things that --
     MR. POCH:  Madam Chair, just so I don't put a number on the record which I haven't backed up, I will assure my friends either Mr. Neme to speak that or I will ask the Enbridge witnesses to confirm that that is, in fact, what has been achieved.
     MS. NOWINA:  Thank you, Mr. Poch.
     MR. POCH:  Let's move on.  You indicate one of the problems with a threshold in the SSM formula - this came up this morning - was it could be a “demotivator,” is, I think, is the word you used; is that correct?
     MR. FARMER:  I'm not sure it is actually a word, but it is the word that I used.
     MR. POCH:  That's fine.  I think we understand the meaning.  You indicated that your projection right now is  -- Ms. Lynch, I think you said it was about -- for 2006, where the target is 217 million TRC, your current expectation is you will be in around the -- was it 160?
     MS. LYNCH:  For 2006, it was approximately 170.
     MR. POCH:  All right.
     If my quick math is here is right, I think actually you did say it was about 77 -- 78 is probably the number.  Is that right, 78 percent?
     MR. FARMER:  Subject to check.
     MR. POCH:  So this is a situation where you are in the range -- near the threshold of 75 percent which is currently in place for your SSM; correct?
     MR. FARMER:  Correct.
     MR. POCH:  Okay.  Can you tell us:  Have you, in fact, made a strategic decision in the company to either go for it or just to ease off the gas pedal and save the opportunities for the future when you have a better chance?
     MR. FARMER:  The decision we've made is to go forward and to fully pursue DSM in 2006.
     MR. POCH:  So in fact it isn't a demotivator in this year.
     MR. FARMER:  I was pointing out that, for example, if the target had been set on a different formula and was higher, then we may have made the decision not to, because we wouldn't have got any further into the curve.  So for 2006, I accept that it is not a demotivator.  We are trying.
     MR. POCH:  So you are near the threshold.  You are saying it is not a demotivator, and that is in a year where the target is 217, a target which you are indicating is, in your view, unrealistic and shouldn't be propagated for 2007; correct?
     MR. FARMER:  Yes.  I think qualify the answer that we did give.  For 2007 -- you must remember in 2006, with the nature of the SSM formula, the input assumptions that were agreed to in the case apply for the period of the year.  And we have not revised input assumptions.  We're still using 2004 because of difficulties.  So our 2006 target of 217, we think, at 188 is a better target, because there will be the adjustments from the input assumptions and that we hold it is still a stretch.
     MR. POCH:  Okay.  A couple of other -- I apologize for jumping around here, Madam Chair.  I am just following my notes from this morning and then I will get to a more organized presentation of questions.  

You pointed to the Navigant report which you had commissioned, and you pointed to some -- the range of a budget as a percent of revenues for those utilities.  Do you recall that exchange?
     MR. FARMER:  I did, yes.
     MR. POCH:  You would agree with me that Navigant's sample doesn't purport to be a sample of leading DSM utilities.
     MR. FARMER:  I don't know who the leading DSM utilities are.
     MR. POCH:  Whether we can know them or not, it doesn't purport to be that, does it?
     MR. FARMER:  It purports to be a sample of utilities.
     MR. POCH:  All right.  Thank you.
     Now, I can get back to my script.  Let's start with budget.  I'm wondering if you would agree with the proposition that in deciding what's an appropriate budget 

-- let's get back to 10,000 feet here and look at the potential factors.  Would you agree that the main factors - apart from obviously a history of where you have already been - the main factors would be the size of the market opportunity, the opportunity for cost-effective DSM that the market isn't otherwise getting, first; second, any concern about rate impacts; and third, something you stressed a lot, the manageability of any budget ramp-up for you?  That is, can you effectively and efficiently handle that budget?  Would you agree that those are the primary considerations?
     MR. FARMER:  I do agree.  I believe it is Mr. Neme's evidence as filed by GEC, and I think it succinctly puts the priorities in front of us.
     MR. POCH:  Let's touch on some of those.  Let's talk about the opportunity out there.
     I think that it is -- the record is right now you currently are not basing your budget and targeting on a thorough conservation potential study, although you have committed that that is something you see value in doing.
     MR. FARMER:  Yes, that's true.  We don't have a market potential study that I would call "current."  We did one a few years ago which was filed with the Board, but I don't believe that -- I personally don't believe that we got the information in a useful form in that study.
     MR. POCH:  I think we are agreed on that.  That wasn't a particularly helpful study though.
     MR. FARMER:  I agree.
     MR. POCH:  But I think would you agree with me, leaving aside concerns about rate impact and leaving aside concerns about your ability to ramp up, there are more 

cost-effective DSM opportunities out there than are targeted in the potential settlement budget and targets -- as I think you put it yesterday, there is new, you know, people -- there will be new gizmos and there are opportunities.  You just may ‑‑ your position is you are just not in a position to go after them right now?


MR. FARMER:  I believe that there is a lot of CDM potential.  I can't comment on whether it is DSM potential as defined by the TRC threshold.  So I really don't know whether there's more than we're proposing.


MR. POCH:  Okay.  Can you turn up your prefiled at Exhibit A, tab 2, page 14?  I am looking at the figure there, figure 2.


MR. FARMER:  Yes.


MR. POCH:  Just looking at that, would it be reasonable to say it shows a pattern of increasing budget and increasing volume savings?  It is a volume one, as opposed to a TRC one now; correct?


MR. FARMER:  I believe that is true.


MR. POCH:  Right.  Just so we understand this, the budget is the histogram, the bar chart, and the savings is the dotted line; correct?


MR. FARMER:  That's correct.


MR. POCH:  Have I interpreted that correctly?


MR. FARMER:  Yes, I believe so.


MR. POCH:  Okay.  Let's turn to the next aspect of what we look at when we're thinking about what is an appropriate budget, and that is rate impacts.


I note ‑‑ you don't need to turn this up.  I think it is not contentious.  But at the Technical Conference, Union Technical Conference, page 119, line 27, you indicate that no rate impact analysis of your original budget proposal in this proceeding had been done.


Have you done one for the current ‑‑


MR. FARMER:  For 2006?


MR. POCH:  Or the ‑‑ well, you have a proposal for the three years.  Do you have ‑‑ has a rate impact analysis been done?


[Witness panel confers]


MR. FARMER:  No, we have not.


MR. POCH:  Do you have a rate impact analysis of the average annual - that is, over the life of the measures - rate impact of your 2006 DSM program, in percentage terms?


MR. FARMER:  No, we don't.


MR. POCH:  Okay.  I am going to ask you, then, to turn up the exhibit we handed out this morning, K4.4.  And the third page thereof is an interrogatory from -- this is from ‑‑ interrogatory response from Enbridge in their recent case.  It deals with rate impacts.  Do you have that?


MR. FARMER:  I do.


MR. POCH:  You see there that they have given the first year, and then the average over the life of the measure rate impacts, and I think probably the percentages are the most useful columns for this discussion.


Their portfolio and with their rate levels, and so on, was throwing up a 0.46, 0.47 first-year rate impact when all of the spending happens, and that over the life of the measures in that portfolio they were seeing that the impact was a decline in rates, a negative rate impact - in brackets, very slight - of 0.7.


I am wondering:  I know you don't have ‑‑ haven't done the analysis for Union, but would this order of magnitude be what you would expect Union's portfolio would have done?


MR. SMITH:  Madam Chair, I mean, I'm not sure what Mr. Farmer can say, other than guess.  This strikes me as apposite to your comment at the end of yesterday that if this sort of information had wanted to be put before the witnesses, there was every opportunity to ask at the Technical Conference to do that.  Mr. Poch elected not to for some reason.  


I'm not sure that it is necessarily appropriate, having received the answers he has received already in cross‑examination, to then put an Enbridge interrogatory to the Union witnesses.  No doubt he will do the same thing with the Enbridge witnesses and they will be able to answer it, to the extent there is an explanation.


MR. POCH:  Madam Chair, where I am headed I don't think is going to require me to get any precision out of these witnesses on this topic.  I will be frank:  Where I am headed is that ‑‑ I don't think it was contentious - and I was going to two questions away - was we're not facing a rate impact constraint as the constraining factor right now.  And that is where I'm headed.


So if my friend will be content and let me carry on for a couple of questions ‑‑


MR. SMITH:  Well, I actually don't agree with that.  I don't agree that we're not facing a rate impact constraint, because I don't think ‑‑


MR. POCH:  I'm sorry, I'm not asking my friend to give evidence here.


MR. SMITH:  You're asking somebody to give evidence.


MR. POCH:  Yes, I am.  I'm asking the witnesses.


MS. NOWINA:  I think that general question is fair for the witnesses, Mr. Smith.  They can answer it to the best of their ability.


MR. POCH:  Let me lead up to that, then, if I may.


First of all, I take it, then ‑‑ well, your counsel is not comfortable, but are you in a position to indicate whether you would expect Union's rate -- the rate impacts Union's customers are facing from your DSM portfolio to be dramatically different than Enbridge's?  If you don't know, that's fine.


[Witness panel confers]


MS. LYNCH:  Again, we can't say with any precision.  It would depend on the mix of programs and to what customers they're being delivered.


MR. POCH:  Let me put it this way:  The fact you haven't done a rate impact analysis, can we take it that is indicative of the fact that you don't really have a concern right now?


MR. FARMER:  Well, no.  I don't believe you can take that as indicative.  The rate impact test is -- describes rate impacts over a long period of time.


It has been ‑‑ I characterized rate impact a couple of ways, and I think the rate impact that we hear more and more about is the incremental expenditure that the ratepayer must absorb in the short term.  Ratepayers don't necessarily think in the long term, as those of us in DSM do.


Ratepayers, for example, who participate in DSM programs never actually get the TRC value advertised to them, because they actually don't care.  They care about their own cost test, based on the rate, that they will pay as individuals.


So what I can say is that the ratepayer groups -- I believe that the intervenors that represent ratepayer groups have expressed to me concerns on a regular basis about the increase of the budgets, and they're concerned that we can spend it cost effectively.  And we found a partial settlement that we believe is a good balance of increasing demand‑side management, at a measured pace, that will do good for the province.


MR. POCH:  Okay.  My preamble to these questions was we were going to try to deal with the separate concerns seriatim in the hope that we can nail down what the constraints are.


Let me turn you to appendix A of your prefile ‑‑ rather, Exhibit A, tab 2, appendix A, which is the Navigant Consulting report, page 6 thereof.


Do you have that in front of you yet?


MR. FARMER:  I do.


MR. POCH:  Does the hearing panel have that?


MS. NOWINA:  We do.


MR. POCH:  This is a discussion -- just so we understand, if you back up a page, this is a discussion of methodologies.  And under the heading "Setting Overall DSM Targets and Budgets," Navigant - which is the one we're talking about, of course - Navigant has indicated that there are different ways different utilities come at this.  Some set targets or programs first; some set budgets first.  


And this is in the page 6.  The part that I want to look at, at the middle of the page, is for the utilities that set budgets first, which is, in effect, what is going on here, I guess.


I wanted to look at the last bullet point there.  This was from the sample of utilities that they -- that your consultants looked at that fell into that category.  They were describing the process that goes on there, and your consultants indicate that what happens is they set these budgets and then they assess the rate impact.  We're talking about rate impact here.  And they may adjust the budget to meet an informal rate impact constraint.
     The sentence I want to focus on says: 

“Management sets an acceptable rate impact, usually 1 percent to 2 percent increase in average rates.”

     Do you see that?
     MR. FARMER:  I do.
     MR. POCH:  Can we be comfortable we're not hitting that kind of level?
     MR. FARMER:  Well, I don't know whether we are, or not.  I want to point out that the partial settlement does not set budgets first.  The partial settlement sets budgets and targets interactively using formulas for the adjustment of target and budget that have been agreed to amongst the parties.  So in a budgets-first methodology, you would pick some number and then do an analysis of what's the maximum target you can do.  And we have said that doesn't work.  We have proposed an interactive situation.
     MR. POCH:  Sorry.  Your proposal does set the budget.  We know what the budget is going to be under your proposal for the next three years.
     MR. FARMER:  The budget and target-setting methodology work together.
     MR. POCH:  Right.  But part of your proposal is to set budget for the next three years.  It is not going to change.  I understand your target can change as a result of performance, but your budget is set for the next three years.
     MR. FARMER:  Under the proposal, we set -- the outcome of an interactive budget and target-setting proposal would be that the budget would be set for three years.
     We didn't say what's the budget.
     MR. POCH:  I don't want to argue with you.  I appreciate you're not content to just go off and set that budget without having some mechanism or relationship with a target.  I understand that.  I understand you have presented a package.  I am just asking, with respect to the budget component, that is not controversial, you're setting -- your proposal sets out what the budget will be with certainty for the next three years.
     MR. FARMER:  It does.
     MR. POCH:  Okay.  And that budget, is it -- do I hear you correctly that you're not in a position to say whether or not that budget and the expected range of work that you're going to do with that is -- you don't know if you're coming up to this 1 to 2 percent rate impact or not?
     [Witness panel confers]
     MR. FARMER:  Our analysis is not such that we can give a definitive answer.  We suspect that the impact is less than 2 percent.
     MR. POCH:  Okay.  Do you think you’re approaching levels of spending which would lead to rate impacts that would be undue?
     MR. FARMER:  We have heard concerns from the groups that represent ratepayers that increases greater than this would be concerning.  So I don't know what the test of "undue" is.
     MR. POCH:  Well, I've been sitting quietly while Mr. Ryckman did this a few times too and said, Well, we made a deal with the groups that are spending the money.
     Have you actually gone up and done a tally of the membership of the groups you made your deal with, as opposed to sat membership of the GEC?  I mean ...     

MR. FARMER:  I have not done that analysis.
     MR. POCH:  Would it surprise you to learn that environmental groups I represent have tens of thousands of supporters and members in Ontario?
     MR. FARMER:  Actually, no.  No, sir, it would not surprise me at all.
     MR. POCH:  You would agree many of those people are gas customers?
     MR. FARMER:  Tens of thousands, and I believe there is 3 million gas residential customers in Ontario.
     MR. POCH:  Sure.  Would it surprise you to learn that CCC, for example, from the website I looked at yesterday, they're targeting in their business plan to have 50 individual members by 2006.
     MR. FARMER:  No, it doesn't surprise me.
     MR. POCH:  All right.  Thank you.  

Let's turn to the ability to manage ramp-up.  I think it is clear you're saying it is an operable constraint that you feel you are bumping into.
     MR. FARMER:  Yes.
     MR. POCH:  Okay.  Can we agree it is really the primary constraint that you see as coming into play in this three-year period?  For a while, you're not seeking higher budgets for DSM.
     MR. FARMER:  I believe I've repeated a number of times that I'm not seeking higher budgets because we have agreed and because I cannot reassure people that I can cost-effectively spend higher budgets.
     MR. POCH:  All right.  And that's the ramp-up problem, in my shorthand.
     MR. FARMER:  It assumes there is somewhere to ramp up to, Mr. Poch.
     MR. POCH:  Okay.  Can you turn, then, to - where's our chart - to the second page of Exhibit 4.4.  You've had this exhibit for a while; correct?
     MR. FARMER:  Yes.
     MR. POCH:  You can confirm that –- well, look at the Union section.  The board-approved numbers there are correct?  Our math is all correct and the numbers there are correct?
     MR. FARMER:  Yes, I can.
     MR. POCH:  All right.  So I just looked at this, and it struck me that over seven years you've been ramping up 23 percent, and a higher rate in more recent years.  Is that fair?  In your spending.  I appreciate the targets.
     MR. FARMER:  The difference between seven years ago and now is correct.  I wouldn't say over the full seven years we were ramping up.  It is relatively stable.  We have ramped up in the past years, yes.
     MR. POCH:  These are the average annual ramp-up percentages; correct?   It is not just the 51 percent, or the 23 percent isn't the difference from seven years ago to now.  That's the average of the individual year-over-year ramp-ups.
     MR. FARMER:  If I may clarify, then, on the math.  That is the average of the increase from previous lines; so 47, 77 average is.
     MR. POCH:  Right.  Okay.  So we got that right?
     MR. FARMER:  I believe so.
     MR. POCH:  Okay, thank you.  

Madam Chair, I am about to launch into a technical area, so perhaps it would be a good place to break.
     MS. NOWINA:  Good time to break for lunch.  We will do that, Mr. Poch.  

We will break until 1:30.
     --- Luncheon recess taken at 12:30 p.m.


‑‑‑ On resuming at 1:36 p.m.


MS. NOWINA:  Please be seated.  Mr. Poch.


submissions by mr. O’leary:

MR. O'LEARY:  Madam Chair, before we begin, with your permission, there were a couple of preliminary matters.


I believe there is perhaps ‑‑ but there is -- in speaking with several of the parties over lunch, we have identified that we've all received a curriculum vitae which was forwarded to all of us - I understand, from Board counsel that they may not have received it - from a Mr. Atkinson purportedly on behalf of CME. 


Now, it is not clear what the intent is by the forwarding of that curriculum vitae, whether it is the intention of CME to now try and bring an expert forward who has neither filed prefiled evidence nor was he available for the Technical Conferences.  So we're just wondering what Mr. Dingwall's intentions were with respect to Mr. Atkinson.


MS. NOWINA:  Mr. Dingwall?


SUBMISSIONS BY MR. DINGWALL:


MR. DINGWALL:  My first intention is to see if the microphone is on.


MS. NOWINA:  It is.


MR. DINGWALL:  That's good.  I'm doing well so far, then.  

CME is not filing new evidence.  Mr. Atkinson is an additional individual who can speak to the existing CME evidence.  Much in the way that panels in a hearing are made known at the earliest time possible, we have done the same with Mr. Atkinson.


MS. NOWINA:  Will you have a panel of two, then?


MR. DINGWALL:  That's correct, Madam Chair.  


MS. NOWINA:  Any concerns with that?


SUBMISSIONS BY MR. O’LEARY:


MR. O'LEARY:  Yes, Madam Chair.  I guess it is a little unusual, in that there is a procedural order which required that evidence be filed by a particular date, and we understand that the person that was going to speak to that was Mr. Rowan.  In fact, questions were asked at the Technical Conference of Mr. Rowan.


If there is now going to be another person purportedly as an expert put forward, first of all, the utilities have had no advance warning of what this gentleman is going to say, and I question the value.  If he's simply going to repeat what Mr. Rowan is going to say, then I question the efficacy of having a further person here.  


But in our respectful submission, it circumvents the fairness provisions of the procedural rules, and that is that we, all of the parties - it is not just the utilities; there are undoubtedly parties that are in agreement with the partial settlement that are in disagreement with the position taken by CME ‑ would be at a disadvantage.  Whereas, they have presented their case and had their experts made available for the Technical Conference and have responded to the oral interrogatories, if I can call it that way, Mr. Atkinson will be simply someone out of the blue.


Our position, Madam Chair, is that if CME is proposing to call Mr. Atkinson, he must seek ‑‑ CME must seek leave and that I believe parties would wish to speak to that.


MS. NOWINA:  Any other comments?


SUBMISSIONS BY MR. SMITH:

MR. SMITH:  Madam Chair, if I might just add to Mr. O'Leary's comments.  I believe that Consumers Council of Canada, in fact, asked an interrogatory of Mr. Rowan at the Technical Conference asking specifically who was the author of the evidence that CME was putting forward, and the answer to the question was Mr. Rowan.


So Mr. Atkinson apparently is not the author of the evidence.  He hasn't put any evidence forward, and that's what's particularly unusual about the case.  It would be as though at the last minute we called someone forward, put him on our panel, and said he's here to support our evidence without a report at all.


So it is, well, highly unusual, to say the least.


MS. NOWINA:  Anyone else?  

Mr. Shepherd.


SUBMISSIONS BY MR SHEPHERD:

MR. SHEPHERD:  Madam Chair, while I share the concerns of Mr. O'Leary and Mr. Smith, I think this is an unusual situation, in that (a) this is a policy proceeding, a generic proceeding to set some policies; and so it is probably appropriate for you to be a bit more -- more functional about how you interpret the Rules; and, secondly, I think it was clear to all of us that Mr. Rowan's evidence was primarily about accounting issues, or largely about accounting issues, anyway, and Mr. Rowan is not an accounting expert and so that was the major weakness of his evidence.


It seems to me that it's not fair to ‑‑ it's not a good idea for the Board to say, Well, we're going to let everybody jump on Mr. Rowan for not being an expert but we're not going to let him bring an expert to talk about issues that may be relevant to the policy issues you're dealing with.  


This is about getting the best information.  So if you have to push the rules a little bit in a situation where you would never do this in a rate case, I think you probably should.  

Those are our submissions.


MS. NOWINA:  Thank you.  Mr. Millar, do you have any comment?


MR. POCH:  Madam Chair, if I may?


MS. NOWINA:  Mr. Poch.


SUBMISSIONS BY MR. POCH:

MR. POCH:  The situation is not ‑‑ we have a situation where, for example, Mr. O'Leary has advised us the night before last that we're going to have another witness on his panel, Dr. Violette, who had filed a report in this case, but we're told that what he is going to be speaking to is not that report.  It's, in effect, reply to concerns being raised about the partial settlement.


And I don't object, because I think he would be entitled to do that in reply.  You know, clearly Mr. Neme is going to speak to the partial settlement.  Clearly he would be able to do that in reply.  I think it's just good practice.  He's doing it now.  He's doing it with the panel.  We're proceeding in an orderly fashion.  I have no objection, and I think it is a fine way to proceed.  


I think it's a similar situation.  In a policy situation such as this, we have nominal applicants.  We don't have an applicant.  In a sense, Mr. Rowan is in the same position as the company.  He's putting forward an alternative.  He could wait to get attacked on his credentials.  We all know it's coming, and then my friend, counsel for CME, could bring a witness in reply later.


So I think it is just practical that we hear it all at the same time and it is more expeditious.


MS. NOWINA:  Thank you.  Mr. Millar.


SUBMISSIONS BY MR. MILLAR:


MR. MILLAR:  Madam Chair, I had only this:  It is at the Panel's discretion to grant leave to panellists for a witness panel.  It is also the Board's requirement that evidence be prefiled.  So to the extent that Mr. Atkinson is adopting and only speaking to the evidence that is already in the report that was filed by Mr. Rowan, I am not sure I have any objection to that.


What I would caution, I guess both CME and the panel, is that this shouldn't be viewed as an opportunity to get fresh evidence in, where it could have been prefiled before, because, as Mr. Smith and Mr. O'Leary correctly pointed out, we already went through -- I guess it wasn't an interrogatory process, but the Technical Conference, in effect, stood for the interrogatory process, and they haven't had a chance to question Mr. Atkinson about anything personally.  And to the extent that he is bringing forward any new evidence, I think that could be a problem.


MS. NOWINA:  Mr. Dingwall, is Mr. Atkinson bringing forward new evidence?


MR. DINGWALL:  No, Madam Chair.  It is our intention to, as many parties have done, file in advance the examination-in‑chief so that parties have the opportunity to see that before the witness is presented.  

Additionally, I understand from Mr. Rowan that he had had a number of discussions with Board Staff, well in advance, indicating that he was seeking to bring forward someone with more of an accounting designation.


The substance of the CME evidence that we're addressing is that a particular point of cost causality in the determination of a budget is not rocket science and is sort of a fundamental accounting principle.  

At the Technical Conference, Mr. Rowan was asked a number of questions about his accounting background, which he has none.  So at the end of the day, the statement is going to be:  Is this rocket science or is this fundamental?  And the witness will speak to that from an accounting perspective of what's already filed.


MS. NOWINA:  Thank you.


MR. DINGWALL:  I don't see that as being much different from what happens in the ordinary course, where parties give notice of voluminous reports that they are going to cross on, thereby bringing those reports into the record.  And in context of the process here, yes, we do have an ability to bring witnesses by way of reply.  But this is far more fluid, and I don't think it is out of the ordinary course of what regularly happens before this Board.


MS. NOWINA:  Thank you, Mr. Dingwall.


MR. POCH:  Madam Chair, I'm sorry to speak out of turn, but I wonder if I could, through you, suggest it might be helpful if we just had an indication from CME what, on the issues list, specifically -- the issues that his proposed witness would speak to.  That might shed some light for us.


MS. NOWINA:  Mr. Dingwall, can you do that?


MR. DINGWALL:  One moment, Madam Chair.  
SUBMISSIONS BY MR. O’LEARY:
     MR. O'LEARY:  Madam Chair, perhaps while Mr. Dingwall is thinking, I might just offer an additional comment, and really it is in response to Mr. Poch's.
     There is, in my respectful submission, no analogy between our proposal to have Dr. Violette give evidence here in that Dr. Violette prepared a report, which was not only part of the Enbridge prefiled evidence in this case, it, in fact, has been replied upon by some the parties in the cross-examination you saw a few moments ago.
     We are in the position, as the utilities in this case, of, in effect, not having the ability to respond to the intervenors that filed their evidence at the second stage.  So we, as the utilities, filed first.  The intervenors responded with their evidence at that point.  We have had no opportunity formally to respond to that.  So it is appropriate to allow the parties that have not had a chance to respond to do that.  

But what, in effect, is happening, if Mr. Atkinson is allowed in, is in effect they have had two kicks at the cat.  They filed their evidence earlier on and have gone through the Technical Conference portion of it and then they're going to bring forward someone that I heard Mr. Dingwall say he's going to not introduce any new evidence.  Then we come back to my submission about whether it is of any help to the panel.  But we all know the difficulties of keeping constraints on that.
     So I suggest that it is not a fair analogy to suggest that Dr. Violette in any way represents something that is out of the ordinary and that what CME is proposing is.  I did not hear from Mr. Dingwall that, in fact, he is coming forward to address any portions of the settlement proposal.  If there is nothing that has changed, their position, as I see it, as expressed in the various settlement proposals, remains the same.  So there is nothing new that is coming to support that couldn't have been anticipated early clear.
     MS. NOWINA:  Let's go back to Mr. Dingwall for the issues.
     SUBMISSIONS BY MR. DINGWALL:
     MR. DINGWALL:  The issue primarily that Mr. Atkinson will be addressing will be issue 1.3, which is, How should financial budget be determined?  That has some correlation in a minor way to the issues of program cost, DSMVA, and SSM, but only from a definitional aspect, not from a detailed or subjective aspect.
     MS. NOWINA:  Thank you.  I'm going to confer with my colleagues for a moment.  Any other comments before I do that? 
     MR. POCH:  Madam Chair, I can only say that, unfortunately, that from Mr. Dingwall didn't clarify it for me at all.  I thought he said it was going to be about - what was the phrase you used? - cost causality, which I assumed had something to do with the allocation of where things end up between the classes.  My concern was -- but I am not sure I understand what this evidence is about now.
     MR. DINGWALL:  To respond to Mr. Poch's question, cost causality is in no way seeking to address costs between classes.  It is simply:  What costs should be identified as DSM costs, and identified within a budget for a definitional purpose, and then how those specific terms are then applied when you look at the other mechanisms.
     MR. POCH:  Okay.  I'm sorry.  Then I interpret that as the matter that Mr. Rowan addressed, which is the inclusion of things matter, such as lost revenues?
     MR. DINGWALL:  That's right.
     MR. POCH:  Thank you.  That is helpful.  Thank you, Madam Chair.
     [Board panel confers]

DECISION:
     MS. NOWINA:  Well, it is an unusual situation and our goal is to get the best information we can to make these generic policy decisions.  So from that point of view, we will allow Mr. Atkinson.  

I assume you are asking leave to have Mr. Atkinson included, Mr. Dingwall?
     MR. DINGWALL:  Given that the procedure has been clarified to that extent, yes, I am, Madam Chair.
     MS. NOWINA:  Let me make some caveats though.  We don't think evidence in-chief is appropriate, except to qualify the witness.  Other than that, your witness will respond to cross.  So that would be the limit of his involvement in the proceeding.
     MR. DINGWALL:  Madam Chair, just with respect to the evidence in-chief:  I notice that a number of the other parties have had an opportunity to present their view of the settlement and their positions with respect to the settlement, something that we have not taken advantage of at this point.
     In such a course of action, that usually involves, then, having a witness then give their view as to why they believe the unsettled portion that they are objecting to is inappropriate.
     MS. NOWINA:  You can do that with your other witness, Mr. Dingwall.
     MR. DINGWALL:  Thank you, Madam Chair.
     MS. NOWINA:  Mr. Poch.
     MR. SHEPHERD:  Madam Chair, sorry, I have a preliminary matter too.
     MS. NOWINA:  Sorry, I should have asked if there were preliminary matters.
     MR. SHEPHERD:  I always wait to see if you're going to, and then I have.
     PRELIMINARY MATTERS:
     MR. SHEPHERD:  I actually have two.  The first one is a simple one:  As I advised the Board earlier this week, I have canvassed my friends as to whether Mr. Chernick is required.  And I have now just received word from the final one of my friends that he, as well, does not need Mr. Chernick; therefore, I am asking the Board's leave not to bring him as an oral witness.
     MS. NOWINA:  Certainly, Mr. Shepherd.  Thank you.
     MR. SHEPHERD:  Is that a yes?
     MS. NOWINA:  Certainly, he does not need to attend if no one wants to cross him.
     MR. SHEPHERD:  Thank you.  The second is -- and I understand from my friends that nobody else is as outraged about this as I am, but I will mention it anyway, because I'm like that.
     And that is:  I think Mr. Poch crossed the line when he suggested that some of us may not be as representative of the ratepayers as the utilities were describing us.  I am sure he didn't intend to imply as much as he implied, but frankly, Madam Chair, my organization has seven members, but those seven members are the associations that represent all of the schools in the province.
     Now, we don't have the millions of members that the association members of VECC have, but we certainly have enough that it is legitimate for the utilities to say that we're their ratepayers.  I think Mr. Poch's implication was inappropriate.
     MS. NOWINA:  Thank you, Mr. Shepherd.  We take your point.  

Any other preliminary items?
     MR. SMITH:  No.
     MS. NOWINA:  Mr. Poch.

CROSS-EXAMINATION BY MR. POCH (CONT’D):
     MR. POCH:  I won't bite at that one, Madam Chair.
     When we left off, panel, we were discussing -- we had been discussing what led to your budget number and the kind of ramp-ups that you have experienced in the past.  Now I want to turn to how the budget inflator - the 10 percent number for Union, I believe 5 percent for Enbridge that is embedded in your formula - drives -- what the implication of that is in the way it drives the TRC target.  So let me just recap quickly.
     The partial settlement says that the reason for the differential between Enbridge and Union, 5 percent in their case, 10 percent in yours is to narrow the gap in spending between the two utilities.  I think you indicated you would expect, all else being equal, that would cross over in about five or six years?
     MR. FARMER:  That is correct.
     MR. POCH:  So this formula drives towards equal budgets.  And the TRC is, in turn -- the TRC target is, in turn, driven off a combination of that and recent experience as it goes; correct?
     MR. FARMER:  That is correct.
     MR. POCH:  All right.  So can we agree that Union's DSM opportunities aren't growing twice as fast as Enbridge’s?  The reason for the differential, the 10 versus 5, is not because of the -- that is reflective of a differential in the rate of growth of your opportunities; it’s more to get these budgets to align.
     MR. FARMER:  I do agree that that's a likely statement.  I think, though, that it's very important to recognize that Union and Enbridge are in extremely different points of experience and that Enbridge have had SSMs at higher budget levels for much longer than Union, so I think that is the only qualifier.
     MR. POCH:  Okay.  There are other factors.  The market might be changing in a different rate than yours, but the principal difference between the 5 and 10 is this searching for commonality in the budget?


MR. FARMER:  It was motivated to find commonality, yes.


MR. POCH:  Okay.  Similarly ‑‑ well, let me leave that.  I think I have covered it.


Now, I know you may be tempted to say you can manage change twice as well as Enbridge, but that is not the genesis of the proposal either.


MR. FARMER:  That is correct.


MR. POCH:  You do have a TRC target lower in 2006, in part, because it focuses -- sorry, a higher TRC target in 2006, in part, because it focuses more on the industrial sector.  We have seen that's more TRC per program dollar and because your customer makeup is more industrial.  Is that fair?


MR. FARMER:  I think that is fair, yes.

     MR. POCH:  Okay.  So is it fair to say that the formula implicitly places a move toward common spending and, to some extent, therefore, more similar TRC targets, but primarily a move towards common spending?  It places that goal ahead of the ‑‑ of alternative goals we might have, that we might suggest, such as taking advantage of all of the cost‑effective efficiency opportunities or the two utilities ramping up at the highest rate that you individually could manage?  Would that be ‑‑ let me stop there and ask that question.


MR. FARMER:  I think it is fair to say that the principle of getting spending to align would take precedence over some of the other factors.


MR. POCH:  Okay, thank you.  

Let's turn to issue 1.4, the plan targets.  You talked about this a bit already.  $188 million of TRC was your original 2006 proposal, which the Board rejected in favour of 217; correct?


MR. FARMER:  That is correct.


MR. POCH:  All right.  And the 217, am I correct that that was the equivalent of the 188, with two sets of changes?  One was you went for the more recent and higher Enbridge avoided costs, and the other was that we agreed not to debate new assumptions at that stage of the game in the 2006 proceeding, the ones that we're still waiting to debate - and perhaps there will be others - and we fell back to pre-existing 2005, the ones you used in your 2005 plan.


There may have been some other modest changes, but that was the principal difference between these two numbers? 


 MR. FARMER:  Yes.  I just want to be clear.  You had asked me if the 188 was derived off of those two factors.


MR. POCH:  No, that the 217 was basically your 188 grossed up for the ‑‑ let me just take the 217.  The 217 was the 188 grossed up for the difference by using Enbridge's avoided costs?


[Witness panel confers]


MR. FARMER:  Unfortunately, that is not my recollection.  And although it wasn't that long ago, and so I should probably have a better recollection, the 217, as I recall the wording of the Board, was a function of the differences in budgets and productivity factor.  I don't recall the 217 being derived off of the two factors.


MR. POCH:  Okay, let's not attribute anything to what the Board did.  Let me ask you this:  The 188 was a number that had in it whose avoided costs?


MR. FARMER:  The 188 ‑‑


MR. POCH:  That you put forward initially.


MR. FARMER:  The 188 in our original submission was the target that we felt was a stretch.  And it was the same, actually, as the target that we had formerly.  It was adjusted for the avoided costs of Enbridge, because that is what we agreed to use for expediency, because our previous year target actually was 100 million, you know, because we were using old avoided costs.


We agreed to lock down the assumptions in the 2004, because there wasn't time in the transition plan to consider the raft of new assumptions.


MR. POCH:  So the 188 already took account of Enbridge's avoided cost numbers.  Are those the numbers we are now talking about using in your partial settlement?


MR. FARMER:  Correct.


MR. POCH:  When I say “those numbers,” I mean those avoided costs.


MR. FARMER:  Correct.


MR. POCH:  Okay, thank you.  That clarifies that.  Thank you.


You have also indicated that there is ‑‑ the assumptions you expect to be using in this plan are going to be different than the ones the Board assumed for the 217.  Is that what you said?


MR. FARMER:  Yes.  We would be using the most up‑to‑date assumptions, which would include the results of our audit for our 2004 programs, and we're currently in an audit of our 2005 programs.  And a lot of those assumptions were part of the document that we did file.


MR. POCH:  All right.  We have yet to examine those assumptions?


MR. FARMER:  That is correct.


MR. POCH:  All right.  I want to ask, then, if those assumptions -- if your assumptions you end up that you have in your mind, some of which you have prefiled, the ones that were common and so on, if they get altered in the next few months as part of a implementation process.  Say the custom free rider rate changes from 30 to -- goes up to 50 or goes down to 15; if they get altered in some significant fashion like that, will you be planning to stick with the TRC target of 188 for 2007 and so on?


MR. FARMER:  That is correct.


MR. POCH:  Okay.


Now, issue 1.4 as it appeared on the issues list:  Should there be planned targets, and, if so, should they be volumetric or based on total resource cost values?


I think -- I hasten to add I am not placing any blame here, but I think it is fair to say that both you, in your prefile - because of the wording of that issue and because you weren't seeking a target - and indeed GEC took that -- we took that at face value and we didn't ‑‑ neither of us wound up and sought or filed the kinds of materials that we would go into a detailed analysis of if we were actually picking a target and looking at assumptions and looking at a portfolio; correct?


MR. FARMER:  That is correct.


MR. POCH:  We can agree that -- we all in a sense agreed we're not going to do that right now.  We're going to do that in the next phase, or in the rates case or whatever, whatever the Board directs us.


MR. FARMER:  I believe that's correct.


MR. POCH:  And the difference between your position and our position is you're saying, despite that, you're comfortable going ahead and setting a target, a starting target, for your ratcheting system; correct?


MR. FARMER:  Yes, we're very comfortable.  The issue of the using the TRC based on historic with the escalator does place that sort of difficulty on the utility that as programs become less or more effective, we have to make up those differences.  We accept that risk.


What we're not comfortable with – and, in fact, I think a lot of parties are not comfortable with - is the way targets have been historically set, where you have to build up these volumetric targets using program mixes with very different levels of TRC per program, and that establishes a TRC target which, if you change your program mix, it can give you a result of a wild swing from the TRC you originally assumed.  


So we think this is a necessary compromise to target-setting that makes it fair.


MR. POCH:  Okay.  I think we got your 2005 evaluation report about three weeks ago, so that is yet to be vetted by parties, by the audit committee or the auditor; correct?


MR. FARMER:  That's correct.


MR. POCH:  All right.  Obviously the only information we have about how you're doing in 2006 was your comment earlier today about you think you're heading towards 170; right?


MS. LYNCH:  That is correct.


MR. POCH:  Okay.  I think you have already acknowledged you haven't provided a potential study, but I think you have agreed, in 8.4, that it's appropriate that one be filed as part of the planned filing?


MR. FARMER:  There's two parts to that.  We do agree that potential studies are very useful, and I think it should be a practice going forward so they be filed as part of the multi-year plan.  We have also said that 2007 is a difficult year, and that we may not have time to conduct a study of that scale.
     To say that we didn't, we don't have a study; we did conduct a study a couple of years ago that I think is still valid but is not, as I admit, particularly useful, and I would like to see a much better potential study for future years.
     MR. POCH:  Can you turn up your prefiled at Exhibit A, tab 2, page 14.
     Do you have that?
     MR. FARMER:  Yes.
     MR. POCH:  I'm looking at the bottom of the page there.  It discusses some of the targets that were reflected in the figure above which we looked at earlier.
     It says:  

“These targets have been established largely as a result of difficult negotiations and subsequent settlement agreements approved by the Board.  The targets have not been increased as a result of a disciplined approach to target-setting, such as a market potential study.”

Do you see that?
     MR. FARMER:  I do.
     MR. POCH:  Can I take it from that that, at least when you filed this evidence, it was your opinion that a disciplined approach to setting/developing targets would be -- would be one best informed by a market potential analysis?
     MR. FARMER:  I believe –- firstly, I would agree with your statement.  I believe that a disciplined approach using market potential would create a confident target.  I believe it would be a very difficult process, because these studies are difficult to interpret.  There are still the same pressures that exist on the target, to believe that the potential is higher or lower.
     What I can say in the potential studies that I have seen, none of them say the number is X.  They say that the number is more.  And they talk about periods in the future, so that they don't yield results that you can actually determine.  I think it becomes an input into target-setting; in establishing our target-setting methodology and looking for a rules-based approach, we interpreted that to mean a rule that you could, in essence, turn a crank with a set of defined input and come up with an output that a lot of people wouldn't have to debate as to be the appropriate output.  It is the target for the purpose of establishing benchmark.
     MR. POCH:  Well, can we agree that at the point when this Board has said, We're going to look at multi-year DSM as a possibility - that's what this hearing is called for - we're going to step back and look at the rules again -- wouldn't that be the point when it would be most critical to have the kind of information, that forward-looking information that such studies give us, as context so we could decide what the trajectory should be for budget and target?
     MR. FARMER:  I believe that those studies would be informative.
     MR. POCH:  I'm sorry.  They would be …?
     MR. FARMER:  Informative.
     MR. POCH:  Okay, thank you.
     Now, just in terms of the formula you picked, the starting point for the formula you picked, we distributed Exhibit K4.5.
     First of all, Ms. Lynch, did I interpret -- I think it was your comment perhaps yesterday or the day before where I think you said you actually spent about 8 million in 2005; is that correct?
     MS. LYNCH:  We spent just over 8 million in 2005.
     MR. POCH:  The other numbers here are correct as described?  I appreciate some are projected and some are budget and some are actual.
     MS. LYNCH:  Yes, they are.
     MR. POCH:  Just in terms of -- we all appreciate, first of all, that 2006 is pretty early days for 2006 to say what you're going to end up spending and getting.  Fair?
     MS. LYNCH:  That is fair.  It is our best estimate at this point.
     MR. POCH:  The history of DSM practice in Ontario tells us that often it is the final quarter of the year where a lot of the results, a lot of the TRC comes in.  I'm not saying you haven't accounted for that, but until we get through that final quarter, there is a lot of uncertainty.
     MS. LYNCH:  Yes, that is correct.  And to your point, we have accounted for that in our projection.
     MR. POCH:  Sure.  So just looking at the difference from 2005 to 2007, then - and that's what we've done in the bottom line - would you agree with me that the proposed target is 17.5 percent higher?  

I take that with the caveat that Mr. Farmer has also given, that you are assuming you're going to be saddled with different assumptions somewhat there, but that the budget has gone up 112 percent; is that right?
     MS. LYNCH:  Based on these numbers, yes.
     MR. POCH:  All right.  You don't have a quibble with these numbers?
     MS. LYNCH:  No.
     MR. POCH:  All right.  Thank you.  

At the same time as we're seeing this initial 2007 numbers that we have just described in your agreement - partial agreement - that is a budget scale-up and that far outstrips the target scale-up, I take it another new feature of the agreement is if you just get to 75 percent of this budget - you don't even have to get to 75 but at 75 percent of this target, rather - you could get out and spend this budget, which is more than twice as large as it was in 2005; and if you get to 75 percent of your target, you're going to be rewarded two and a quarter million dollars.  Correct?
     MR. FARMER:  That is correct.
     MR. POCH:  And the previous SSM, you would only be starting to get reward at that point.
     MR. FARMER:  That is correct.
     MR. POCH:  Okay.  In addition, you may also earn market transformation incentives of up to a half million dollars, depending how that shakes out in the implementation?
     MR. FARMER:  Yes, that is correct.
     MR. POCH:  Okay.  Now, I wanted to look at another detail of the proposed ratcheting formula.  Once it gets rolling -- I appreciate there is a phase-in period.  But once it gets rolling, the concept is you will have a three-year rolling average of the TRC achieved, and then you -- so you take the average of the previous three years, and you escalate it by the budget escalator, which in your case is 10 percent times 1.5.  So you escalate it by 15 percent; correct?
     MR. FARMER:  That is correct.
     MR. POCH:  All right.  Now, if you're moving along -- and it might be helpful just to look at K4.4 here, the first page.  

What we've done here is we've just -- it says:  "Actuals."  Perhaps we could have picked a better word for that column.  But the idea here is we're just saying if you actually meet your target in every year, this is the pattern that would emerge; correct?  If you just come in right at 100 percent.
     Mr. Shepherd, I think, did this for us already.  Hopefully my numbers are the same as his.
     MR. FARMER:  Yes, I'm referring to Mr. Shepherd's document, actually, to confirm.  And they look to be the same.
     MR. POCH:  Okay, great.
     So if you are on that trajectory, I picked that because it is the simplest to use as a way of talking about this, not because I'm suggesting you necessarily are going to hit 100 percent each year.  


Once we're into the process and we keep going, as I think is your intent, if you are hitting your target every year, then the average of the rolling three years would be the same as the middle of the ‑‑ the middle year of the three years; correct?


MR. FARMER:  It would approximate the middle of the three.


MR. POCH:  It would approximate the TRC from two years prior; okay?  Your budget will have gone up 10 percent, and then a compounding 10 percent above that.  So it will have gone up 21 percent?


MR. FARMER:  That is correct.


MR. POCH:  And you've picked an inflator of 15 percent, rather than 21 percent.  Do I take it -- perhaps I could just ask you -- but I have taken it that that is some -- part of the intent of that is to recognize this notion of diminishing returns?


MR. FARMER:  Yes, that is correct.


MR. POCH:  All right.  So implicit in your formula is -- I might be expressing this wrong, but an assumption that on the marginal TRC - not on the full, but on the marginal TRC that you're getting each year - one would expect that the marginal TRC will be about 25 percent less program dollar cost effective than the embedded TRC.  I'm saying 25 percent.  That's the ‑‑ I have characterized that is the proportion that 15 is of 20, as opposed to of 21, but something of that order?


MR. FARMER:  I recognize how it's put together.


I'm not sure that I agree, because the entire portfolio gets more difficult to achieve as the input assumptions change and as the number of participants go down.  So I don't characterize it as just being against the marginal TRC.


MR. POCH:  Fair enough.  The TRC in its full makeup on average, compared to the TRC two years ‑‑ the year prior, you're saying -- or two years prior, you're saying, is a ‑‑ on average, it's going to be -- the ratio of 15 to 21 is reflective of what you think is happening to how ‑‑ to the program dollar cost‑effectiveness, that ratio of program dollars to TRC?  That's your proxy for that change?


MR. FARMER:  No.  I think that you're making it sound more complex than it is.  It was a number that was agreed to to reflect diminishing returns and doesn't consider that the entire portfolio is going to be more difficult to achieve and that there is still the need for investment in new things.


So I don't want to suggest that there was a tremendous amount of science behind it, because, as I have already said, I don't have any knowledge of an actual formula based on historic results.


 MR. POCH:  You basically agreed on a number reflective of the various factors you think would give you diminishing program dollar returns?


MR. FARMER:  I believe that is fair.


MR. POCH:  Now, I won't repeat it.  Mr. Klippenstein took you through an examination of one of the impacts of having a ratcheting mechanism.  If I could perhaps ‑‑ perhaps you can agree with my paraphrase, and I will try not to make it as strong as he has phrased it.


But in examining the lure of the SSM in any given year, something that you are going to be aware of - because you've already told about how your company is interested in long‑term earnings, trying not to be short‑sighted about this - is that higher achievement in a year will haunt you for three years to come, and, indeed, lower achievement in the year will benefit you for three years to come?


MR. FARMER:  No, I don't actually agree.  Higher achievement represents an enhanced ability to achieve, and that can mean that the market has improved, that the opportunities have improved or the utility has improved.


So I don't think it haunts us, because that's our new level of competency, the new resource available to us through budget.  

Similarly, lower achievement over the years, if it were consistently below - because that's the nature of the market - it gets much more difficult.  There is downturns, whatever, that causes those results to be under.  It doesn't mean that it is getting easier.  It just means that the reality is a different number to what it was.


If I may finish.  The thing we alluded to is that you could theoretically try to blow away the number in one year.  If that were possible, then that would haunt you.  So it takes away that possibility that you would do the short term, because you would pay the price in the long term.  I think that is all we were trying to get to.  I don't believe you gain the target relative --


 MR. POCH:  I won't debate the use of the word "haunt."  I don't think you agreed with Mr. Klippenstein as to what the effect is.  There's an effect for three years.  To the extent you vary from above or below 100 percent, there is an effect on what the -- where the curve is going to sit for the next three years, and you would be aware of that effect when you are considering how the -- what the incentive to the company is.  You're not unaware of that fact?


MR. FARMER:  We're certainly unaware of the effect on the target.  So I just am uncomfortable with the notion that somehow we're managing the target in a current year so as to affect the target in a future year, because I don't think that is what is occurring.  So I don't think you're suggesting that.  I am just uncomfortable with that notion.


MS. NOWINA:  Mr. Poch, before you continue with this line, Mr. Klippenstein spent a lot of time on this topic, and I really don't want to spend a lot more time.


MR. POCH:  I fully agree.  I was just going to move on.  I was just going to draw one other point about that, that, indeed, in the previous system where we set targets annually, one could make the same point; that you knew the better you do, the more likely it is that, you know, Mr. Gibbons and Mr. Millyard are going to get to you in the ADR room and say, Look what you did, we want a higher TRC and a higher budget.  


So, in effect, you had that problem already, didn't you?  To the extent it was on your radar screen, it was already on your radar screen?


MR. FARMER:  Yes.  Certainly, in setting targets, previous performance comes in.  I think what can give people comfort, at least in my opinion, that the utilities accept this methodology is, if you look at the calculation itself, because it is the last three years of actuals, we won't actually know the target until June of the year that we're in.


So really we're saying that the mechanism gives us enough comfort that we're willing to take the consequences.


MR. POCH:  My point was narrower.  The difference is now it is automatic you know there is going to be an impact, as opposed to whatever presumption you made about the -- what the next rate case would bring about importing the past into the future.


But I don't even think I need a reply from you on that one.  Let me propose an alternative for you.  Bear with me.

Say the Board in its decision in this phase of this process sets out a three‑year budget for you, okay.  So analogous to your settlement agreement, we get a three‑year budget, perhaps the most contentious, which -- first of all, you agree setting a budget is the most contentious thing the parties have to deal with?  Setting the budget has been the most contentious issue?


MR. FARMER:  My experience is that setting the target, actually, Mr. Poch; but the budget has been no picnic either.


[Laughter]


MR. POCH:  All right.  Say the Board gives you a three-year budget, and let's assume the Board gives you some broad guidance on what it expects on things like the minimum proportion of budget that should go to market transformation, just as your proposal has attempted to do; correct?


MR. FARMER:  Yes.


MR. POCH:  You have got this hypothesis here?  Then they direct us all to go away and embark on the plan, implementation process - a plan, development and implementation - the thing leading up to the filing of your ‑‑ where you ask the Board for approval of the actual plan.


And that is to include the work on assumptions that we all agree needs to happen, and it includes the work on specific market transformation program and incentive design, work that we all agree needs to happen.  And they say to us, We want you to try or we will impose three targets for the next three years.  

At the outset, as part of plan implementation, my question is:  If we took that approach, wouldn't that get the economy of a single target-setting exercise -- first of all, it would obviously, I think you agree, get the economy of a single target-setting exercise, rather than three annual efforts; and a single budget-setting exercise rather than three annual efforts?  That's implicit.  You grasp that that is part of my hypothesis.
     MR. FARMER:  I certainly accept we would be doing that every three years.
     MR. POCH:  Okay.  So -- I'm giving you a hypothetical where we have achieved that economy.  Would you agree that that approach would avoid any problem that we may perceive with the company wanting to temper its performance in any given year because it will haunt them in the subsequent years in the plan?  That by setting both the budget and, more specifically, the target in advance and not having it ratchet and not having us come back before the Board each year, you would know what that target in the future is but your performance wouldn't change that target.  So it wouldn't disincent you to go after more TRC or incent you to go after, to temper your efforts.  Is that fair?
     MR. FARMER:  Your statement is fair.  Again, I'm not comfortable with the notion that we would manage results in a current year to effect future years because, frankly, the mechanisms work to get us to do more, and so I don't like that.
     But I do want to point out a couple of things about your proposal:  As you go further into the future, the ability to set the target becomes less accurate, if you say.  

It's no different to the outlook that Ms. Lynch provided.  At the beginning of the year, the outlook is X, but it is plus or minus 90 percent.  As you get to the nine-month period, it is plus or minus 20 percent.  And as you get to December 31st, it is plus or minus nothing because you know.
     The same applies to target-setting, is that I can only predict the future.  So year 1 we might be able to predict relatively tightly because it is the coming year and we have very good information.  Year 3 it would be very vague, so you have a big broad band around what the utility believes to be its best case, and the utility would be motivated to bring it to the bottom of the band and certain intervenors would be motivated to bring it to the top and I believe we would have the status quo.
     MR. POCH:  Let me ask you some -- get your impression on this from other perspectives.  Would this approach that I have just set out for you -- wouldn't this allow us to inform the target-setting discussion with some better insight into program and portfolio and assumption details, something we don't have today?  It would give us time to enquire into and test that information?
     MR. FARMER:  When you say "today," you mean in the partial settlement proposed?
     MR. POCH:  Yes.
     MR. FARMER:  It would have an effect of being able to use more judgment in the setting of a target.  The methodology we've proposed includes the best available information implicitly, rather than people debating what the best available information is.
     MR. POCH:  Well, you've picked this number 188.  And surely you would agree there is a kind of disparity in access to information right now about what your portfolio is going to be, what your -- you know, all of the details.  We haven't had a chance.  We’ve agreed.  This process wasn't set up in this phase for us to delve into all of that, was it?
     MR. FARMER:  I certainly accept it, and I advocate the target-setting methodology as being much more accurate in the future period than it is in the transition period in which we all accepted that you need a starting point and a transition period.  So I don't pretend that it is a perfect target in the short term.
     MR. POCH:  Okay.  Now, let me give you another suggestion:  What if in this phase, as a result of this phase in this process, the Board gave you guidelines on lost-opportunity spending, perhaps some constraint, loose constraint or trajectory that they expect in that regard.  Would you agree that that would tend to -- it would, of necessity -- it would narrow debate about what an appropriate target is, because it would be a constraint upon you?
     MR. FARMER:  I don't favour guidelines beyond those that we have proposed that direct spending, for reasons I think I gave in the planning discussion.
     MR. POCH:  Yes, I certainly appreciate that you don't want to have any less flexibility in constraints.  In my next two or three questions, I will take that as a given in your answer.  

My question to you was really:  If the Board, to the extent the Board does constrain you on something like lost opportunities -- perhaps more of a constraint for Enbridge than for you -- that that narrows the discussion about what the portfolio should look like and therefore what reasonable targets might be, to some extent.
     MR. FARMER:  To some extent, I agree.  To the extent that the Board orders something different to that proposed, it will change what we do, yes.
     MR. POCH:  Similarly, the Board could give as a rule on inclusion of low-income customers some version of proportionality that we can all agree is in the ballpark.  And, again, wouldn't that make a discussion of targets amongst the parties a more tractable discussion?  
     MR. FARMER:  No.  I actually don't agree, because in that example, if we take the two examples that are put together and say that the Board orders some percentage of the budget to be spent on lost opportunities and some percentage of the budget to be spent on low-income customers and the rest to be spent on whatever is the rest.  It sounds to me like we will have three distinct target exercises to go through, because we want to be sure we're utilizing the low-income to the best advantage of the 

low-income customers and the lost opportunities to that best advantage and whatever else I assume to be the market transformation to that best advantage.
     So to me it sounds like a more complex target discussion.
     MR. POCH:  Now, if this Board was inclined to, for example, want to give you some guidance or target that you should move towards over the three-year period for allocation of your spending as between customer classes, I take it that one advantage of the approach I have set out is you could then meet with the parties having designed a portfolio with that in mind, and then the target-setting would be informed by that as well.  Would you agree?
     MR. FARMER:  In this scenario that you propose, I agree.  We would meet with the parties and attempt to come up with the target that is most appropriate, which I'm sure would be contentious before the Board.
     MR. POCH:  All right.  The approach that I have set out, it would be compatible with a number of SSM approaches.  Would you agree we could, for example, take the methodology Mr. Klippenstein offered and we could alter it; we could change his 1.1 to deal with diminishing returns as a result of the Board's guidance?  We could take Mr. Neme's approach of saying, four, five million is about right, and we will work backwards from that.  But we could use the curve you've developed, the curve Mr. Neme’s suggested.  All of those would -- could be applied within that paradigm.
     MR. FARMER:  Yes.  There are a great number of   potential incentive mechanisms or SSM formula that could be applied.  There are a great number of target-setting formulas or procedures that we could apply.  And there is certainly a great number of budget setting formulas.  The difficulty is that they must work together.  What we see in the partial settlement is that if you change one, it really does affect the way the other two work and can make the whole package invalid.
     I think the difficulty that was faced going into this process is to find rules around three things that have many possibilities.  But that can tie them together to achieve the same goal, which is more DSM in this province, at a measured rate, without undue rate impact. 
     MR. POCH:  Let's turn to incentives, issue 5.2.  Again, let's start at a high altitude.  Can we agree that the objective, the goal of gas DSM, is to maximize societal benefits like dollars and health and environment, if we may take dollars as a proxy for that, but that that is the goal, and we temper that by these concerns we have spoken of, like not causing undue rate impacts and pursuing DSM in an efficient fashion?
     MR. FARMER:  As I understand some of the benefits you described, they're not captured within the TRC model.  They would be considered externalities.


MR. POCH:  Fair enough.  I'm not talking about the particular model.  I'm just saying the policy goal of this whole exercise is as I've described it?


MR. FARMER:  I think that the policy goal that we have described is to maximize TRC.  So everything hinges on TRC.  If we want to maximize those other things, suddenly to me it doesn't make a lot of sense to use TRC as the guide, because you have a conflict between the goal.


If I could say if you valued your externalities at $20 in the test, then the chances are you would have a positive societal cost test but a negative TRC.  So the utility is instantly at conflict between the goal of maximizing one set of benefits but the fact that it would reduce its incentive mechanism to promote them.


So I think we have to be very clear about what the goal of this is and accept that there are spillover benefits that go to societal benefits at this time.


MR. POCH:  Okay.  I didn't really want to trigger a debate about the SET versus the TRC and all of that.  I am really getting at a narrow point, and that is that company profit isn't a goal per se of this process.  It is just a necessary ingredient to get you folks to focus on DSM, rather than other profitable activities.


MR. FARMER:  I agree with that.


MR. POCH:  All right.  You don't have any capital at risk, so fair return in the classical sense of the expression is not an issue here, is it?


MR. FARMER:  I agree.


MR. POCH:  You aren't spending shareholder dollars on operations.  It is all coming out of rates and, indeed, all goes back to ratepayers if you don't spend it?


MR. FARMER:  That is correct.  I suppose theoretically if we got past the limits of the DSMVA, we could choose to spend shareholder dollars that would not be recovered but to generate more income.  But I actually doubt that would occur at this stage.


MR. POCH:  So the purpose of the incentive is just about competition for the company's management, attention for the assignment of good staff, and for the company's creative energies?


MR. FARMER:  Yes.


MR. POCH:  Okay.  And the incentive should be designed to do that.  And it could, would you agree, potentially -- it could also potentially, at least, provide direction by its design as to where the Board wants you to focus, for example, on market transformation to some extent, or on -- as opposed to retrofits.  Indeed, in your proposal, you've tried to include that particular example?


MR. FARMER:  Yes, I agree.


MR. POCH:  Okay.  Would you agree that an incentive structure that has a good marginal rate - that is, rate of money you get for the amount of TRC you generate at the margin - that the higher that is, the more you're incented to deliver good programs efficiently?


MR. FARMER:  I do agree.


MR. POCH:  Okay.  Turning to the structure, then, of the SSM.  I am going to ask you to turn up ‑‑ I apologize, I just have to get the exhibit number.  It is the Navigant study that Union commissioned that looked at other utilities.


 MR. SMITH:  I was just wondering how long Mr. Poch might be, simply because of the nature of the way the panels are breaking up.  Mr. Farmer and Ms. Lynch have been testifying for quite some time now and I just thought they might like a few minutes, but I gather Mr. Poch is only going to be a few more minutes.


MS. NOWINA:  I was thinking that myself, Mr. Smith.  I thought we would break for a few minutes when Mr. Poch was finished.


MR. SMITH:  Thank you.


MR. POCH:  I will try to speed along.


This is Exhibit A, tab 2, appendix A.  I'm starting at ‑‑ I will be turning to page 19.


First of all, let me start with a general question, panel.  This study that Navigant did for you, every utility they studied, apart from the Ontario electric LDCs, have a threshold in their SSM structure, correct, before any incentive is earned?


MR. FARMER:  On page ‑‑ I can't say every utility.  On page 20 of the report, many utilities -- at the start of the second section, many utilities must exceed a minimum performance level before they are eligible.


MR. POCH:  Well, let's just look at a few of them.  Page 19, “Comparison.”  You can see this in the -- I think, in the table there.  If the savings achieved are less than 133 gigaJoules, they get nothing; and then notably the 133 is 75 percent of the 177.  Then they start to get -- between 133 and 177 they get more, and a higher rate still once they get past the 177.  Do you see that?


MR. FARMER:  I do.


MR. POCH:  Page 20, in the middle of the page, Narragansett -- Narragansett - excuse me – although, that will look the same on the transcript.  Are we doing this for posterity or for now?


They mention a 75 percent ‑‑ sorry, 60 percent threshold.


MR. FARMER:  I believe that's correct.


MR. POCH:  Okay.  New Hampshire, 65 percent, gas utilities?  Same paragraph I am looking at there.


Can you confirm that?


MR. FARMER:  I do.


MR. POCH:  Okay.  Sorry, I didn't hear you.  At the bottom of the page, FortisBC, they only get in the black over 100 percent; correct?


MR. FARMER:  Correct.


MR. POCH:  They actually penalty doing that.  

If we look at Massachusetts on the next page, my read of that is that -- 75 percent?  I'm sorry.  I have already dealt with Massachusetts. 


Page 22, Connecticut.  My read is that nothing till they hit 75 percent, at which point they get 2 percent, and then they get 5 percent at 100 ‑‑ once they achieve 100 percent of target.


MR. SMITH:  Sorry, Mr. Poch, where are you looking at?  I'm just looking at table 4.


MR. POCH:  I'm going from my notes here.  Page 22, Connecticut -- I'm sorry, you're right.  The table starts at 70 percent there.


MR. FARMER:  I don't see anything in the wording of this descriptor that indicates there is no earnings below 70 percent.  It doesn't indicate a minimum performance level.  It may or may not be true.


MR. POCH:  Okay.  All right.  Minnesota, I have on my notes that says it must achieve 90 percent.  I think that is right, the last line on the page.  Correct?
     MR. FARMER:  I apologize.  We were conferring.
     MR. POCH:  Just confirm that my read is your read; that Minnesota, they have to get 90 percent before they -- last line on the page there.
     MR. FARMER:  Yes.
     MR. POCH:  Okay.  Those are the utilities that your consultant felt were relevant?
     MR. FARMER:  Yes.
     MR. POCH:  Okay.  I just want to touch briefly on the cap that is implicit in your -- it's explicit in your proposal.  Certainly you would agree if you can get more savings, it is of benefit -- that are cost effective, it is a benefit to customers?
     MR. FARMER:  Yes, certainly it is of benefit to customers.  There was a desire expressed to limit that for ratepayers certainty since ratepayers must provide that incentive.
     MR. POCH:  Sure.  I appreciate how other interested parties to your agreement may have wanted to see a cap in spending, but just in terms of taking a look at this from a societal perspective, I think you would agree that it would be counter-productive for you to reduce your effort mid-plan if the only thing -- the only reason for it was you were running out of incentive.
     MR. FARMER:  Could I ask you to repeat the question, please.
     MR. POCH:  It would be counter-productive for you to reduce your efforts mid-plan if the only reason for that was because you were running out of incentive.
     MR. FARMER:  Yes.  I agree that it would limit the benefits that could have been delivered to society that provides that there would have been budget to spend or that we were unable to access the DSMVA.  And the cap starts at 137.5 percent and actually moves away from that point as it inflates with the CPI, and I don't think that our experience has been to achieve those levels but perhaps elsewhere.
     MR. POCH:  Can you agree with me that alternatives that could be considered to that hard cap would be a tapering-off of the marginal incentive?
     MR. FARMER:  Certainly is an alternative.
     MR. POCH:  It's a fairly common alternative that is looked to, is it not?
     MR. FARMER:  It is certainly the alternative that exists in our current SSM mechanism, where the percentage declines.  I think we established that it requires an increasing curve to encourage and motivate more performance and that you might move below a point if it declined too much, yes.
     MR. POCH:  All right.  But the other alternatives that come to mind really involve returning to the Board once you get to a set level, and we would agree that is probably -- well, first of all, that is another alternative.  We could just have a trigger point where we have to return to the Board.
     MR. FARMER:  Do you mean a trigger point in the execution of the plan, saying midyear we get to the cap and we need relief?
     MR. POCH:  We could say, instead of saying, You won't get any incentive at that point, it’s just getting to that point will trigger a -- some of review to make sure that things aren't off the rails and it makes sense for you to continue being rewarded or makes sense that perhaps for the next period we recalibrate.
     MR. FARMER:  I certainly understand the concept.  I'm having difficulty as to how, within a plan, you might engage that, since the results are very uncertain until the end.
     MR. POCH:  It would be in a sense an offering; right?
     MR. FARMER:  I see.  That is a possibility.
     MR. POCH:  In fact, that is what your 1.5 is right now.  You're saying it could be that off-ramp if it was really ugly; is that fair?  Or would you say that hitting the cap would not be a situation where your undue hardship test would be met?
     MR. FARMER:  Certainly we considered that we might be in a situation to go past the cap; otherwise, we would not have proposed a cap.  To say that we proposed a cap but didn't consider this would not make sense.
     So the difficulty is that the test talks about significant harm, and it would be difficult in the plan as we have proposed it to know that this was going to happen sufficiently early in the year to call a proceeding to have the time to deal with the question of, We should have more budget.
     The experience hasn't been that it has gone radically past.  I think an alternative though, we talked about the situation where a utility, say, delivered 50 percent of the result in three consecutive years and that might cause concern and certainly we should reopen and examine the intents of the utility.
     You might say that if the utility hit the cap three consecutive years as the counter to that, that that may engage the same process.
     MR. POCH:  Madam Chair, that's the end of my questions.
     MS. NOWINA:  Thank you, Mr. Poch.  

By my calculation we have about an hour following Mr. Poch.
     Mr. Smith, I will let you make a recommendation of how long a break your panel might need at this point.  If we take 15 minutes, approximately, we end at our 4 o'clock time.  We're willing to sit later if you need a longer break.
     MR. SMITH:  I am sure 15 minutes is going to be adequate.  I actually would be interested in knowing how long might be left.  I thought the only person who --
     MS. NOWINA:  Ms. Abouchar for 5 minutes, Mr. Dingwall for 45.  

Is that right, Mr. Dingwall?
     MR. DINGWALL:  Yes.  I'm hoping -- I'm hoping that if I can master the microphone technology, I might be able to cut it back a little bit, but that's essentially correct.
     MS. NOWINA:  Then yourself and the panel.  So I am approximating an hour.
     MR. SMITH:  I'm sorry, I thought you were going to be an hour with the questions.
     MS. NOWINA:  For the Board panel?
     MR. SMITH:  15 minutes is more than fine.
     MS. NOWINA:  All right.  We will take 15 minutes, then return at five minutes past 3:00.
     --- Recess taken at 2:50 p.m.

‑‑‑ Upon resuming at 3:10 p.m.


MS. NOWINA:  Please be seated.  Did anything come up during break that we need to discuss?


PRELIMINARY MATTERS:

MR. SMITH:  Well, Madam Chair, there are just two small preliminary matters:  The first is turning on the microphone; the second is the filing of two answers to undertakings.  

The first is, in fact, an answer to an Enbridge undertaking dealing with avoided costs, which is J2.4, which I will have distributed.


The second was a request by Mr. Vlahos for the calculation of the SSM.  My friend, Mr. Shepherd, went through that this morning with his spreadsheet, at least using the 2007 information.  What we have done is provided an answer which will allow you to derive it for any level of target going forward.  So we talked to Mr. Shepherd and we're assured it is correct.


[Laughter]


MS. NOWINA:  We'll have to start having him as a witness.


MR. SMITH:  That seems to be the standard, the Shepherd standard.  In fact, J2.4, just to be clear, does say the answer is both from Union and Enbridge, and Union and Enbridge have spoken about that.


MS. NOWINA:  All right.  Thank you.


Anything else, Mr. Smith?


MR. SMITH:  No, that is all.  Thank you very much, Madam Chair.


MR. POCH:  Madam Chair, Mr. DeRose took his leave.  I may be behind him at some point.  I will try to do that quietly if I need to.


MS. NOWINA:  All right.  I saw him in the hall.  Thank you.


MS. ABOUCHAR:  Madam Chair, over the break, I considered the questions that have been asked.


MS. NOWINA:  Do you have your mike on?


MS. ABOUCHAR:  I believe so.  It is green.


MS. NOWINA:  That's the right colour.


MS. ABOUCHAR:  How about I close my laptop?  

Over the break, I considered the questions that have been asked and decided I have no more questions -- or no further questions.


MS. NOWINA:  All right, thank you.  

Mr. Dingwall.


CROSS-EXAMINATION BY MR. DINGWALL:

MR. DINGWALL:  Thank you, Madam Chair.


As a preliminary matter related to this cross‑examination, we had provided to the various parties, as well as to Board Staff, a document which we're going to be referencing in the cross‑examination.  I am going to be ‑‑ I'm going to ask the document be provided with an exhibit number and we use our new‑fangled technology to put it up on the screen.


MR. MILLAR:  The exhibit number will be K4.6.


EXHIBIT NO. K4.6:  CME Union Gas Exhibits

MS. NOWINA:  Thank you.


MR. DINGWALL:  Good afternoon, panel.  My name is Brian Dingwall.  I'm going to be asking you questions on behalf of Canadian Manufacturers & Exporters.


I presume you're still sufficiently motivated to continue?


MR. FARMER:  Yes, we are.


MR. DINGWALL:  Super.  Does Union Gas have a definition of its DSM financial budget?


MS. LYNCH:  The DSM budget definition that we use would be all of our program costs and our overhead costs, anything related to research, evaluation, and salaries.


MR. DINGWALL:  Okay.  In looking at the first block diagram in CME ‑‑ in the CME exhibit that we have just filed ‑‑


MS. NOWINA:  Do we have copies of that, Mr. Dingwall?  Oh, Mr. Bell is working on it.


MR. MILLAR:  Yes, Madam Chair, he did provide them to us.


MR. DINGWALL:  It is on the screens.


MS. NOWINA:  We can see it on the screen.  

Sorry, Mr. Dingwall, go ahead.


MR. DINGWALL:  Perhaps I could trouble Mr. Bell, in his wanderings, to lower the ELMO version just a little bit so the first graph is in play.  I understand the technology is not called ELMO.  It's not the level of sophistication that I am referring to. 


Panel, I am wondering, just to elaborate on your previous answer with respect to DSM budgets:  There is a "yes" and a "no" column for these various components that we are certainly suggesting are budget components for DSM.  Can you give me an indication of which of these components Union considers budget components for DSM?


MR. FARMER:  I just wanted to point out, before we answer the question, we do have difficulty here hearing questions from people sitting at the far end.  So we had trouble hearing Ms. Abouchar, as well.  I don't know if it is a speaker situation or a mike situation.  I didn't hear the question.  I find it is hard to hear you.  


MR. DINGWALL:  Thank you, Mr. Farmer.  I will keep that in mind and try to raise the decibels a little bit.  Is that fine?


MR. FARMER:  Thank you.


MR. DINGWALL:  You heard the question.  Can we move to the answer portion?


MS. LYNCH:  For our definition of the DSM budget, we would include point 1 that you have here, the DSM program costs.  The DSMVA isn't something we would include in initial budget, as it is not something that you necessarily know that you're going to spend at the start of a year when you are setting a budget.  It is an amount of money that you have access to for overspending.  We don't in our traditional definition of a DSM budget include the -- as you have it here defined as lost distribution revenue or DSM incentive.


MR. DINGWALL:  Okay.  In terms of looking at cost causality, does Union accept or not accept that these individual components are part of the DSM costs?


[Witness panel confers]


MS. LYNCH:  I wouldn't say that I am an expert in cost causality, as far as your question is concerned.


If we're just looking to identify costs that are related to DSM, then the program costs, the DSMVA, the DSM incentive would be costs related to that.  

The lost distribution revenue, the way we would term it would be the lost distribution adjustment mechanism is just that; it's an adjustment mechanism to what is built into rates in our rate ‑‑ our requirements and what the actual impact of DSM is.


MR. DINGWALL:  So in responding to your answer, then, everything but the lost distribution revenue you would see as a cost associated with DSM?  Have I heard you correctly?


[Witness panel confers]


MR. FARMER:  Neither of us are accountants and may not be understanding the principle correctly, but the costs that Ms. Lynch identified are the costs that would be related to the program results that would be generated in the year, and the lost distribution revenue is, I understand, the notion of the cost associated to activities that are in the past.


MR. DINGWALL:  Thank you.  

In Union's prefiled evidence ‑ I am not going to ask you to turn this up ‑ it appears at Exhibit A, tab 2, page 2, line 5, and Union states that a DSM budget should have a maximum cap set at 3 percent of distribution revenue.


I realize that the settlement agreement doesn't go up to 3 percent, but my ‑‑ I am going to ask a limited series of questions on the whole question of a cap.


Could I refer you to, if you've got it, Enbridge's undertaking JT1.4.


MS. NOWINA:  Can you hear, Mr. Farmer?


MR. FARMER:  I can now, yes.  Thank you.


MR. DINGWALL:  I'm happy to move, if that is of benefit.


MS. NOWINA:  They seem to be okay, Mr. Dingwall.


MR. DINGWALL:  Good. 
     MR. FARMER:  I have it.
     MR. DINGWALL:  Thanks.  Approximately five lines down, there is an indication of Enbridge's historical distribution revenue over a number of years, being '95 to 2004.  Do you know what Union's comparable distribution revenue was in each of those years?  I know there was some discussion of it in the ADR, but I don't think the document or the numbers have been produced on the record.
     MS. NOWINA:  What exhibit are you referring to, Mr. Dingwall?
     MR. DINGWALL:  I'm referring to JT1.4.
     MS. NOWINA:  JT1.4?  Thank you.
     MS. LYNCH:  If I could refer you to an undertaking that we had completed, JT2.34.
     MR. DINGWALL:  I'm sorry, now the other end of the room isn't quite hearing.  JT2.4?
     MS. LYNCH:  JT2.34.
     MR. DINGWALL:  2.34.  No, that is from 2004 to 2007.  Is it possible to get to the comparable numbers going back to 1994? 
     MS. LYNCH:  I don't have those numbers at hand.
     MR. DINGWALL:  Is that something that is able to be produced without significant effort?
     MR. SMITH:  Madam Chair, no doubt we have the information.  But I wonder if this isn't a make-work project, in that it is not Union's proposal.  In fact, it is nobody's proposal - and I don't believe it is CME's proposal - with respect to what the budget should be, although I stand to be corrected on this point.
     So while it may not be a huge amount of work, I just question whether or not it has any utility.
     MS. NOWINA:  Mr. Dingwall, and the question could have been asked sooner in the Technical Conference, could it not have been?  Mr. Dingwall?
     MR. DINGWALL:  Yes.  I believe the question was asked of Enbridge in the Technical Conference, which led to this.  But it was not asked of Union.  But there was a significant amount of discussion.
     What hinges around this is there are some parties who are suggesting or appear to be suggesting, certainly given their lines of questioning, that the utility budget that's similar to 3 percent of its revenues -- 3 percent of its distribution revenues should be appropriate.  The historical experience with the utility budgets is something we have on the record with respect to Enbridge and the percentage of revenue that that represents.  

For a comparable number - and we're going to be taking an alternate position to those that suggest the higher realm than the amount that is in the partial settlement - would be possibly benefited from some historical information as to what the percent of distribution revenue, the historical expenses have been.
     If the Board doesn't think that that is going to be of informative value, then I am happy to move on.
     MS. NOWINA:  I wonder if you could draw the inference from the Enbridge information, in any case?
     MR. DINGWALL:  Certainly, madam.  Thank you very much.  We're getting closer to going home each minute.
     I had a brief discussion with Mr. Smith off the record during the break having posed a number of questions during the Technical Conference to the panel, to which Mr. Smith declined an answer on the basis that the accounting treatment of DSM budgets and expenses was not, in his view, an appropriate line of questioning.  

Now, given that CME has since filed evidence that suggests what it believes an appropriate accounting treatment of the various costs that it suggests are pertinent to DSM, and given that Mr. Smith has expressed a concern that we're now going to have an actual accountant that can also speak to that - because Mr. Rowan did not have an accounting designation - I am hesitant as to whether or not I want to ask these questions.
     The witnesses certainly had indicated already, in the course of today's proceeding, that they have no accounting background and do not intend on speaking to the accounting questions.  However, I would like to leave the procedural fairness open for Mr. Smith, if he wants to respond to these questions that were refused in the early going.
     MR. SMITH:  I actually went back and looked at the Technical Conference, and I don't -- I don't -- I didn't see the objections; although, I take my friend at his word.
     I remain of the view that that may not be an issue, but I am perfectly fine to just have the questions put on the record to this panel.  They obviously have certain limitations, but I would rather just have the questions on the record and move along.
     MR. DINGWALL:  Thank you.  I will be quick.  

Does Union Gas believe it is important that DSM budgets should be based on accounting principles?
     MS. LYNCH:  Yes.
     MR. DINGWALL:  Which accounting principles does Union Gas employ in the preparation of its DSM budgets?
     MS. LYNCH:  I'm not in a position to answer that question.
     MR. DINGWALL:  Thank you.  Does Union Gas employ the principle of cost causation in any aspect of its other businesses, of its businesses including DSM?
     MS. LYNCH:  I am not in a position to answer that question.
     MR. DINGWALL:  Thank you.
     MR. VLAHOS:  Mr. Dingwall, so I can follow with greater interest, what is the -- is your hypothesis?  I don't mean to steal the thunder away from your argument at the end, but so I can follow it closer as to what is the hypothesis of your client so I can follow-up the questions and perhaps the answers.
     MR. DINGWALL:  Cost causality and cost allocation has been a moving target before the Board for a number of years.  

Let me bring you to a specific example that's near and dear to the hearts of many in this room.  When there were ancillary service businesses, as they were then known within the utilities, the basis upon which they were costed was a matter of some conjecture.  It led to a number of proceedings, to an eventual allocation -- or an eventual creation of fully costed accounting for those ancillary services, which were then, because of competitive concerns, a matter of years and years of litigation before the Board.  That's one aspect of relevance here.
     Another aspect is that we are looking at, and many intervenors have put forward, questions as to how Union Gas’s and Enbridge Gas's spending compares to the spending of other utilities that are engaged in DSM activities.
     In order to get a handle on comparability and in order for benchmarking of that type to be even vaguely useful, we've got to have all of the costs properly identified and then properly set out to make any of these benchmarkings meaningful.
     In addition to that, there are a number of aspects of the accountability mechanisms built into the DSM programs that are dependent upon the full identification of the appropriate costs in order to then determine what the metrics of the program, the value of the programs, and, therefore, any ensuing benefits or incentives that stem from those programs might be.  And that's why CME is taking the position in this hearing that the discovery and determination of the costs associated with DSM programs are important.


MR. VLAHOS:  Okay.  Thanks for the context.


MR. DINGWALL:  Thank you.


MR. SMITH:  I would simply say, in response to that, I actually don't think that that answers how it is relevant to this proceeding.  Certainly a discussion about another fight relating to ancillary businesses has no application, in my mind, in this discussion but ‑‑ and there's simply no evidence at all about any of the other companies that are referred to, to the extent of benchmarking, on how they treat costs.  So I am not sure that we're going to be advanced on that issue either.  But, again, I am content to have the questions go on the record.


MS. NOWINA:  Go ahead, Mr. Dingwall.


MR. DINGWALL:  Thank you.  Does Union believe that its DSM financial budget should be transparent and show all costs that consumers will be expected to pay?


MS. LYNCH:  Yes, I do.


MR. DINGWALL:  Thank you.  My next series of questions relate to issue 4.1 and issue 5.2.  Does Union Gas view its DSM activities conflicting in any way with its core utility business?  And, if so, could you please explain.


MR. FARMER:  I'm sorry, I did not hear the question.


MR. DINGWALL:  I'm sorry, then.  Does Union Gas view its DSM activities as conflicting in any way with its core utility business?  And, if so, please explain.


MR. FARMER:  Yes, I think it was in evidence and certainly asked in the Technical Conference that the DSM business is to promote the reduction of usage, and the utility's core business is to deliver gas through its pipes.  So the two conflict.


MR. DINGWALL:  Thank you.  For my next series of questions, I am going to ask you to refer to the second graph on the CME exhibit that's been filed.  And I will ask Mr. Bell to move it down a bit so it can appear more clearly on the monitors.


Now, one thing that is on this graph is CME's estimate of the lost distribution revenue that was charged to ratepayers for the 1999 DSM program in 2000, 2001, 2002, 2003, 2004, and 2005.


You will notice that there are a number of rows that are ‑‑ that begin with year numbers, and then "LDR", and various column numbers in those columns subsequent to that.


Could you verify that the estimated lost distribution revenue charged to ratepayers in those years is correct?  


To elaborate on that question slightly, I understand that the 686 figure that is in column C, row number 4 is a number that came out of the Technical Conference as the half-year lost distribution revenue.  It's the subsequent numbers that we're asking you to address.


MR. FARMER:  I'm having difficulty with the question.  Are you asking us to confirm that 686 was the right number in 1999, or are you asking us to confirm that 1,372 is the right number in 2000 for lost revenues related to 1999?


MR. DINGWALL:  Let's start with that.  The 1999 number, as I understand it, which is column C, row 4, represents one‑half year's estimate of the lost distribution revenue; correct?


MS. LYNCH:  Correct.


MR. DINGWALL:  If you double that, you get to the 1,372 number, which we then put in column D, row 4, representing the 1999 lost distribution revenue number that is carried forward to 2000; is that correct?  Have we assumed correctly?


MR. FARMER:  No, I don't believe that it is correct, and the reason being that the volumes associated with the lost revenue carry forward and, I assume, would be charged at the rate in that year, if I'm understanding the question correctly.


MR. DINGWALL:  So I understand this, I'm going to ask one question first:  The 686 number was volume times rates in force at that time?


MR. FARMER:  Yes.


MR. DINGWALL:  So for 2000, we can carry forward the volume number and double that, and that will create what the volumes would be; but the rate number would have changed in 2000 - is that correct? - on which to multiply it by?


MR. FARMER:  That is my understanding.  So the half‑year volume would be the full‑year volume, assuming all of their measures are still in force in generating savings, yes.


MS. NOWINA:  Mr. Dingwall, help me understand your chart.  So if we look at row 4, column D, the 1,372.  That's a dollar figure, and it is the revenue -- the lost revenue from 1990 ‑‑ 1999 programs carried forward to subsequent years?


MR. DINGWALL:  Yes.  Mr. Farmer has indicated that our calculation is wrong in that we took the volume times rate number to create the dollar number, 686, for 1999, and we doubled that, because the 1999 number was a half-year calculation.


MS. NOWINA:  You're not taking into account the change in rates in subsequent years?


MR. DINGWALL:  That's right.


MS. NOWINA:  Is that the problem?


MS. LYNCH:  Yes.


MR. DINGWALL:  Do you know what the right number for 2000 would be, then, Mr. Farmer?


MR. FARMER:  No, actually, I do not.


MR. DINGWALL:  Is that something that you could calculate readily?


MR. FARMER:  I think it would be a substantial task to calculate; and, again, we had an earlier discussion where we thought there were issues with the numbers.


I think I may get told later we shouldn't have, but I think we can directionally say that although the rates may have changed, the impacts that you're describing are -- in some way there is a lost distribution revenue in subsequent years related to earlier activity, and hopefully proceed that way without doing all of the calculations.


MR. SMITH:  Madam Chair, my understanding is that it is quite an onerous undertaking.


MS. NOWINA:  Do we ‑‑ I am trying to help you out, Mr. Dingwall.  Do we know directionally whether rates have increased or decreased over that period?  So you know whether or not the dollar amounts are a minimum amount, or ‑‑


MR. SMITH:  Well, the problem, Madam Chair, as I understand it -‑ and I'm certainly open to Mr. Goulden correcting me -- but as I understand it, it's the -- the big problem is when Union rebases its rates, the calculation that was done in 1999 is no longer valid after the rates have been rebased in subsequent years.


So Union has, at least since 1999, rebased its rates at least three separate times.  So you would have to go back and try and back out that math to get at what Mr. Dingwall is looking for, is my understanding.  I gather that is no mean task.


MR. DINGWALL:  Let me ask a couple of questions to see if we can put a bit more context on this.  


I believe I heard one of the Board Panel members ask the question:  Has there been a significant change in the rates?


Mr. Farmer, you were with Union Gas in 1999, if I recall correctly.
     MR. FARMER:  I was.
     MR. DINGWALL:  Nothing to be ashamed of.
     I seem to recall that commodity rates back in '99 were somewhere around the 6 or 7 cents per gigaJoule range.  Does that ring any bells?
     MR. FARMER:  No.  Although I've been with Union Gas, I really have not, over that time -- commodity costs are higher now than they were in '99, and I wouldn't profess to give any detail much more than that at this point.
     MR. SMITH:  If it might help my friend, it is, in fact, not commodity that is at issue.  It's the distribution rates which is where the obstacle lies; not simply in finding out what the commodity price was at the time.
     MS. NOWINA:  Thank you.
     MR. DINGWALL:  Mr. Farmer, I take it that one of your earlier comments -- and I'm not trying to run the risk of asking the same question twice -- this is a precept for further questions, though I hear the record is four times.
     I take it that one of your earlier comments was that directionally, apart from the change in the rates that might have occurred on a year-over-year basis for distribution rates, that this calculation or the methodology of calculation, apart from the rate change, is sound.
     MR. FARMER:  Is sound -- sound is a difficult one.  Directionally it is correct, because at the end of the stream - and I hope I am not putting words in your mouth - you want to show that volumes are lower than they would have been without DSM and therefore rates are higher.  And you've sought a way to show that.  And I filed evidence that says that that is indeed the case, that volumes are lower and that, therefore, rates are higher in subsequent years provided the measures are still generating savings.
     I think the notion can be dealt with.
     MR. DINGWALL:  One of the things that we wanted to put forward in a fashion that would educate, certainly, the Board is that the lost distribution increases -- or lost distribution revenue increases on a year-by-year basis, because the programs continue.  And that premise, I take it, is one that you agree with?
     MR. FARMER:  Yes.  And I think the thing we have to recall:  The budget that we propose and that is proposed in the settlement and that was proposed in prefiled evidence as slightly different was for programs that would generate savings in the year and research activities related to future years and that these costs - and I do agree that there is a cost related to past action - are related to savings that occurred and can't actually be undone.
     So do they exist?  The rates are -- there is a missing volume as a result of DSM activity.  But you can't put the volume back.
     MR. DINGWALL:  I'm looking through my list of questions.  We came out of sequence for a moment.
     So you agree with the notion that, in going year over year and trying to track the calculations on a cumulative basis, the appropriate way is to double the volumes of the first year because the first year tracks only one-half year's expenses; is that correct?
     MR. FARMER:  I agree.
     MR. DINGWALL:  So in terms of what we've done, the only mistake is not changing the rates to adjust for the subsequent years.  The volumes that we've doubled, that's a correct way of addressing the accrual of volumes in lost distribution revenue calculation; correct?
     MR. FARMER:  I think the calculation is extremely complex because of the rate-setting mechanism, and I'm not really an expert on how rates are calculated.
     MR. DINGWALL:  Let's take you to a specific aspect of this.  For 1999 DSM programs, over how many years does the lost distribution revenue effect continue for those programs?
     MR. FARMER:  I think that is assumed to vary with the measures that are contained within.  They have different measure lives, and some are somewhat shorter and some are quite long.
     One of the difficulties is in knowing when the savings have disappeared or if indeed it is just the end of the equipment and it is replaced with like equipment.  So I think it is a difficult thing to say with certainty.
     MR. DINGWALL:  Well, do you assess the year-on-year impact of the lost distribution revenue for the previous year's programs?  Do you track the end of the lives of those programs?
     MR. FARMER:  No, we do not.  And I want to make sure we're not confusing programs because we have an HVAC partnership program that has existed for a number of years and the program continues to exist.  

You have to separate that the program continues, but the furnace, for example, that was promoted in 1999 is probably still in place.  So when you say “a continuation of the program,” I think it is more correct to say “a continuation of the measure.”
     MR. DINGWALL:  Do you ever do audits of the previous programs to kind of -- to understand what is happening with your ongoing assumptions of lost distribution revenue?
     MS. LYNCH:  We don't audit in future years.  Like, we wouldn't audit this year to find out if something that was put in in 1999 was still in place.
     MR. DINGWALL:  So after the program has begun and you've gone through whatever variance account process or LRAM variance account true-up process, that's it.  You don't look at that year's programs any more.  Is that correct?
     MS. LYNCH:  Correct.  We don't look at past programs.
     MR. DINGWALL:  Well, then what evidence does Union Gas have that the amount of lost distribution revenue charged ratepayers in any of the years from 2000 to 2005 were in factually lost?
     MS. LYNCH:  I'm not sure if there is a little bit of a disconnect here between what we're putting as the lost distribution revenue and what we claim through the lost revenue adjustment mechanism.
     MR. DINGWALL:  I'm asking specifically with respect to the lost distribution revenue, and we portrayed it as it continues.  What do you do to make sure it is actually continuing?
     MR. FARMER:  I believe the answer is that rates are established on the observed volumes of gas that go through the system.  So you have history of observed volumes.  You have a bridge year and a forecast year.  And the DSM is implicitly included in that amount and there isn't any attempt to say, The widget is no longer installed; therefore, we should adjust forward.
     I think this is very much about rate setting, which, again, I just described at a very high level and about as much as I know about rate setting.
     MR. DINGWALL:  You have already indicated that you do not do annual audits of the past programs, so I won't ask that question twice.
     Would it be fair to say, then, that you do -- you don't do anything to ensure the accuracy of the continuing lost distribution revenue charges?
     MR. FARMER:  I believe we measure the actual distribution -- distribution volumes and set rates accordingly.  So I don't think it can be more accurate than the measure of what shows up at the meter, sir.
     MR. DINGWALL:  Well, that measurement doesn't tie any changes in distribution throughput that might specifically be attributable to the DSM programs, does it?
     MR. FARMER:  It ties it in the best way it possibly can.  It doesn't separate it.  But the throughput is the throughput as measured at the meter.
     The LRAM volumes that are claimed in the year are the best estimate of the volumes.  I think the rate-setting mechanism is highly accurate.
     MR. DINGWALL:  And my next series of questions is with respect to DSM risk.  At the Technical Conference, at page 31 of the May 12 transcript - I'm not going to ask you to turn it up - Union cited five DSM-related risks; the first being reduced volumes that raised distribution rates resulting in lower cost competitiveness; the second being lost opportunity from activities that could have been undertaken instead of demand side management; the third being the risk of dedicating effort to DSM and not achieving the threshold and, therefore, not achieving a return; the fourth being the risk of market forces outside of Union's control, such as interest rates and economic growth, causing results that may or may not emerge; and the fifth being a risk of not realizing claimed revenues due to disallowances.


From your recollection, have I summarized that correctly?


MR. FARMER:  I believe that's the list I gave.  I may have to turn it up if there is a lot of questions about it, because there is five items I'm trying to remember there.


MR. DINGWALL:  Okay.  Now, taking that list and ‑‑


MS. NOWINA:  Mr. Dingwall, I have to turn it up, because I don't have that good a memory.  Can you give me the reference again?


MR. DINGWALL:  Certainly, Madam Chair.  It is Technical Conference, May 12, page 31.


MS. NOWINA:  Thank you.  You can go ahead, Mr. Dingwall.


MR. DINGWALL:  Thank you.  Mr. Farmer or Ms. Lynch, I'm wondering if it is possible for you to indicate what risks Union Gas actually occurred in undertaking its 2005 DSM program?  Which of these risks that I have mentioned actually materialized?


MR. FARMER:  I don't want to be evasive.  I think all of the risks occurred in 2005.  Which of the events materialized?  Well, I assume there were reduced volumes, in that we did have what I would consider a successful year.  There were lost opportunities, in that we could have moved the resources other places; although, I cannot provide a very detailed list of that.


We have yet to have completed our audit, so I can't comment on the risk allowed, not realizing the revenues that were claimed due to disallowances.  We did achieve the threshold, so I believe that that risk did not occur.


MR. DINGWALL:  Did you incur any financial consequences as a result of those risks in 2005?


MR. FARMER:  Not that I can measure.


MR. DINGWALL:  Thank you.  Does Union Gas believe a DSM incentive system should relate to the risk that it runs?


MR. FARMER:  I'm pretty sure you asked me that question, and I think the answer was, no, the incentive mechanism should not add risk to DSM activity, as it is compensation for delivery of societal benefits using resources we might not dedicate to those activities otherwise.


MR. DINGWALL:  And so, then, I take it that Union Gas's approach to DSM is not based on risk; it is based on this factor which has been discussed quite significantly, being motivation?


MR. SMITH:  Not quite right.  Mr. Farmer just indicated that the incentive should not add risk.


MR. DINGWALL:  I think my question was:  Does Union Gas believe a DSM-incentive system should relate to the risk that it runs?  Saying that it shouldn't add risk doesn't quite answer that, I don't think.


MR. FARMER:  The ‑‑ I am having difficulty answering the question, but I think there are a number of ‑‑ well, I'm sure there are a number of things that are factors.


The size of the incentive perhaps could relate to the risk of achieving the incentive.  The proposal that we have as part of the partial settlement reduces risk around thresholds and uncertainty.  So certainly, from our prefiled position, we accept a much lower incentive at the target, because we value that certainty.  

That answers your question, I hope.


MR. DINGWALL:  Well, I was trying to get to a yes-or-no question ‑‑ answer.  I know there is a certain hesitance in the DSM world to respond to questions with yes-or-no answers.  

Let me make this statement and you can agree with it, or not:  It sounds like Union Gas's view of a DSM system is that it should not involve risk; is that correct?


MR. FARMER:  I said it should not add risk, so I suppose that is a "yes".


MR. DINGWALL:  Thank you.  

My next series of questions relates to the SSM, my second‑last series of questions.  


MR. QUESNELLE:  Mr. Dingwall, just for clarification, I think I might have the answer here -- but just before you leave this line, the graph that is up on the screen now, can you just let me know:  Is line 13 strictly a commodity cost?  There is no distribution element in that cost line, cost per cubic metre?  Is that commodity only?


MR. DINGWALL:  It's the cost of DSM expressed in per cubic metre saved.


MR. QUESNELLE:  Is that savings based on a total cost per cubic metre or commodity only?


MR. DINGWALL:  Mr. Quesnelle, you take line 1, which is the actual program costs.


MR. QUESNELLE:  Okay.


MR. DINGWALL:  And then you divide into that cubic metres saved, which is line 12.


MR. QUESNELLE:  Okay, thank you.


MR. FARMER:  Could I ask that I have that calculation correct?  It is $8 million over 71 million cubic metres as deriving 31 cents per cubic metre?  That doesn't sound correct.  I don't have a calculator.


MS. NOWINA:  It is not line 11 divided by line 12, is it, Mr. Dingwall?


MR. DINGWALL:  I think, Madam Chair, you are correct.


MS. NOWINA:  Thank you.


MR. DINGWALL:  That's what happens when you ask a lawyer to do math on the spot.


MS. NOWINA:  Does that make more sense, Mr. Farmer?


MR. FARMER:  So we're saying it is line ‑‑


MS. NOWINA:  Row 11.


MR. FARMER:  Row 11 divided by 12.  It does make sense.  

I don't agree with the calculation, because the 71 million cubic metres, the total DSM budget as it is calculated here at line 11, I think ‑ and I will ask Mr. Dingwall to correct, because it is important ‑ is the $8 million at line 1, plus the accumulated costs of the prior year's activities to get -- if you sum all of those, I'm assuming you get $22 million, which is same assertion, I assume, the total cost of DSM.  But the 71 million cubic metres is only related to savings generated by the $8 million, and it doesn't allow for all of the volumes that are not occurring, which would be much greater.
     So I would say that if you did that math, that the cost of DSM may have gone down per cubic metre.
     MR. DINGWALL:  Well, that's where we might get to more the point of argument than the point of clarification.  What we put forward is a calculation and, in addition to what Mr. Farmer was contending, which is the lost distribution revenue columns, there are also added in the SSM columns and the DSMVA columns in the cost that derives line 11.
     MR. FARMER:  We should correct that the DSMVA costs in '04 is included in the 5.9 million in the line above and it is double-counted in this situation.
     MR. DINGWALL:  Well, this chart is going to pop up again when you have the opportunity to cross-examine Mr. Rowan.  So we will take a look at that and talk about it again on that occasion, if that works for everybody, and I will move on.
     Now, with respect to the ADR settlement proposal at tab 2, are you able to calculate what the DSM/SSM payouts would represent as a percentage of those annual budgets?
     MR. FARMER:  At tab 2, I assume in the partial settlement, page 16 of 25, is the SSM formula.  And I'm not sure, since -- are you asking could we say at each of those points what is the percentage of the budget?  Or is it an assumed performance level?  I'm not sure what you're asking me to calculate.
     MR. DINGWALL:  What we're trying to figure out is what the SSM payouts would be under the proposed DSM budgets with the presumption that you meet the budget.
     MR. FARMER:  At target.
     MR. DINGWALL:  I beg your pardon?
     MR. FARMER:  You mean that we met the target at 100 percent?
     MR. DINGWALL:  Targets, yes, yes.
     MR. FARMER:  Well, it would be 4.75 million in each year, and that would be divided by the budget for the percentage.
     MR. DINGWALL:  I think this may have been asked, forgive me:  Is it Union's position that the SSM incentives as set out here are the minimum amounts that are required to capture its management's attention in order to undertake DSM activities?  For example, in other words, that anything less than 4.75 million would not motivate Union to achieve the proposed targets?
     MR. FARMER:  I haven't expressly asked the question around the minimum amount.  What I can assure the Board is that these amounts certainly capture our attention in the framework that is presented and that they're a nice balance, provide good certainty, work nicely with the budget and target.  So these amounts work.
     I can't explicitly provide a minimum amount, because situations change.
     MR. DINGWALL:  Okay.  When Union Gas calculates the net TRC value, does it include the following costs in that calculation?  And I will name four and I will ask you to, if you could, provide a yes-or-no answer to each one.  If you need to elaborate, I will understand.  I have been here for a few days now.
     DSM program costs?
     MS. LYNCH:  Yes.
     MR. DINGWALL:  DSMVA extra spending?
     MS. LYNCH:  Yes.
     MR. DINGWALL:  Lost distribution revenue?
     MS. LYNCH:  No.
     MR. DINGWALL:  SSM incentives?
     MS. LYNCH:  No.  The SSM incentive is based on the net TRC amount.
     MR. DINGWALL:  Would you agree that if Union Gas is not including some of those costs in its net TRC calculation and those costs are found by the Board to be legitimate DSM costs, that that would affect the net TRC calculations?
     MR. SMITH:  Madam Chair, I hesitate to interrupt my friend so late in the day, but issue 2.1 asks whether or not the TRC test should be the only test, and this is a matter that is completely settled, including by my friend.
     MS. NOWINA:  Mr. Dingwall, so the reason for the question?
     MR. DINGWALL:  One moment, Madam Chair.
     My client has advised me that CME does not stand back from its agreement on the use of the TRC; however, it does not necessarily agree on what the appropriate costs are as it is discussing that should be used to calculate the TRC.  So the concept of the TRC test is something that my client has settled and maintains that settlement.  It is the definition of the costs, therefore, that are included where there is the disagreement.
     MS. NOWINA:  So the calculation of the TRC?
     MR. DINGWALL:  My client believes there are a number of other costs that should go into that TRC calculation.
     MR. SMITH:  That's too subtle for me.
     MR. DINGWALL:  Including lost distribution revenue.
     MS. NOWINA:  Is that an issue in this case?
     MR. DINGWALL:  I think that is the one that comes back to 1.3, Budgets, what are the costs?
     MS. NOWINA:  It's late in the day, Mr. Dingwall.  Do you have a lot more questions along this line?
     MR. DINGWALL:  No.
     MS. NOWINA:  Can we proceed, Mr. Smith?
     MR. SMITH:  Sure.
     MS. NOWINA:  Let's go ahead, Mr. Dingwall, and see what the witnesses can do with your questions.
     MR. DINGWALL:  Well, the last question that I had asked was:  Would you agree that if Union Gas is not including some of those costs in its net TRC calculation and those costs are found by the Board to be appropriate costs for DSM, that this would affect the net TRC calculations?
     [Witness panel confers]
     MS. LYNCH:  I guess we're using the TRC calculation as it’s approved by the Board and, I think, well recognized what costs and benefits go into that calculation.
     MR. FARMER:  I would just add:  We're not proposing a change to the TRC calculation as currently approved by the Board.
     MR. DINGWALL:  Last two questions:  In Union's prefiled evidence, it indicates it did not need any extra DSMVA spending if its DSM budget were set up at up to 3 percent of its distribution revenue.  Would you explain why it’s Union's preferred position that there should be no extra DSMVA spending under that circumstance?
     MR. FARMER:  Sorry.  I may have not heard the question.  Was it that our prefiled position was that there not be a DSMVA and that we are now parties to a settlement that has a DSMVA?
     MR. DINGWALL:  Yes.
     MR. FARMER:  I wasn't sure about the end.  Did you suggest I had a preferred position?
     MR. DINGWALL:  I am just rereading my question, Mr. Farmer.  My apologies for the moment.
     I take it at that point in time, at the prefiled point in time it was Union's preferred position that there should be no extra DSMVA spending?


MR. FARMER:  The prefiled position was a collection of rules that were targets, budgets, and an SSM, and the target actually was on target.  We felt at that time that a cap was an appropriate way to go, to calculate it on -- calculated on distribution revenue.


And through the process of working with interested parties and coming to a partial settlement, the budget, for example, looks nothing like the budget that we filed, and the SSM looks nothing like that either.  We feel this is a good package and that a DSMVA is a good part.


So I don't have a preferred position.  I like the package that the parties have put forward.


MR. DINGWALL:  Mr. Farmer and Ms. Lynch, thank you very much for your time.  Your question managed inadvertently to answer the last question.  Those are my questions.


MS. NOWINA:  Thank you, Mr. Dingwall.  

Mr. Smith?


MR. SMITH:  Well, I have one question, I believe in re‑examination.


MR. QUESNELLE:  Mr. Smith, your mike.


RE-EXAMINATION BY MR. SMITH:

MR. SMITH:  I apologize.  I have no questions in respect of my friend Mr. Poch or my friend Mr. Klippenstein's examination.


Just quickly to clear up what I think might be some confusion, Ms. Lynch.  You were going to give an answer to Mr. Dingwall, I believe, in respect of the lost revenue adjustment mechanism.  Can you just please explain what the lost revenue adjustment mechanism is and how it works?


MS. LYNCH:  When rates are set, there's a certain assumption of amount of volume related to DSM built into that, and the lost revenue adjustment mechanism is really a true-up mechanism that allows us to be kept whole so that there isn't a negative revenue impact as a result of DSM activities.


MR. SMITH:  You mentioned that it's an adjustment mechanism.  Can you please explain how that adjustment mechanism or those lost revenues are reflected in a subsequent rate rebasing?


MR. FARMER:  Could you repeat the question, Mr. Smith?


MR. SMITH:  There is an adjustment mechanism, and at the time of the -- Union rebases its rates, how is lost revenue as a result of DSM activity captured?


MS. LYNCH:  Sorry, in the demand forecast there is an implicit efficiency factor in determining what we expect the level of demand to be.


MR. SMITH:  And is that -- to your knowledge, is that methodology of calculating or doing the forecast and the efficiency factor something that is filed and considered in a rate case?


MS. LYNCH:  Yes, it is.


MR. SMITH:  Thank you very much.  Those are my questions.


MS. NOWINA:  Thank you, Mr. Smith.


QUESTIONS FROM THE BOARD:

MR. QUESNELLE:  I just had one for clarity.  I could have interjected at the time, but it didn't dawn on me.  It's GEC Exhibit 4.5.  Have you got that handy?


MR. FARMER:  Yes, I do.


MR. QUESNELLE:  Showing the TRC over the last ‑‑ well, 2005, 2006, and projected for 2007.  I just question the avoided cost inputs for those three TRC numbers.  Is there a difference in the avoided costs over that time period?


MR. FARMER:  What was done here was - to make them comparable - was to really bring the 2005 result up to date by using the avoided costs that are in play, so the numbers become comparable.  Our actual target for that year was 100 million using avoided costs that were quite outdated, and our achievement was in the 95, 97 million range.  So it has been updated for the purpose of comparison. 


MR. QUESNELLE:  These are comparable?


MR. FARMER:  Yes.


MR. QUESNELLE:  Okay, thank you.


MS. NOWINA:  Mr. Vlahos.


MR. VLAHOS:  Thank you, Madam Chair.  Mr. Farmer, just one question.  It is at a very high level.  It is more of an academic principle.


When we talk about economic efficiency, for example, we look at -- you know, you keep investing until your marginal cost equals price.  You are familiar with that concept; okay?


MR. FARMER:  I am, and Ms. Lynch has a master's in economics, if I'm not.


MR. VLAHOS:  Oh, great.  So this concept of marginal cost equals pricing, it sort of leads to all kinds of efficiency, efficient location of resources, et cetera.


Here we're talking about total savings against some kind of a cost consideration.  So in this DSM arena, can we talk about total savings equals total costs?  That is where you stop offering DSM programs.


I haven't heard this discussion at all in the last few days.


MR. FARMER:  I think that, yes, you can, and I think that the TRC test, I think, picks up the argument quite nicely, in that it does costs over the life of the program that society would bear and benefits.


Theoretically, in order to drive positive TRC benefits, which we agree benefit ratepayers, then you would do everything that you could that had a value that was positive and you might hear a cost benefits ratio of greater than 1, and in some cases we have talked about doing programs lower than 1 for other reasons.


 MR. VLAHOS:  Let me just stop you there.  I heard that from a benefit cost ratio analysis, your experience shows about 2.8, I believe.  That's the benefit cost ratio.  And from the utility's own analysis, in terms of its own spend dollars, it is about 7.5 to 1.


So let's take the first number, 2.8, benefit of cost ratio.  That's not even close to 1.  So are we missing an opportunity here?  That is my question.


MR. FARMER:  No, I don't believe -- I should correct that the 2.8, I'm pretty sure, was given by Enbridge.  I don't think we've provided Union's number.  But if we take 2.8, if you're doing everything that is greater than 1.0, by default your average is going to be something higher than 1.0, because you will have things that are 10, 20, and 5, and your portfolio would be higher and you end up at 2.8.  


I think one of the things I said is that if we, say, manage the portfolio down to a 1, we would actually be doing things that were negative TRC value and would reduce the incentive payout.  So it doesn't make sense to the utility to do such things.


MR. VLAHOS:  All right.  So the initial effort on DSM has such a high payoff that it brings that number, that 2.8, much higher than the 1?


MR. FARMER:  By virtue of every number is greater than 1, the portfolio value will be greater than 1.


MR. VLAHOS:  So the answer, I guess, to my query is there is no lost -‑ I don't want to use the word “lost opportunity” in a technical sense that we used in the last few days, but there is no ‑‑


MR. FARMER:  Opportunity costs, perhaps?


MR. VLAHOS:  No opportunity cost in action on the part of the utilities?


MR. FARMER:  I can't guarantee that we collect everything that is cost effective, and I think the theory that is advanced to you by some parties is that somehow, on an annual basis, we should know everything that is cost effective and then have the budgets that would allow us to collect what is cost effective.


We don't know what we don't know, sir.  So we know what we have been able to do.  We know what we think we can do.  And we have some idea of what is available to us.


The theoretical exercise, I suggest, is impossible.


MR. VLAHOS:  All right.  So when you talked about -- you said ‑‑ I picked up the word "you maximize TRC".  You actually meant that?  Because I thought that you may have meant optimize TRC, but you actually mean maximize TRC?


MR. FARMER:  Yes, with the caveat you can't just maximize TRC, because that means that you would not invest in things that would be useful to you down the road.  So there is a longer-term planning horizon that, I think, is considered in this framework.


If you were to maximize TRC, you would probably do the things that we have discussed at other times in this proceeding around putting all of your dollars into a single market and possibly even to a single customer who was extremely large and generating a great big load of savings in one year.  That is not a sustainable model.  


This package we put forward, I think, strikes a nice balance between maximizing TRC and long‑term viability.


MR. VLAHOS:  All right.  Thank you very much.


MS. NOWINA:  Mr. Smith, do you have any further questions based on that?


MR. SMITH:  I do not.


MS. NOWINA:  That, I think, completes today.  We will resume on Monday with the Enbridge panel regarding financial mechanisms, 9 o'clock Monday morning.  Thank you very much.


MR. MILLAR:  Madam Chair, I believe it is 10 o'clock Monday morning.


MS. NOWINA:  Thank you, Mr. Millar, 10 o'clock Monday morning.


MR. O'LEARY:  We will be ready to go at 9:00.


MS. NOWINA:  Thank you, panel, very much.

--- Whereupon hearing adjourns at 4:27 p.m.
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